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SifER UNMEERX) € F49oEREE #H OE X
SAEEMRRB 2021/10/26~2021/10/27
[HeiEE 1 X [N FEEEES| 450,874 | HEFEREES | 270,524 | (60.0% [£AMmRzk] 693 |#Emmunsk] 403 [ &= [ 72.9% |
No. IEEEH % | F8 RJR Bt XBE&EAR | AEER ES RAYk B | XHLGL [ZEGLEH BR |[ZEE
2[EF X# 45 I Al B 51.5 [C+ 46.9 237 428 52.3 [ A+ 62.0 49 iI®E | 18.2
1 [faE FIE 60 BR Al D 43.9 |C- 450 227 48.8 40.0 26. 6 21 BE | 39.8
3tk B 57 M3 bl 4.6 8.1 41 8.4 1.7 11.4 9 HEHT 2.7
[HtiEE 2 X [N FEEEES] 461,064 | HEFHRTES | 253,585 | (55.0% [£AMmRsk| 514 |#Hmungk] 258 [ &= [ 71.2% |
No. IEEEA % | F8& Sk [Rad XEHFAHE | AEER ES RAYk Bl | XHLGL [ZEGLEH BR |[ZEE
2 (IR K ERAY 62 iE Al B 47.6 | A 50.8 186 45.5 55.3 [ A+ 720 36 iIE | 175
1|&=4E #h 4 BR # D 42.3 40.2 147 44.9 36. 2 16.0 8 BR | 34.7
3| R 48 e b3 10.2 9.0 33 9.6 8.5 12.0 6 Hedn 1.3
4|/hER & 66 FHIR b3l 0.0 0.0 0 0.0 0.0 0.0 0 FHIR 0.0
[tEE 3 X [N =EE#EES] 475,400 | #wis=asr [ 270,978 | (57.0% [£@AEMERze] 569 [#wmEung] 311 | 2&%= [ 74.5% |
No. fEfEEH % | Fikn sk R XEGAHE | HEHER EH AY7E Bl | XEHLGL [ZEGLEH B |[XEE
1[&k &RF 61 BR 7T C+ 44.9 [ C+ 48.1 204 49.3 46.8 29.7 19 BER | 346
2 7mHE & 46 IE b3 C- 43.8 | C- 43.6 185 38.5 49.3 | A+ 60.9 39 iIFE | 181
3 /NI EEX 51 HERR b3l 1.3 8.3 35 12.2 3.9 9.4 6 M 3.4
[HtEE 4 X [N =EEEES] 364,369 | #HxEsZasr [ 222265 | (61.0% [£AEMERE] 463 [#mEung] 202 | 2£%= [ 67.8% |
No. IEfEE S % | F& sk R XEGAHE | HEHER ES RAYEk Bl | XEHLGL [ZEGLEH] B |[ZEE
1[4 #mz 60 BR Al C+ 51.5 | A 557 175 58.9 53.0 [ D 45.5 20 BR | 38.2
2 | K& fTE % | 38 NFE # C—_48. 44.3 139 41.1 47.0 [ B 54.5 24 FE | 201
[t 5 X [A=BHEES] 467,897 | #’ém&m | 280,738 | (60.0% |2A&EURE] 550 [#EwErgy| 287 | Z&FE [ 79.1%
No EEEH % | F8& SR PERITEN i% | AEHER = RAYE B | XHLGL [ZEGLEH BR [ ZEE
1|#0B =8 50 BR Al 49.1 B 49.2 214 59.5 39.6 31.2 24 BE | 34.3
2 B Eit ¥ | 49 IE Al D 4.7 | D 421 183 33.8 49.8 | A+ 62.3 48 ME | 21.2
3[R %£F ¥ | 51 HE b3 8.0 8.5 37 6.2 10.7 6.5 5 HiE 6.5
4 |KiFE{hAER 56 £E Eoil 2.2 0.2 1 0.5 0.0 0.0 0 £5= 0.0
[tiEE 6 X [N =EE#ERS] 415,551 | #wEs=asr [ 241,020 | (58.0% [£{&MERze] 504 [#wmEungs] 222 | 2&%= [ 78.4% |
No. IEfE S % | ko sk R XEGAHE | HEER ES RAY7Ek Bl | XEHLGL [ZEGLEH B |[ZEE
HENEEE: 53 BR # C+ 51.0 | A+ 56.2 222 63.9 50.4 [ C- 45.7 32 BR | 340
2 @l FA 52 IE b3 C- 46.7 40.0 158 32.5 45.6 | C+ 50.0 35 IF | 23.2
3 [KEE B4T 30 N E Eoil 2.3 3.8 15 3.6 4.0 4.3 3 NE 0.4
[HtEE 7 X [ mEEEES] 253,706 | #wiEEmaE4r | 131,927 | (52.0% [£&MERzk] 470 [EHEUnE] 150 [ 245 [ 81.1% |
No. fExfEEH % | ko sk R XEGAHE | HEER ES AR Bl | XEHLGL [ZEGLEH] B |[XEE
1R B 12 BE Al A+ 53.0 [ A+ 54.3 207 66.7 48.7 [C- 435 20 BR | 42.2
2 |[EBERT % | 49 vl 3 37.9 34.6 132 24.2 39.5 [Cc+ 457 21 IFE | 20.3
3|EN HHxE 70 HEE b3l 9.1 1.0 42 9.2 1.9 10.9 5 HiE 9.1
SUOHE
<1 4> At RAEEYI5RA >V FELEFL AR &L Y10~14 9K4 ¥ FELY B: & U5~9 94 ¥ R LY CHREEY0~4. 9K > FEL
2T C-: 161k YO~4 97RA > MEL Dk Y5~9. 97RA > MMELY |EN L& YI0HRA o MELY
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(dLiiE 8 X [ArEEEESH] 361,979 [ #wEHEESK [ 217,187 [ (60.0% [2&EURK] 479 EFTEURE] 179 | &%= | 77.2% |
No.| (2#EEH & | Sk B XBHEaR | SRR | RE 23k | BElE | XECL [XFGLEH] B | R

2 &R W= 62 I Bl | B 532 [B 543 201 50.3 57.0 | A+ 69.0 40 aE | 287
11870 —5 55 BE 7 | D 468 [D 457 169 49.7 43.0 31.0 18 HE | 33.2
(i 9 X [ArEEEESR] 382,462 | HEREEHK [ 221, | (58.0% [£fAEMRE| 480 [EEEMREK| 206 [ Z&xE | 77. 1% |
No.| {E#EZ v | Fip | Sk R XBHZAR | AEGE | EXR 234k | BEF | XECL [XFGLEH] B | X

2 [ Eh 42 & Bl | C+ 52.0 [ C+ 521 195 40.7 59.8 [ A+ 62.7 32 aE | 22.4
113 % 49 BE Bl [ C- 48.0 [C- 47.9 179 59.3 40.2 31.3 19 HE | 351
[HLimE1 O [AREEEER] 285223 | HEFHREEH [ 185, | (6500 [2fAENRs] 460 [EFERE] 138 | Z&®E | 72 6% |
No.| (R#EEH v i | Rk ] XRHAR | HEGE | RH 23k | BElE | XEGL [XEFGLEH] B | IR
NEEEES 53 IE B | C- 4.9 [A 566 189 39.6 63.4 | A+ 57.5 23 i | 281

2 |fEe A 63 N B [ C+ 511 43.4 145 60. 4 36. 6 42.5 17 43BR 8.9
[FefiE 1 1 X [rmEHEEH] 284010 | HEHZHEHK | 178 [ (6300 [|2kEr%] 512 [#FERE] 193 | &% [ 80 9%
No.| (R#EEH v Fin | Uk R XBHmAE | AAEGE | EH 23k | BElE | XEGL [XFGLEH] BE | XEE

2 [N & x| 37 & B [ B 534 [A 1556 230 50.0 58.9 [ A+ 67.2 41 iE | 247
11l #F X | 62 BE 7T | D 46.6 44.4 184 50.0 41.1 32.8 20 HE | 37.6
[tiEE1 2 X [ArEEEESR] 286,587 | HEREEHK [ 163, | (57.0% [2AEMRE| 426 [EHERE| 158 [ &% | 81 5% |
No.| EiEES v | Fp | Sk PR XBHAR | AEGE | EHR 234k | BEF | XECL [XEGUEH] B | R
NESSE: 51 BE Bl | A+ 57.0 [ A+ 55.3 192 68.3 48.2 36.8 14 BR | 447

2 INEmEH 38 hve- # 32.9 35.7 124 24.4 42.0 | A+ 55.3 21 iaFE | 19.9
(S [ER 48 HE i 10. 1 8.9 31 1.3 9.8 1.9 3 #E | 56

B 1K [ArBEEEESR] 342,648 | HEBEEK [ 171, | (50.00) [@fhElrsh] 326 [EFmERS] 133 | Z&E | 64.1%
No.| EEES v | Fip | Uk PR IBEHZAR | AEGE | EHR 23k | FEF | ZECL [XEGUEH] B | XEE
1[IiE BRE 66 BE Bl | A+ 53.0 [A 483 101 58.3 39.8 25.7 9 BER | 40.2

2 [FEEES 64 hve- 7T 34.9 38.3 80 34.4 41.6 | A+ 65.7 23 iFE | 16.8

3 [FmE & x| 41 HE i 12.0 13.4 28 1.3 18.6 8.6 3 #E | 80
EH2KX [ArBEEEESR] 380,920 [ HER=EFEK [ 214 | (55.00 [@ihmlrsk] 448 [ETEIRS] 166 | Z&E | 76.1%
No.| EiHES v | Fp | Sk PR XBHZAR | AEGE | EHK 234k | BElF | IECL [XECUEH] B | X
1@ BH— 51 BE [ A 521 [A+ 642 219 73.5 59.4 [ A 545 24 BR | 48.2

2 [54@ f£F X | 58 hve- ] 37.9 29.9 102 19.7 35.3 40.9 18 iFE | 155

3 [HiE RE X | 64 HE i 10.0 59 20 6.8 5.4 4.5 2 HE | 4.8
EH3X [ArEEEESR] 348,109 [ HEB=EEHK [ 182, | (52.5% [2fAEMRE]| 468 [EHEMRgk| 134 [ &% | 79.7% |
No.| EiHES v Fn | Uk PR IBHZAR | AEGE | EHR 234k | BElE | XECL [XFCUEH] B | X
TIRF RER 53 BE Bl | A+ 61.7 [ A+ 61.1 228 73.5 56.5 | C+ 52.2 24 BE | 46.9
2w = 66 i i 38.3 38.9 145 26.5 43.5 | C- 47.8 22 iFE | 18.7
EF 1K [ArEEEER] 293,484 | HFEHREFK [ 155 | (53.00) [2fAENrsk] 482 [EFEURE] 172 | Z&®E | 77.0% |
No.| IE#E% v i | Rk R XRHAR | HEGR | FRH 2¥h | BElE | IEGL |G UEH] B | IR

2 [m& PF3 55 IE B | A+ 484 [ A+ 523 194 437 56.3 | A+ 61.6 45 % | 26.2

| [BRLERF X | 63 BE Bl 32.3 35.8 133 49.6 29.4 30.1 22 HE | 29.2
3|Em #HF X | 40 HE i 19.4 11.9 44 6.7 14.3 8.2 6 #E | 67

S U HE

<14 A+IRE & U 157K A > FELEE LY AR & Y 10~14. 9K A > FELY Bk Y5~9. 9K A > hELY CHRA L YO~4 97RA » FEL
CHEUT> ik Y0~4 9K A > MEL D: iz &k U5~9. 97K A > MELY M|ENTRLE Y I0RA > MEL
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EFa2E [A=BFEEEZES] 370,327 | HEEEES [ 205939 [ (55.6% [2AERE] 442 [ES=EIRE] 130 | &= | 80.5%
No. ZiEE R % | F&S Rk B EGEAHE | AEER ESE ARk E5E EEL |ZEGLEH BE | ZEER
T8k B— 68 BE B1 | A+ 60.7 | A+ 64.0 228 69. 1 62.2 | A+ 57.8 26 BE [ 43.8
2 [K# IF%E 57 uE i 34.8 33.7 120 25.5 36. 6 37.8 17 & | 18.5
3EN IBF x| 68 NE Eoil 4.5 2.2 8 5.3 1.1 4.4 p) N[E 0.7
[EE3K [S=BFEEES] 377,427 | HEEEESH [ 212,491 | (56.3% [2AERE[ 446 [E=EURE] 150 | &= [ 75.3%
No. ZiEE A % | F&S Rk B IEGEAHE | AEER EL A7k ExE EEL |ZEGLEH R | ZEER
2 ['/NR —ER 79 % @1 | A 556 | B b54.5 183 457 503 | A 556 30 & | 241

| 1R = 38 BE B 44.4 | D 455 153 54,8 40.7 44.4 24 BRE [ 29.7
[EH 1K [ATEAEEESHR] 440,197 | EwEwEss [ 220,099 | (50.0% [&fkElnzk| 638 [ExmElnsk] 365 | 4= [ 70.8%
No. 1Z1gE % % | F& sk BRouEn XBEGAZE | HEHER EH ATk E5E XELGL |ZEBECLEH By | ZEE

1 = 63 BE B1 | A+ 90.1 | C+ 45.6 206 48.9 429 23.5 19 BR [ 37.8

2 [AEx =F x| 57 I i 6.9 | C- 43.6 197 35.7 51.6 | A+ 60.5 49 s | 149
3 [EBEIE | 40 e o0 2.6 8.8 40 12.3 5.3 14.8 12 e 2.2
4 |[xE FT ¥ | 39 3 Eoil 0.4 2.0 9 3.1 0.9 1.2 1 EE 0.0
[EH 2K [A=BFEEEZES] 456,199 [ HEEHZEES [ 250,909 [ (55.0% [2AERZ] 546 [E=EURE] 320 | &= | 75.8%
No. ZiEE R % | F&S Rk B IEGEAHE | AEER ESE A7k ExE EEL |ZEGLEH BE | ZEER

2 (B EDY X | 56 % T C- 48.0 | C+ 49.5 205 43 4 57.5 | A+ 61.3 57 IE | 12.6
1|RE Bh 59 BE i C+ 49.0 | C- 48.8 202 53. 6 42.5 37.6 35 BE | 39.1
3wy T =E x| 47 NE Eoil 3.1 1.7 7 3.0 0.0 1.1 1 NE 1.3
[EH 3 X [ATEFEEESR] 287,427 | HEER/EEH [ 158,085 [ (55.0% [&FEINRZK] 398 [ExENzk] 132 | 2= [ 72.9%
No. 1ZiEE A % | F&S Rk B IEGEAHE | AEER ESE A7k ExE EEL |ZEELEH BE | ZEER

B EGEEES 61 BE A1 | A+ 59.0 | C+ 50.0 145 56. 5 47.0 349 15 BE [ 386
2 (KB BE¥F | 33 uE # 39.2 | C- 46.9 136 41.3 49.5 | A+ 62.8 27 aE | 171
2@ RA 74 3 Eoil 1.8 3.1 9 2.2 3.5 2.3 1 E®E 0.0
ETS [A=BFEEEZES] 238,230 [ HEEEESH [ 131,031 [ (55.0% [2AERE] 433 [E=EIRE] 138 | E&= | 73.7%
No. 1ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ARk E5E EEL |ZEELEH BE | ZEER

1 [REEIEKRER 68 BE a1 | A+ 60.2 | A+ 54.2 173 56. 4 53.3 | C+ 44.4 20 BE [ 40.2

2 [l B ¥ | 53 FtpE i 15.0 32.6 104 24.5 36.0 | c- 40.0 18 $hE 8.3
IR/ 50 e Eii 24.8 13.2 42 19. 1 10. 7 15. 6 7 He 1.7
[EH 5 X [ARBEEEER] 252,692 | HEEHEZ=EEH | 131,400 | (52.0% [2AEIRE] 422 [EEEIE] 112 | #4=%= [ 72.7%
No. ZiEE A % | F&S Rk B IEGEAHE | AEER ESE A7k ExE EEL |ZEGLEH R | ZEER

2 |[2FE = 59 % a1 | A+ 65.9 | C+ 50.8 156 38.6 55.7 | A+ 72.3 34 IE | 21.9
1T FB % | 40 BE Eii 34.1 | C- 49.2 151 61.4 44.3 27.17 13 BR [ 41.7
(EH 6 X [ATEAEEESHR] 254132 | EwwEss | 133,928 | (52.7% |&Elnzk] 424 [ExmElnse] 125 | 4= [ 81.1%
No. ZiEE A % | FH& sk Rt XBEGAE | HEHER EH ATk & € XELGL |ZEBECLEH By | XEE
EEET:] 61 BE A1 | A+ 78.0 | A+ 78.5 270 85.8 75.2 | A+ 721 44 BR | 44.2

2 |HEE ER 63 FhE il 22.0 21.5 74 14.2 24.8 27.9 17 F7E 6.1
SULHE

SR> At R & Y15HRA > R ELEF LY AREEYI0~14 91 > FELY Bk & Y5~9 94 > FESLY CHiRAEY0~E 9IRS > FELY
{2 BT C-: 16k Y0~a. R4 > FELY D: 1Tk Y5~9. 94 > KIEL EN 14 &k Y104 > MMEL
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CHREEY0~4. 97K > FFEL

ORER UMEERX) ¢ FA4oERHIE £ & X
[FE1TX [A=BFEEES] 262,494 | HEEEES [ 144372 | (55.0% [2AERZ] 466 [E=EURE] 137 | &= | 79.6% ]
No. BEEES 4 | E# R/n% Bl XREAE | AEHE EL AT BE | XEGL [ZEGLEHR] BE [XBEE
21F@E F 45 e i C- 49.6 | C+ 50.1 186 324 56.9 | A+ 64.5 40 & | 20.3
| 1= @2 66 BE B C+ 50.4 | C- 49.9 185 67.6 43.1 35.5 22 BR [ 41.6
[FE2X [A=EFEESHR] 259,293 [ HEFEEES [ 155,576 | (60.0% [EAEIRZK] 413 [iEmEdE] 79 | &%= [ 79.2% ]
No. ZiEE A % | F& sk BRouEn XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | ZEE
1|88 BE 72 BE Bl C- 49.3 | C+ b51.4 168 56. 5 50. 2 27.3 12 BHE | 504
2 i@ Bt 36 NE Rl C+ 50.7 | C- 48.6 159 43.5 49.8 | A+ 72.7 32 5 | 16.7
FAEIX [AT=EAEESH] 320,023 | wig=ss | 186,135 | (58.0% [=fAEIRzk| 480 [#Eimmlnzk] 126 | ZE&= | 75.2% |
No. BEEES | F#5 TR R XeaAE | AERE EX AT R BEE | XELL [ZECLEHR] BE [ZBEX
BEEIMEES 57 BE A1 | A+ 85.0 | A+ 77.8 281 33.0 76.0 | A+ 63.6 21 BE | 54.1
2210 & 55 FhE i 15.0 22.2 80 17.0 24.0 36. 4 12 $tiE 3.4
(W1 [S=EEEES]| 2304 495 | HExie==% | 188 787 | ( 62 0% |EAEIRE| 485 [E=mEInE] 150 | =4&= | 82.3% |
No. BEEES | E#h Tk R XRHAE | AERER EL AT BE | XEHLGL [ZEGLEHR] BE [XBEE
1[E% #FIE#A 71 BE a1 | A 56.3 | B 54.9 219 63.5 50.9 | D 47.3 35 EE 397
|2 @ fk 48 uE il 43.7 | D 45.1 180 36.5 49.1 |[B 52.7 39 %= | 18.5
[ 2 X [A=EFEESH] 314580 [ HEFEEEEH [ 195,045 | (62.0% [EAEIREK] 431 [iEmmEaeg] 112 | &% [ 80.7% ]
No. ZiEE A % | F& sk BRouEn XBEGAHZE | HEHER EH ATk & € XELGL |ZEBECLEH BE | ZEE
1|®%K =M 39 BE Al B 55.0 | A 555 193 60. 2 53.8 440 22 BE | 43.9
2 [hnpE f2— 40 ER il D 450 44.5 155 39.8 46.2 | A 56.0 28 ER 3.3
(L3 [A=BEEEZER| 288269 | HErwie==% | 18/.3/5 | (65 0% |[SAEIRE] 385 [fE=ElRz] 120 | Z£&%= | 82 9%
No. BEEES | F#5 TR R XeaAE | AERE EX AT R BEE | XELL [ZECLEHR] BE [ZBEX
1|nE &5F X | 42 BE al B 51.4 | B 47.3 151 43.5 189 37.0 17 BE | 42.2
3 [FIER O & H x| 60 ®E i D 43.2 | D 41.7 133 46.7 30.6 | A+ 54.3 25 35 0.0
21X H 62 $hE il 5.4 11.0 35 9.8 11.5 8.7 4 HE 8.3
EE1R [AREEEER] 405092 | BrBR=2% | 210,648 | (52 0% [ZAEBIRE] 4/5 [EemliRE] 219 | &&= | 18 1%]
No. BEEES | F#5 TRk Bk XEGAE | AERE EX AT R BEE | XELL [ZECLEHR] BE [ZBEX
T2l &R 66 BE al C- 488 | B 53.6 199 56.0 51.7 35. 3 24 BE | 42.4
2|67 =E x| 56 Vg Bl C+ 51.2 | D 46.4 172 44.0 48.3 | A+ 64.7 44 wE [ 16.2
EEg2x [ARBEEEER] 348,011 | HFEHZ=EE | 184,446 | (53.0% [=AENRE] 490 [EEEInE] 214 | &= | 77.1% |
No. BEEES | E#h Tk R XRHAE | AERER EL AT BE | XEHGL [ZEGCLEHR] BE [ZXBEE
1[HEEx K 70 BE a1 | A 55.4 | B 52.6 199 553 50. 7 44 4 32 BE [ 37.5
2 |E5 mH 29 E il 44.6 | D 47.4 179 44.7 49.3 [ A 556 40 & | 16.6
[EE3K [A=EFEESH] 264 629 [ HEFEREES [ 158, 777 | (60.0% [EAEIRZK] 459 [iEmmEung] 130 | &%= | 83.7%
No. ZiEE A % | FH& Tk |BaH| IEGAE | AEER EH ATk & € XELL |ZEBECLEH By | XEE
2 [ZEHR—ER 57 e B | A+ 58.1 | A 56.5 217 540 57.4 | A+ 650 39 IE | 25.5
1| B4R RER 46 BR Bl 41.9 43.5 167 46.0 42.6 35.0 21 BHE | 37.1
SULHE
<14 AR K YIGRA > FUIEFL AREEYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY
{2 BT C-: 16k Y0~a. R4 > FELY D: 1Tk Y5~9. 94 > KIEL RN 1Rk Y1044 > MMEL
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CHREEY0~4. 97K > FFEL

ORER UMEERX) ¢ FA4oERHIE £ & X
EEsx [ARBEEEZS] 237,712 | HeE==% | 136,684 | (5/.5% [2AEINE] 438 [ESEURE] 99 | F&E | 14.1%]
No. ZiEE R % | F&S R./m Bt IRGEHE | AERE ESE ATk ExE EEL |ZEGLEH R | ZEER
2 [\hee fEA 53 e B | B 537 | A+ 57.8 189 53.9 50.0 | A+ 82.6 38 IE | 24.3
|1 ]ER —8R 66 BE g1 | D 46.3 42.2 138 46. 1 41.0 17.4 8 BR [ 36.7
BE5X [ArBEHEEES] 320,934 | HEFEEEH | 147,630 [ (46.0% [2AENRE] 409 [EFEEURE] 154 [ &= [ 70.2% ]
No. ZiEE A % | F& sk BRouE XBEGAHZE | HEHER EH ATk & € XELGL |ZEBECLEH By | ZEE
1T&% Ex 73 BE Bl | A+ 66.9 | A+ 62.0 178 68. 2 58.3 41.9 18 BE | 40.5
2 [gEn % 42 FhE il 33.1 38.0 109 31.8 41.7 | A+ 58.1 25 $E 9.9
i1 X | A TEE#ZEES] 228,880 | #wiREES | 129,386 | (56.5% |={KEIREK] 476 [#Ermunse 226 | Z£%= | 69.1% |
No. =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGEL |ZEGLEH B | ZEER
1|EF =& 67 BE @1 | C- 50.0 | C+ 50.2 165 56.5 446 18.4 9 BE | 42.5
2 |15 fa= 51 3 5 | ¢+ 50.0 | Cc- 49.8 164 43.5 55.4 | A+ 81.6 40 ®E 0.0
ZEHE 2K [SrEEEEE]  194.581 | HER=5% | 106,300 | ( 54 6% |ZAEINEK] 408 [E=mEINEK] 142 | &= | 70 3% ]
No. ZiEE R % | F&S Rk B IEGEAHE | AEER ESE ARk E5E EEL |ZEELEH BE | ZEER
1 [fEEEEER 77 BE B1 | A+ 57.7 | A 5.5 165 62. 1 55.2 33.3 10 BR | 444
|2 [EEmR =X 71 uE T 42.3 42.5 122 37.9 44.8 | A+ 66.7 20 & | 15.8
[ 3 X [A=EFEESHR] 221,988 [ HEFEEEES [ 126,280 | (56.9% [&AEIRZK] 535 [EmmEung] 239 | &E&Z=E [ 71.4% ]
No. ZiEE A % | F& sk BRoeEh XBEGAHZE | HEHER EH AYR & € XELGL |ZEBECLEH BE | ZEE
HEEN: T 62 BE BT | A+ 53.7 | B 49.7 190 49. 1 50. 2 291 16 BHE | 402
2 [fRmE 44 uE 3 295 | D 41.4 158 . 42.5 | A+ 60.0 33 s | 149
3 RE = 27 e Eii 16.8 8.9 34 11.2 7.2 10.9 6 #e3n 2.1
[ 4 X [A=EFEESHR] 153,097 [ HEFEEEH [ 87,143 | (56.9% [EAEIRZ%] 381 [iEmmEuns] 124 | &% [ 76.9% ]
No. =& A % | F& sk Rt XBEGAE | HEHER EH ATk & € XELGL |ZEBECLEH By | XEE
1[I sh& 66 BE BT | A+ 70.8 | A+ 72.7 213 77.2 70.6 | A+ 70.0 21 BE | 53.7
2 | KMAEF x| 72 $hE 3 9.0 19.5 57 13.0 22.4 26.7 8 i 1.9
JIRE BF x| 57 e Eii 20.2 7.8 23 9.8 7.0 3.3 1 e 1.9
[ZiH 5 X [A=EFEESHR] 138,561 [ HEFEEESH [ 79.132 | (57.1% [EAEIRZK] 352 [iEmmEans] 93 | &%= [ 79.5% ]
No. ZiEE A % | F& sk Rt XBEGAZE | SRR EH ATk & € XELGL |ZEBECLEH BE | ZEE
REEEES 39 ER B | C- 44.7 | C+ 46.1 129 39 4 48.3 | A+ 592 29 EE 4.9
1Al B 49 BR g | c+ 45.8 | ¢~ 42.9 120 52. 1 39.7 30.6 15 BR | 41.3
2 [BREEWHF ¥ | 61 FtpE b3 8.0 8.6 24 7.0 9.1 6.1 3 $hE 2.6
4 |m%t Bh 49 3 Eoil 1.5 2.5 7 1.4 2.9 4.1 2 EE 0.0
BT [SrEEEEE] 257,146 | HaR=5% | 145 287 | ( 56.5% |ZAEINE] 597 [E=REINEK] 307 | &= | 72 3% ]
No. | ZiEE A % | F&S Rk B IEGEAHE | AEER EE A7k ExE EGEL |ZEGLEH R | ZEER
1T[ExX X X | 42 BE Br | C+ 50.0 | A 56.3 241 60. 7 51.3 342 26 BE [ 45.7
2 [F KA 42 & g | C+ 50.0 43.17 187 39.3 48.7 | A+ 65.8 50 g | 12.4
SULHE
<14 AR K YIGRA > FUIEFL AREEYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY
{2 BT C-: 16k Y0~a. R4 > FELY D: 1Tk Y5~9. 94 > KIEL RN 1Rk Y1044 > MMEL
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SHER UMEERX) ¢ FA49ERRE B #F = 2021/10/20 01:35:28 ~'-5'6

RE 7 X [ARBEEZS] 174027 | HEE==% | 99.5/8 | (57.2% [2AEIRE] 352 [EsEURE] 108 | &= | 13.6%]
No. ZiEE R % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH R | ZEER
2 [FREmER 72 TE B | C+ 49.7 | B 49.4 128 438 51.6 | A+ 70.0 21 = | 13.5
1k@E #F x| 67 BE g | c- 47.9 | D 43.6 113 45.2 43.0 23.3 7 BER | 44.9
3 [k {hR 42 i bl 2.4 6.9 18 11.0 5.4 6.7 2 Hen 2.6
BER1E [ARBEEZS] 436,030 | HEE==%% | 239.817 | (55.0% [Z2AEIRE] 500 [ESEURE] 262 | &= | 12.2%]
No. ZiEE A % | F&S Rk B EGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
1T[mE = 67 BE a1 | A 41.7 | A+ 50.7 183 544 46.9 3.7 19 BE | 43.6
2 (B mE 38 uE i 27.1 34.6 125 28.0 41.3 | A+ 46.7 28 wE | 18.0
4 [faE A 52 e T 25.0 10.5 38 14.8 6.1 16.7 10 e 3.0
3lEKR BN 60 FhE il 6.3 4.2 15 2.7 5.6 5.0 3 $hE 2.5
lIER2 X | A TEE#ESES] 263,305 | #FEREESH | 139,552 | (53.0% |={KEIRZR] 428 [#Eimunse 109 | 2% | 67.8% |
No. =& 2 % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH Bw | ZEER
2 ['Eem % 3| x= B | A 56.9 | A 552 160 426 50.0 | A+ 78.8 26 & | 19.1
1|E+E & 51 BE i 43. 1 44. 8 130 57. 4 41.0 21.2 7 BR | 45.1
fEX 3 X [AREHEEESR] 241,551 [ HEEHEEH [ 125,607 [ (52.0% [=A&ENREK] 435 [EwER#H] 108 | F&ZE [ 73.6%
No| BREz EIER]| =k [y Xhas= | HeRE | =W | vk | Fr | XBEAL ZELLEE BE [XhE
[HEFEES 42 BE B | A 57.0 | A+ 59.7 191 64.9 580 | A 559 19 BE | 42.5
2pE & 57 E Eii 43.0 40.3 129 35. 1 42.0 44.1 15 & | 21,0
EX 4 X [A=EFEESHR] 403,493 [ HEFEEESH [ 205781 | (51.0% [EAEIREK] 441 [iEsmEdeg] 198 | Z&%+E [ 75.5%
No. ZiEE A % | F& sk BRocEh XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | XEE
1|tkE #& 69 BE B | B 53.1 | C+ 51.1 170 514 50. 8 281 16 BE [ 389
| 2 |BkFA PR 44 VE # | D 46.9 [C- 48.9 163 48.6 49.2 | A+ 71.9 41 % | 16.9
[flEAR 5 X | A TEE#ZEESH] 284,979 | #EREESH | 129,950 | (45.6% |={KERER] 355 [HErrmunse| 114 | 2% | 75.8% |

No. =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGEL |ZEGLEH B | ZEER
T[ER &% 6 | BE A1 | A 76.9 | A+ 176.6 206 80. 4 74.6 | A+ 73.8 31 BR | 483

2 @4 EF % | 68 $iE i 23. 1 23. 4 63 19.6 25. 4 26.2 11 $HiE 3.9
EE X [ArEEEZS] 319,769 | Heis==%k | 193,682 | (51.0% [=2ABIRE] 444 [E=migg] 179 | Z&E | 16.1%]
No. ZiEE R % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
BEEEIS 39 | BE B1 | A+ 540 | A+ 55.0 186 62.2 50.7 | A+ 44.0 22 BR | 40.2
3=y EE 51 e T 18.8 17.5 59 15.7 18.5 28.0 14 3 2.7

2 |[EEtHEF ¥ | 60 $hE 0 1.4 16.9 57 1.8 19.9 14.0 7 i 9.9

4 |=E =¥ % | 53 £E b 15.9 10.7 36 10.2 10.9 14.0 7 ®E 0.0
EE2R [AREEEER] 333,785 | Bem=2% | 163,550 | (49 0% |ZABIRZE] 391 [EwmlREm| 158 | F&= | 14 4% ]
No. =& 4 % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH B | EER
EEIRTS i BE A7 | A+ 50.0 | A+ 56.4 164 66. 7 50. 3 39.0 16 BR | 386

2 |IB# = M iuE A 31.3 38. 1 111 29.6 43.2 | A 51.2 21 & | 157
3|EE &= 49 £E T 18.8 5.5 16 3.7 6.6 9.8 4 ®E 0.0
SyHHE

<1 4> Ari R & YI5HRA > FELEE L AR &L Y10~14 9K4 ¥ FELY B: & U5~9 94 ¥ R LY CHREEY0~4. 9K > FEL
<26 C-: 16k Y0~4. 97R1 > MELY D:ilfiik Y5~9.97R41 > MELY ALK Y107R A > MELY
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EEESK [ArEBEESH] 304 113 [ #EFEHEES [ 158,139 [ (52 0% [2&ENRHK] 380 [EFEIURE| 131 | F#&=FE | 74 5%
No.| (R#EEH v Fin | Sk R XBHmAE | AAGRE | EH 23k | BElE | XECL [XFGUEH] BE | X
NEIEES 55 BE B [ A 533 [B 527 149 58.7 49.7 33.3 15 R [ 455

2 [RENZE— 68 kv Bl 43.3 | D 449 127 39.1 47.6 | A+ 66.7 30 aF [ 17.0

3 [im = 50 N & i 3.3 2.5 7 2.2 2.6 0.0 0 NE | 038
FEE4X [ArEBEESH] 296076 | #wEH=ES [ 148038 [ (50.0% [2&ERHK] 379 [EFTEIUREK| 166 | &= | 72.0% ]
No.| (E#EEH v Fin | Sk R XBHAE | AEGR | EH 23k | BElE | LU [XFGLEH] BE | XEE
1[8E =EX 54 BE B [ A+ 60.0 [ A+ 70.0 191 711 64.5 [ A+ 61.1 33 R [ 449
2| B 61 i E i 40.0 30.0 82 22.9 35.5 38.9 21 iaE | 85
EESKX [nmEEEEH] 303,950 [ HwiESH | 170,216 | (56.00) [SAENRS| 426 [HEEURS] 143 | Z&EK | 68 5%
No.| EiFES v | Fip | Uk PR IBHZAR | AEGE | EHR 234 | BEF | XECL [XFCLEH] B | XEE
TINE BF X | 47 BE B | A+ 781 [ A+ 740 216 75.0 73.3 | A+ 67.5 27 BR | 441

2 |(REE Eth 38 HE i 21.9 26.0 76 25.0 26.7 32.5 13 HE | 5.4
BEIK [ATEEEEHR] 465,700 | HFRESH | 243,561 | (52.3%h) [2iAENRH| 589 [EFEIRS] 331 | &= | 72 5%
No.| (E#EEH v Fin | Fax ] XRHmAR | HEGR | FH 23k | BlE | XEGL [XEFGLEH] B | R
NGEIEE] 41 BE B [ C+ 45.8 [ B 49.9 213 58.0 40.3 [ C- 44.9 40 BER [ 351

2 [RE 28— 60 kg3 5T | C- 448 (D 42.2 180 32.0 54.1 | C+ 46.1 41 iE | 145

3 [EH =N 40 HE # 6.9 6.1 26 8.2 3.6 6.7 6 R 1.9

4 [kE EX | 37 R # 2.0 1.4 6 1.3 1.5 2.2 2 ®E | 0.0
Slhe = 62 ®E i 0.4 0.5 2 0.4 0.5 0.0 0 ®mE | 0.0
BE2X [ArEEEESH] 471,000 [ #EFEHEES [ 235500 [ (50.0% [2kENRHK] 651 [EFEURE| 369 | FF&=FE | 62.7% ]
No.| E#EEH v Fin | Sk R XBHmAE | AAEGR | EH 23k | BElE | IECL [XFCLEH] BE | XEE

1 [k &=Z 63 E B [ A+ 52.0 [ A+ 56.9 232 63. 1 8.6 [B 41.7 30 R [ 345

2 |[mmE BF X | 52 HE ] 28.0 29.2 119 22.3 3.3 | D 31.9 23 #E | 57
3|51 8 58 AR i 20.0 14.0 57 14.6 13.1 26. 4 19 R | 3.1
BEE3X [ArEBEESH] 463,330 [ #EFEHEEK [ 232502 [ (50.2% [2&kERHK] 532 [EFEURE| 295 | &= | 68.8% ]
No.| E#EEH v Fin | Sk R XBHmAE | AAGRE | EH 234k | BElE | ZECL [XFGUEH] B | IR
NEIES 51 BE B [ B 520 [C+ 49.7 182 55. 6 42.9 35.2 31 R [ 337

2 [(WIE&EF X | 52 kv B [ D 46.5 | C- 48.1 176 42.9 54.1 | A+ 62.5 55 I [ 17.6
3[AIE 1%4A 40 N & i 1.5 2.2 8 1.5 2.9 2.3 2 NE | 0.1
BE4X [ArEBEES] 388, 000 [ #FEHEES [ 205,640 [ (53 0% [2&ENRHK] 520 [EFEIURE| 306 | FF&=FE | 56.2%
No.| (R#EEH v Fin | Sk R XBHmAE | AAGRE | EH 23k | BElE | XECL [XFGLEH] BE | XEE
NEEE 47 E B [ A+ 45.0 [ A+ 558 163 57.7 53.2 | C+ 34.3 12 R [ 34.9
2Tk E x| 7 HE ] 24.0 27.1 79 24.4 3.6 | D 28.6 10 #E | 8.0
32T mE 47 EE # 30.0 14.0 41 14.9 12.9 [c+ 34.3 12 ER | 0.6

4 [N RS 37 EE # 1.0 3.1 9 3.0 3.2 2.9 1 ®E | 00
BESK [AmBEEEEHR] 398,000 [ HFREFH | 206,960 | (52.00) [2AENRH] 579 [HEFEIRS] 315 | &= | 76.3%
No.| (R#EEH v i | Rk R XRHAR | AEGE | R 23k | BlE | XEGL [XEFGLEH] B | IR

2 &% =5 57 IE B [ A 56.0 [B D541 239 53.5 54.8 [ A+ 75.3 67 aFE | 21.6
%R FH 50 BE Bl 440 |D 459 203 46.5 45.2 24.7 22 HE | 32.2

S U HE

<14 A+IRE & U 157K A > FELEE LY AR & Y 10~14. 9K A > FELY Bk Y5~9. 9K A > hELY CHRA L YO~4 97RA » FEL
CHEUT> ik Y0~4 9K A > MEL D: iz &k U5~9. 97K A > MELY B|ENTRLE Y I0RA > MEW
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BEe X [ARBEEZSH] 444000 | HEE=E%H | 222000 | (50.0% [2AEIRE] 536 [EwmEUnE] 267 | &= | 69.6%]
No. 1ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH R | ZEER

2| kB = 64 % B1 | B 54.6 | A+ 58.7 219 52.0 64.9 | A+ 70.1 47 % | 19.9
1|hiE —= 52 BE g1 | D 45.4 41.3 154 48.0 35. 1 29.9 20 BR [ 34.8
BE7R [ArBEHEEEZES] 437,000 [ HEFEEEH [ 218,500 [ (50.0% [2AENRE] 492 [EHEEURE] 271 | E&= | 64.6%]
No. ZiEE A % | F& sk BRoeE XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | ZEE
1[hE == 60 BE 2 | C+ 47.2 | Cr 47.2 150 483 45.8 27.9 19 BE | 33.4

2 /hNELRF x| 56 uE i | C 458 |C- 43.7 139 39.2 49.3 | A+ 52.9 36 & | 145

3 |FemEEF X | 44 e il 7.1 9.1 29 12.5 4.9 19. 1 13 #e3n 1.2
[EEsX [A=EFEEESH] 366,000 [ HEFEEESH [ 190,320 | (52.0% [EAEIRZ%] 510 [iEmmEdns] 247 | &% | 63.9% ]
No. ZiEE A % | F& sk BRocE XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | ZEE
[ETTEES 55 BE B | B 53.0 |B 53.7 175 61. 4 46. 4 34.8 23 BE [ 32.9

2 INE IR RS 49 EE 5t | D 47.0 | D 46.3 151 38.6 53.6 | A+ 65.2 43 ®E 0.0
BEIKR [ATEAEES] 405500 [ EwEig=ss [ 210,860 | (52.0% [£fA&ERzk] 459 [#EFEIREk] 236 | ZER=E | 72.5% |
No. =& 2 % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH B | ZEER
1TIX&E 18 BE A1 | B 48.0 | A+ 541 180 61.9 46.1 | D 43.9 25 BE | 34.1

2 [#24F 1EA 45 IE % | D 40.0 37.2 124 30. 4 44.2 | B 50.9 29 uE | 16.2

3 |mm =& x| 67 $hE i 12.0 8.7 29 7.7 9.7 5.3 3 $hE 6.5
IBE1O0K [AT=EAEESH] 328, 700 | wig=ss | 177,498 | (54.0% [£fAERzk| 454 [#EFERze] 183 | ZE&= | 68.9% |
No. =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH B | ZEER

2 REMZE 66 | = 5T | C- 480 |A 56.2 176 549 57.2 | A+ 80.4 45 wE | 177
g = 38 BE w | c+ 520 43.8 137 45. 1 42.8 19. 6 11 BER [ 35.3
BE1 1R [ARBEEZS] 352,500 | HEE==%% | 190,350 | (54.0% [Z2AEIRE] 387 [EoEUnE] 145 | &= | 69.3%]
No. ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEELEH BE | ZEER
ThR &= 69 BE A1 | A+ 55.6 | A+ 57.8 155 55.8 58.8 | C- 43.8 21 BE | 43.1

2 lgm  H 63 uE i 28.9 33.2 89 40.7 29.7 | C+ 47.9 23 wE | 14.2
3l 30 $hE i 15.6 9.0 24 3.5 11.5 8.3 4 S 5.9
BE12K [ RBEEZS] 370,400 | HEE=E%% | 203,720 | (55.0% [Z2AEIRE] 397 [ESEURE] 153 | &= | 69.8%]
No. | ZiEE A % | F&S Rk B IEGEAHE | AEER EE A7k ExE EEL |ZEGLEH BE | ZEER
BEZE 44 BE 1 | D 45.0 | C+ 52.3 145 545 50.6 342 13 BE [ 40.2

2 &A% 47 uE g | B 550 | C- 47.7 132 45.5 49.4 | A+ 65.8 25 wE | 15.0
(EE13K [ArBEHEEEZES] 401,200 [ HEFEEEH [ 200,600 [ (50.0% [2AENRE] 425 [EHEURE] 203 | ZE&=E | 66.6%]
No. ZiEE A % | F& sk BRocEn XBEGAE | HEHER EX0 ATk & € XELGL |ZEBECLEH By | XEE
1[tB &F X% | 69 BE B | C+ 440 | B 49.8 141 545 456 28.3 13 BE | 33.6
2= Ax 33 uE | c- 41.0 | D 41.3 117 39.6 43.0 | A+ 67.4 31 wE | 191

3 kg HA 60 $hE Eii 15.0 8.8 25 6.0 11.4 4.3 2 HE 7.3
SULHE

<16 At R & Y15HRA > R ELEF LY AR L Y10~14 9 A > FELY BiRA & Y5~0 9A > FELY CHiRAEY0~E 9IRS > FELY
{2 BT C-: 16k Y0~a. R4 > FELY D: 1Tk Y5~9. 94 > KIEL EN 14 &k Y104 > MMEL
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CHREEY0~4. 97K > FFEL

BE14R [A=BFEEEZES] 443,300 [ HEEEEZESH [ 212,784 [ (48.0% [2AERZK] 496 [E=EURE] 255 | E&= | 64.7%
No. ZiEE R % | F&S Rk B EGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
T|IZYHBE 66 BE A1 | A 480 | A+ 57.3 184 57.3 57.3 36.6 15 BE [ 387

2 |\ @ 73 FtpE # 16.0 21.8 70 17.2 26.2 14.6 6 $hE 7.4

3 AR ZEh 58 EE T 36.0 20.9 67 25.5 16.5 | A 48.8 20 EE 2.4
(BE15K [ARBEEZSH] 424000 | HEE=E%H | 216,240 | (51.0% [2AEINE] 641 [EsEUREK] 366 | &= | 67.2%]
No. ZiEE R % | F&S Rk B EGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
RS 57 BE 1 | B 480 |[B 49.0 211 51.6 45 4 247 23 BE [ 36.7

2 [EAREEAER 49 IE g | D 40.0 | D 401 173 34.1 48.1 | A+ 58.1 54 aE | 141
3Rm B 42 e i 12.0 10.9 47 14.2 6.5 17.2 16 b 5 3.2
[FEIR [ARBEEZS] 431,396 | Hxm==%% | 215698 | (50.0% [Z2AEINE] 606 [EwmEUnEK] 304 | &K | 67.5%]
No. ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ARk E5E EEL |ZEGLEH R | ZEER
2@ = 60 % B1 | B 54.7 | C+ 52.3 214 471 57.8 | A+ 77.6 66 IE | 17.3
LM &= 57 BE g | D 45.3 | ¢ 47.7 195 52.9 42.2 22.4 19 BRE | 35.0
[(FE2K [A=EFEEESH] 461,660 | HEFEEES [ 230,830 [ (50.0% [EAEIRZK] 619 [iEmmEung] 362 | F&ZFE [ 74.0% ]
No. =& A % | F& sk Rt XBEGAE | HEHER EH ATk & € XELGL |ZEBECLEH BE | ZEE
1T Bz 46 BE Bi | A+ 59.9 | A+ 61.4 281 672 53.4 | A+ 56.8 54 BR | 38.4

2 |l2@m i 62 MNE T 29.5 29.5 135 26.0 34.2 35.8 34 & | 13.8
IR B 45 Ft7E E3ii 10.5 9.2 42 6.8 12.4 7.4 7 $hE 7.8
[(FE3X [ATEHEEESH] 337,089 | #EwiwEEs | 168,545 | (50.0% [&fkElnzk] 451 [ExEnsk] 204 | #42= [ 74.9%
No. ZiEE A % | F& sk BRouEn XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | XEE
1R B— 59 BE B | B 53.0 | A+ 621 210 64.3 60.2 | D 47.5 28 BE | 407

2 [Me —iF 63 NE gi | D 47.0 37.9 128 35.7 39.8 | B 52.5 31 = [ 147
IFE4R | A TEE#EES] 464,312 | #FEREEH | 232,156 | (50.0% |={KEMURE] 710 [#EEunse] 432 | #£%= | 71.3% |
No. | =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEEL |ZEELER Bz;.-, XREER

2 | HA EE 64 | xM= A1 | A+ 67.7 | A+ 66.4 336 65. 7 6/.5 | A+ 88.5 116 17.0
1R$ #h 52 BE Bl 32.3 33.6 170 34.3 32.5 11.5 15 a& 30.9
[FEsK [A=BFEEEZES] 451,775 | HEEEEES [ 225838 [ (50.0% [2AEREK] 621 [E=EUnE] 385 | &= | 65.9%
No. ZiEE R % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
BEEEEN 49 BE 81 | C+ 47.8 | A+ 5.5 235 63.9 47.9 [ B 46.4 39 BE | 43.0

2 |RIBERKER 54 uE % | C- 43.6 32.3 132 24.2 44.2 | D 39.3 33 wE | 11.8
IR & 55 e T 5.1 6.1 25 7.4 4.2 8.3 7 e 2.5
4l8m = 55 ER il 3.5 4.2 17 4.5 3.6 6.0 5 ER 0.7
[FE6 KX | A TEE#EESH] 370,478 | #wEREESH | 185,239 | (50.0% |={KEIREK] 544 [#Emunse 297 | L% | 63.4% |
No. =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH B | EER
1T[Exm #Ea 71 BE A1 | A+ 42.5 | A+ 50.4 174 55. 2 444 20.0 9 BE [ 40.7

2 2% =F ¥ | 51 FhE b 17.2 21. 4 74 13.5 31.4 | B 333 15 $E 7.9
4R =% 74 3 i 25.9 14.2 49 13.5 150 [ D 24.4 1 ®E 0.0

| 3 % @A 38 e Eii 14. 4 13.9 48 17.7 9.2 22.2 10 #e3n 2.8
SULHE

<14 AR K YIGRA > FUIEFL AREEYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY

{2 BT C-: 16k Y0~a. R4 > FELY D: 1Tk Y5~9. 94 > KIEL RN 1Rk Y1044 > MMEL
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(FEIX [ArEBEEH] 435 111 | #EFEHEESK [ 217,556 [ (50.0% [2&ERHK] 607 [EFEURE| 327 | F#&=FE | 75 6%
No.| B#EEH v Fin | Sk R XBHmAE | AEGE | EH 23k | BElFE | XECL [XFCLEH] BE | IR
N 62 BE Bl [ A+ 539 [ A+ 551 253 63.9 45.4 [ C+ 46.3 38 R [ 37.3

2 frm & X | 53 kg3 i 34 3 34.4 158 25.3 44.5 | G- 42.7 35 iE | 18.4
3l R 67 HER 7T 9.8 7.0 32 6.2 7.8 8.5 7 e 1.8
480 EBR 36 N & # 2.0 3.5 16 4.6 2.3 2.4 2 NE | 09
(FEsK [ArEEEER] 424173 [ #EEEEK [ 212,087 [ (50.0% [£FENRE] 548 [EFERE] 300 [ Z&FE [ 63.0%]
No.| (R#EFEH v Fin | Rk ] XRHAR | HEGR | FRH 2wk | BElE | IEGL [XiEFGUERH] B | R

2 [RKE = 47 IE # [ A+ 615 [ A+ 60.0] 207 54.8 65.0 | A+ 83.3 55 aE [ 19.3
1B HE i BE Bl 38.4 38.6 133 44.0 33.3 15.2 10 HER | 34.5

3 |== ff) it — A1 80 EE # 0.1 1.4 5 1.2 1.7 1.5 1 ®E | 00
(FEOK [ArEEEESR] 408,306 [ HFEHEHEE [ 204 153 [ (50.0% [ZFENRE] 482 [EEERE 247 [ Z2&%E [ 69.3% ]
No.| (R#EEH v Fin | Fax R XRHAR | HEGR | FH 2wk | BlE | ZEGL [XEFGLEH] B | IR
1A HF| 46 BE B | C- 49.0 [B 527 176 54.1 51.2 24.4 11 BER [ 39.4

2 | FHie— D 57 iE Bl [ C+ 51.0 [D 47.3 158 45.9 48.8 | A+ 75.6 34 u& [ 17.7
(FE10K [ArEEEESH] 341,920 [ #EFHEESK [ 170,960 [ (50.0% [2kEURHK] 427 [EFEURE| 159 | F#&=FE | 72 6%
No.| E#FES v | Fn | FIR TR i%mﬂ%‘: AEMER | EH 23k | BElE | XECL [XFGLEH] BE | IR

2 |sENl T 58 & Bl 435 | B 51.0 158 40.4 56.7 | A+ 82.2 37 aE | 156
1% ik 74 BR Bl B 49.4 | D 442 137 50.5 40. 8 17.8 8 BER | 47.6
3 FY X | 50 R # 7.0 4.2 13 7.3 2.5 0.0 0 ik | 0.0
4158 #EA 56 EE # 0.1 0.6 2 1.8 0.0 0.0 0 ®E | 00
EFEE1IX [ATEAEEESR] 352,328 | HEFHEEZE% [ 176,164 | (50.0% [ZFAENRE[ 526 [EHEIRE] 188 [ Z&= [ 67.3% ]
No.| (E#FH v i | Fak ] XRHmAR | HEGE | RH Z23A | BElE | IECL [XFGLEH] B | R
NETESD 13 BER B [ A+ 533 [ A+ 62.1 220 65.7 60.0 [ A+ 60.5 23 BR [ 437

2 [#2 28R 64 HE o 12.8 23.4 83 19.4 25.9 18.4 7 #E | 8.1
lgre = 52 n# i 33.9 14.4 51 14.9 14.1 21.1 8 g | 2.1
(FE12K [A=EEEESR] 381,847 | HFHEE==% [ 190,924 [ (50.0% [ZFENRE[ 481 [EHEIRE] 230 [ ZE&= [ 13.2% ]
No.| (1E#EEH v Fin | Fax R XRHmAR | HEGR | RH 23hk | BlE | IEGL [XEFGUERH] B | R
1[ER #— 66 BE B [ A+ 65.4 [ A+ 653 230 68.6 62.7 | A+ 57.1 24 BER [ 50.0

2 [tEm Al 55 hve-3 7T 20.0 26. 4 93 26. 4 26. 4 31.0 13 ia®E | 10.4

(3 [BR % 70 HE i 14.6 8.2 29 5.0 10.9 11.9 5 HE | 57
(FE13K [AREEEER] 417,800 | HFHEEZH%K [ 208,900 [ (50.0% [ZFAENRE[ 497 [EEEIREK] 274 [ ZE&= [ 69.7%]
No.| 1E#EE% v i | FUk [T XRHAR | HEGR | FRH 23k | Bl | ZEGL [XEFGLEH] B | IR
TR & 59 BE [ C+ 425 [C+ 429 147 50.0 35.3 21.7 18 BER [ 353

2 (g 51 kg3 BT [ C- 38.4 [C- 41.4 142 33.5 49.7 | A 41.5 21 iaE | 17.3

3 [[Bk =t 60 AR i 19. 1 15.7 54 16.5 15.0 30.8 20 fERr | 3.7

S U HE

<14 A+IRE & U 157K A > FELEE LY AR & Y 10~14. 9K A > FELY Bk Y5~9. 9K A > hELY CHRA L YO~4 97RA » FEL
CHEUT> ik Y0~4 9K A > MEL D: iz &k U5~9. 97K A > MELY B|ENTRLE Y I0RA > MEW
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CHREEY0~4. 97K > FFEL

OiER UMEER) ¢ F4oMmRE # F X
EFE1RX | A TEEEES] 465 417 | #FEHREEH | 251,325 | (54.0% |=iKERE] 947 [Edmunse] 642 | ##2%=& | 66.7% |
No. BEHHES % | F&b Tk R XRHRAE | AEHEE EH A¥H EE XELGL [ZECLEH] R | XEE
ERESS % | 47 BER B | Cr 43.2 [C+ 42.7| 210 474 39.2 25.0 35 BE | 3.2
2 [fBIRAE 72 I E B | C+ 43.2 [c- 42.6 | 269 40.4 46.9 | A+ 57.9 81 wE | 11.0
3|NE = 47 T 5 12.3 13.1 83 13.7 12.0 15.0 21 | 3.1
4 |lmiE A& 64 EE # 1.2 1.6 10 1.4 1.9 2. 1 3 ®E | 0.0
EzZ2K [N TEAEES] 465,532 | #wEig=ss [ 270,009 | (58.0% [£fAEIRzk] 1,059 [EHEREk] 756 | &= | 65.0% ]
No. EHE S % | Fi&n Tk FHE| XEGRAE | AEHEE ES AT h EE XELGL [ZEGLER] BR | XEE
T &N Y] BER B | B 43.9 A+ 51.7| 356 53.0 18.8 32.6 45 BE | 40.6
2[R B3EL 46 TE # | D 38.2 31.7| 218 30. 8 33.8 | A 46.4 64 uE | 8.4
3|km 2 55 # 27 5t 13.4 10.5 72 10.3 10.9 13.0 18 #a | 2.5
4[4k 38 N ) 3.8 4.9 34 4.9 5.0 6.5 9 ngo| 2.2
5 |t O — BB 48 EE # 0.7 1.2 8 1.0 1.5 1.4 2 mE | 0.0
[EZ=3EX | A TEEEESR] 472,828 | #FEHREESH | 255,327 | (54.0% |=fKEREk] 838 [iErsmunsk| 532 | #fL= | 66.5% |
No. EHES % | F&b Tk R XEHRAHE | AEHEE EH A¥H EE XELGL [ZECLEH] Br | XEE
NS 57 BR B | Cr 42.9 [A 49.7| 277 545 42. 1 3.7 38 BE | 30.1
2 lE 1= 65 T B | o+ 429 36.6 | 204 32.4 43.5 | A+ 55.0 66 a®E | 11.0
(3 |EF = 45 HE i 14.3 13.6 76 13.1 14.5 13.3 16 #pE | 6.5
EZE4RX | A TEEEES] 476,745 | #EFEHREESH | 238,373 | ((50.0% |=fKEREK] 699 [Ermunse| 428 | L= | 54.1% |
No. EHES % | F&h Tk R XRHRAHE | AEHEE EH AT EE XELGL [ZECLEH] bR | XEE
T[E =5 54 BER B | A+ 60.9 | A+ 5.9 219 60. 1 54.1 | B 41.8 28 BE | 34.6
2 |lan B 50 i 5 26. 1 20.4 | 111 25.5 3.3 | D 32.8 22 #eE | 8.6
3% mm 45 125 i 13.0 12.7 48 14.4 9.6 25.4 17 #gh | 3.0
EE | A TEEEESR] 467,412 | #FEREEH | 252,402 | (54.0% |=fKEREk] 808 [#Ersmiunsk| 549 | z#fL= | 59.7% |
No. 1E5HE 2 % | Fikn Tk R XBEHRAHE | AEHEE =8 A¥H EE XELGL [ZECLEH] R | XEE
R 60 BR B | Cr 42.9 [C+ 45.4 | 219 45.5 45.3 29.8 31 BE | 377
AEST 55 I E B | c- 38.8 [C- 446 215 43.9 46.0 | A+ 56.7 59 wE | 13.0
3|mM Ex 63 1625 i 18.4 10.0 48 10. 6 8.7 13.5 14 fgr | 2.4
EES | A TEEEESR] 470,112 | #FEiREEH | 244,458 | ((52.0% |=fKEREK] 753 [Ermunse| 482 | #f£= | 61.4% |
No. BEHES % | F&b Tk R XREHRAE | AEHEE EH A¥H EE XELGL [ZECLEH] Br | XEE
2 [Ea B2 Y] TE B | O+ 458 |C+ 44.6 ] 206 43.8 46.2 | A+ 66.7 60 & | 14.6
1| 57 HE B | ¢ 43.8 [c- 426 197 44. 1 39.9 14.4 13 BE | 35.0
3 |fest 3 x| 36 12 i 10. 4 12.8 59 12.2 13.9 18.9 17 fgh | 2.8
ERE7X | A TEE#ESES] 462,988 | #EFEREESH | 240,754 | ((52.0% |=fKEREk] 833 [iErsmunsk| 556 | ZfL= | 68.9% |
No. EHES % | F&b Tk R XBEHRAE | AEHEE EH AT EE XELGL [ZECLEH] Br | XEE
252 ® 61 TE B | A 49.9 | A+ 53.8] 309 50. 1 60.7 | A+ 70.0 105 & | 13.3
1 |[A 8 72 HE B 37.4 34.3| 197 37.5 28.4 21.3 32 gR | 821
3| A 35 H ] 8.3 9.1 52 9.7 8.0 6.7 10 | 3.1
4 EH B2 38 NE ] 4.2 1.9 11 1.9 2.0 0.7 1 NE | 0.8
5l 47 BE il 0.2 0.9 5 0.8 1.0 1.3 2 ®E | 0.0
SUuHE
<1 A+: R & U15RA & R BLERLY AR & Y10~14, 9 A ¥ FELY B &£ U5~9. 91 & RELY
C2MT> G- MEE Y0~d 9iA o FELY D:TfLdk Y5~9. 9 & KIELY MED TR & Y 10RA & MMED

MK UIHERFNMEAEIHUTIEOTHELTVWET,



OIER UMEERX) ¢ F40MRE # B X 2021/10/20 01:35:28 A" =312
[Ezm8 X [ARBEEZSH] 479,201 | HEE=E% | 273,145 | (57.0% [2AEINE] 847 [ESEUNE] 542 | &= | 66.4%]
No. ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ARk E5E EEL |ZEGLEH R | ZEER
2 [Em BE X | 49 % # | C+ 436 | B 49.1 276 46. 1 54.5 | A+ 68.0 104 & | 12.1
1|1aR BR 64 BE g | c+ 43.6 | D 420 236 45.0 36.6 20.9 32 BR | 34.2
3l =7 41 e i 12.9 8.9 50 8.9 8.9 11.1 17 Hen 2.7
[EzmoR [ RBEEZS] 480,510 | HEZ==%% | 240,255 | (50.0% [Z2AEIRE] 704 [ESEURE] 439 | &= | 58.9%]
No. ZiEE R % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH R | ZEER
2 (L —& 40 % #H | C+ 431 | B 46.7 194 43.6 51.1 | A+ 66.7 58 IE | 12.6
1|2% =% 62 BE g | c+ 43.1 | D 38.3 159 40.7 35. 1 16. 1 14 BE | 33.9
3 |m i 38 e i 4.3 1.1 46 11.6 10.3 10.3 9 e 2.9
4 |vik B 77 B T 9.5 3.4 14 3.3 3.4 4.6 4 iR 0.0
| 5 |54t F30 72 ERE il 0.0 0.5 2 0.8 0.0 2.3 2 B 0.0
[EzZ10K [A=EFEEESHR] 482,180 [ HEFEEES [ 253,144 | (52.5% [EAEIRZK] 744 [iEsEIE] 462 | &% [ 60.3% ]
No. ZiEE A % | F& Tk |BaH| IREGAE | AEER EH ATk E5E XELL |ZEBECLEH By | XEE
2 [k B 45 TE % | C- 425 | C+ 44.5 200 4.3 50.0 | A+ 56.0 47 IE | 12.5
18K £A 44 BR g | c+ 46.6 | Cc- 44.3 199 47.7 38.6 28.6 24 BR | 34.9
3| s 65 e o0 8.1 8.7 39 8.5 9.0 9.5 8 e 2.2
5L % 46 "8 i 0.7 1.6 7 1.1 2.4 4.8 4 ®E 0.0
4[RO #3 67 SR il 2.0 0.9 4 1.4 0.0 1.2 1 SR 0.0
EZE11K | A TEE#ESES] 464,939 | #FEREEH | 237,119 | (51.0% |={KERER] 659 [#Eimunse 396 | &%= | 68.3% |
No. =& A % | Fh5 ik B ZEGAHE | HEER E ATk &5 TEGZL |ZEGLEH B | ZEER
T|FH# BX 67 BE A1 | A+ 53.8 | A+ 547 246 63. 1 436 | A 467 43 BE [ 356
2 [FIAizEE 65 NE i 31.4 28.0 126 25. 1 31.8 34.8 32 & | 1.5
KM Cipd -t E 27 $hE i 1.2 16.0 72 10.2 23.6 15.2 14 FtpE 8.4
4 |Z2E BEX 60 EE il 3.6 1.3 6 1.6 1.0 3.3 3 B 0.0
Ezi12K [A=EFEEESH] 465,335 | HEFEEEEH [ 241,974 | (52.0% [EAEIRZ%] 695 [EmmEung] 411 | &% [ 53.2% ]
No. ZiEE A % | F& Tk |BaH| IEGAE | AEER EH ATk & € XELGL |ZEBECLEH By | XEE
2 [t % | 39 i 5t | D 38.6 | C+ 39.5 146 33.8 49.6 | A+ 47.3 35 i 8.7
1A =g 56 /B g1 | B 46.6 | Cc- 354 131 35.9 34.6 21.6 16 AN:: 7.2
JlpIER &l 39 e Eii 14.8 25. 1 93 30. 4 15.8 31.1 23 #e3n 3.0
[EzZ13K [A=EFEESR] 482,314 | HEFEEREES [ 221,864 | (46.0% [EAEIRZK] 552 [iEmmEunE] 326 | &3+ | 57.4% ]
No. ZiEE A % | F& sk BRouEn XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | XEE
HET 31 BE 2 | A+ 53.7 | A+ 50.2 159 56.9 42.0 16.3 8 BE | 37.4
2 |[eig = 38 uE b 29. 4 30.6 97 26. 4 35.7 | A+ 59.2 29 i 9.8
J[iRE EE 36 FtpE b 14.0 18.0 57 14.9 21.7 22.4 1 $hE 8.3
4 [BEX BmE 44 35 i 1.4 0.9 3 1.7 0.0 2.0 1 BE 0.0
5 Em FB 50 EE bl 1.4 0.3 1 0.0 0.7 0.0 0 E5E 0.0
SULHE
<16 At R & Y15HRA > R ELEF LY AR L Y10~14 9 A > FELY BiRA & Y5~0 9A > FELY CHiRAEY0~E 9IRS > FELY
{2 BT C-: 16k Y0~a. R4 > FELY D: 1Tk Y5~9. 94 > KIEL EN 14 &k Y104 > MMEL
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SER UMNEER) € F40ERME £ & =
(Em14K [ArEEEESH] 467,893 | #EwEBHEES [ 243 304 [ (52 0% [2E&EURHK] 679 [EFTEURK| 426 | &%= | 58 0%
No.| R#FEH v Fin | Sk R XBHAE | AEGRE | EH 23k | BElE | ZECL [XFGLEH] BE | IR
1 [RB#HEY X | 65 BE B [ B 475 [B 470 185 48.7 44.3 22.1 17 R [ 39.9
2 (R4 RIE] 50 kg3 st | D 4.0 (D 37.8 149 34.7 42.4 | A+ 61.0 47 %K | 8.6
3 [A@Ef ms= X | 58 HER # 10.8 12.9 51 15.3 9.5 14.3 11 #a | 3.0
4 |RIFFE AL 80 &R # 0.2 1.5 6 0.4 3.2 2.6 2 ®E | 0.0
6 [RA F08I 58 R # 0.2 0.5 2 0.4 0.6 0.0 0 ®E | 0.0
bItx Fz 65 EE i 0.2 0.3 1 0.4 0.0 0.0 0 ®mE | 00
(RE15K [ArEEEEH] 425,782 | #EwlEES [ 221,407 [ (52.0% [2{kERHK] 786 [EFEIURE| 498 | F&=FE | 46.3%
No.| (R#FES v Fin | Uk R XPHAE | AAGE | EH 23k | BElE | IECL [XFGLEH] KR | XEE
1|H#HF Ef X | 55 & 7T 234 | C+ 37.6 137 30. 8 46.0 | A+ 46.3 37 iAE | 9.6
4 [#iR K& 50 i3 B [ A 397 [C- 33.0 120 35.3 30.1 30.0 24 ®E | 0.0
2 [&#R K | 31 HERT # 4.7 16.8 61 20. 4 12.3 18.8 15 e | 3.5
3 [t W 49 IR # 4.7 6.0 22 7.0 4.9 3.8 3 ik | 0.0
5|44 #= 59 R 7T 25.7 4.4 16 4.5 4.3 0.0 0 ®E | 0.0
6 [&E & 56 &R # 1.4 1.9 7 2.0 1.8 1.3 1 mE | 0.0
1|EE EE 61 EE i 0.5 0.3 1 0.0 0.6 0.0 0 wE | 00
(Ex16X [AREEEER] 467,185 | HFHEE==% [ 214,905 | (46.0% [ZFENIRE[ 642 [EEEIRE] 412 [ ZE&= [ 62.8% ]
No.| IEmES v Fin | Fak R XRHmAR | HEGR | FH 23k | BElE | IEGL [XEFGLEH] BE | R
NENERES 75 BE B [ A+ 461 [ A+ 442 178 49.6 3.8 [D 3.3 21 BER [ 389
2 [ k% =F X | 51 hve-3 # 29.4 25.3 102 23.0 28.9 | B 388 26 a®E | 11.3
3|xEm it X | 26 HE # 9.8 14.4 58 9.0 22.6 9.0 6 #E | 0.4
4 [HiE) 12 HER 7T 9.8 13.6 55 14.8 11.9 19.4 13 HEH | 2.6
5|m  f# 55 N & i 4.9 2.5 10 3.7 0.6 1.5 1 NE | 0.2
EZ17K [ArEBEEH] 477,363 | #EwEREESK [ 238682 [ (50.0% [2&ENRHK] 639 [EFEIURE| 388 | &= | 64.8% ]
No.| B#EEH v Fin | Sk R XBHmAE | AAGRE | EH 23k | BElE | XEGL [XFGLEH] BE | R
1[FER % 76 E Bl [ A+ 55.0 [ A+ 57.7 239 57.7 57.8 | A+ 44.0 37 HER | 36.4
2 [ & 62 HE ] 19.0 20.8 86 20.6 21.1 20.2 17 #E | 7.8
3o =¥ X | 65 HERT # 21.0 12.3 51 12.3 12.4 21.4 18 Ha | 2.5
4lm £YF x| 74 EE i 5.0 9.2 38 9.5 8.7 14.3 12 B 1.2
(Ex18X [AREEEER] 446,564 | HEFHEZE% | 254541 | (57.0% [ZFENRE[ 685 [EHEIRZ] 398 [ Z&= [ 69.9%]
No.| (1E#EEH v i | FUk [T XRZAR | HEGR | RH Z2xhk | BlE | ZECL [XEFGLEH] B | IR
1|ES BA 59 BE B | C+ 49.4 [C+ 497 238 55.6 42.1 32.7 32 BER | 34.8
28 EA 75 & BT [ C+ 49.4 | C- 46.8 224 40. 4 55.0 | A+ 63.3 62 iIE | 16.8
3|7k Ex i EE # 1.2 3.5 17 4.1 2.9 4.1 4 wmE | 0.0
(Exi19X [AREEEER] 440,720 | HFHEEES [ 246,803 | (56.0% [ZFAEIRZE[ 634 [EHEIRE] 362 [ ZE&= [ 712.6% ]
No.| (R#EEH v Fin | Rk R XRHmAR | HEGR | RH 23k | BlE | IEGL [XEFGLEH] B | R
PAESTET] 64 IE B | C+ 45.8 [ C+ 487 224 43.8 54.9 [ A+ 66.7 68 & [ 13.8
1A 48 BE BT | C+ 45.8 | C- 45.9 211 48. 4 42.6 25.5 26 BR | 31.7
3 [higy  ZEAR 48 e 7 i 8.3 5.4 25 7.8 2.5 1.8 8 R 1.6
S U HE
<14 A+IRE & U 157K A > FELEE LY AR & Y 10~14. 9K A > FELY Bk Y5~9. 9K A > hELY CHRA L YO~4 97RA » FEL
CHEUT> ik Y0~4 9K A > MEL D: iz &k U5~9. 97K A > MELY B|ENTRLE Y I0RA > MEW
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(EZ=20K [ArEBEESH] 419,455 | #EFHREEK [ 226,506 [ (54.0% [2&BEURHK] 567 [EFEUREK| 275 | F#&=FE | 66.1%]
No.| E#EEH v Fin | Sk R XBHmAE | AEGE | EH 23k | BElE | ZECL [XFGUEH] B | IR
TRE W= 51 E Bl [ A+ 56.6 [ A 531 199 59.6 47.2 37.9 25 HER [ 30.8
28X  # 49 HE Bl 35.3 39.7 149 33.1 45.7 | A+ 53.0 35 HE | 126
3 [BiFHIE — &R 46 AR i 8.1 1.2 21 1.3 7.1 9.1 6 e | 2.8
(EZ2 1K [ArEBEESH] 439,592 | #EwEBREEK [ 246,172 [ (56.0% [2{kEURHK] 607 [EFEURE| 323 | F#&=FE | 66.7%]
No.| E#EEH v Fin | Sk R XPHAE | AEGE | EH 23k | BElE | ZECL [XFCLEH] BE | XEE
1hER R 57 BE Bl [ C+ 46.6 | C+ 48.1 195 50.7 45.4 35.4 23 R [ 34.0
2 [KARAHF X | 68 kg3 Bl [ C+ 46.6 | C- 44.9 182 39.2 51.0 | A+ 56.9 37 aE | 127
3 [trE  SeEd 66 AR T 6.8 6.9 28 10.0 3.6 1.1 5 e | 2.3
(Em22K [ArEBEESH] 480,733 | #EFEHEEK [ 264,403 [ (55.0% [2KBEIRHK] 697 [EFTEURE| 419 | &% | 68 7%
No.| B#EEH v Fin | Sk | XBHAE | AAGR | EH 2wk | BElE | ZECL [XFGUEH] BE | XEE
1|FE Eth 60 BE B [ B 46.9 [ B 49.9 239 54.6 43.8 25.8 24 R | 34.6
2 [lufE #BX 54 1% B [ D 4.4 |D 422 202 34.3 52.4 | A+ 61.3 57 aE | 127
3 [#im BE X | 54 nE 7T 9.0 6.7 32 9.6 2.9 10.8 10 nE 1.8
4 |[RBNFETE 44 N & # 2.7 1.3 6 1.5 1.0 2.2 2 NE | 0.4
(Ex23KX [ArBEEEER] 450,700 [ HEFiZEEH [ 252,835 [ (55.00) [2iAEIRH] 609 [EFEIRH] 366 [ ZHE [ 62 9% ]
No.| (E#EEH v Fin | Fak ] XRHAR | HEGRE | RH 23k | BlE | XEGL |G LR B | IR
1ha #E 40 BE B | B 549 [B 546 209 60.7 444 | C- 48.0 36 BER [ 36.3
Al i 42 & B [ D 451 [D 454 174 39.3 55.6 | C+ 52.0 39 iFE | 13.5
(EZ24X [ArEBEESH] 464 186 | #EFHZES [ 265,302 [ (55.0% [2kERH] 585 [EFEIRE| 332 | &= | 70.1% ]
No.| E#EFES 1 #Z | BERE | =H 234k | BElE | XECL [XFGLEH] BE | XEE

o A

1 [FRERx— BE Bl A+ 547 | A+ 63.7 261 69. 1 57.2 | A+ 52.9 37 BEE | 31.9
215N BE | 26 FhE 3 20.6 22.0 90 15.7 29. 4 25.7 18 $tpE 8.5
3|k mE % | 49 ER i 20.6 10.5 43 12.1 8.6 18.6 13 ER 1.7

4 |58E BF x| 62 #HE bl 4.0 3.9 16 3.1 4.8 2.9 2 #HE 0.9
[EZ25K [ A TEAEESH] 414487 | #wEgEEs | 215,533 | (52.0% [£fAENRE] 445 [EHENRE] 191 | &= | 69.0% |
No. BEEES FRETS wik  [BEx#H IRHEAE | HEER EX AY R Bl | xEHLGL [ZEGLEH] R [ZEx
T|HE E& 52 BRE i A 56.6 |A 57.0 175 60. 2 546 37.17 23 BEE | 38.3

2 |B@ =gk 53 i i 43.4 43.0 132 39.8 45.4 | A+ 62.3 38 5= | 12.8
EEEINMENES [ARBEEEER] 428,464 | HFRHZEEE | 222,801 | (52.0% [={AENRZ] 563 [E=EInE] 339 [ #&£%= | 52.2% |
No. BEEES | E#h Tk R XRHGAE | AERER EL AY R B | xELL [ZEaLE#H By [XEs
1R = 46 e il D 40.2 | A+ 54.4 160 47 4 64.2 | A+ 70.0 49 IE | 1.4

RN 1/ N 71 ®E i 10.7 31.0 91 33.9 26.8 14.3 10 ®E 0.0

YA I3 53 e E3il B 49.1 14.6 43 18.7 8.9 15.7 11 HE 0.8
[HEI 2K | rBaEEES] 436,769 | #HEHEES [ 222 752 | (51.0% |&f&MEIREk] 621 [#EHEEIRER] 359 | FELFE | 63.3% |
No. BEEES 5 | E#h Tk R XRHAE | AERER EL AY R B | xELL [ZEaLEH By [XEs
HEEEE 72 BE /i A+ 59.1 | A+ 60.8 258 63.3 57.0 40. 8 40 BEE | 35.4

2 |EA EF ¥ | 57 TE T 40.9 39.2 166 36.7 43.0 | A+ 59.2 58 = | 11.8
SUYHE

SR> A+ RS & Y15RA 2 RELEE L AREEYI0~14 91 > FELY Bk & Y5~9 94 > FESLY CH A& Y0~a R4 ¥ FELY
{2 BT C-: 12k Y0~4a. 97RA >~ FMEL D: 1z k Y5~9. 97RA > MMELY EN: 142 & Y101 > MMEL
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[fE=)II3 X | A TEEESES] 443,365 | #FEHREEH | 212,815 | (48.0% |=iKEREK] 640 [Ermunse] 364 | #£%= | 61.6% |
No. EHEES % | Fikn ik [Rad| XEGAHE | REHER =8 A¥H EE XELGL [ZECLEH] Br | XEE
T|hfE A 57 B % | B 48.9 | A+ 53.6 | 211 61.5 45.0 35. 2 31 HE | 348

2 [tk XA 50 % 3 g | D 40.7 31.2 123 24.9 38.1 | A 477 42 uE [ 13.6

3 [REAES 37 $#E o 7.2 12.4 49 9.8 15.3 1.4 10 e | 5.8

|4 |@EH RF x | 48 £E i 3.3 2.8 11 3.9 1.6 5.7 5 ®E | 00
EEEIENS [N T=EAEESH] 332,898 | #Ewig=ss | 199,739 | (60.0% [£fA&EMRzk] 517 [#EHERsk] 267 | ZE&= | 78.9% |
No. EHES % | Fi&n Rk RE| XEGRAHE | AEHER ES A¥k EE XELGL [ZEGCLER] BR | XEE

2 [EmES= X% | 62 % 3 Bl | C+ 346 |C+ 34.1 139 32.3 35.6 | C+ 43.0 40 i%& | 16.5

4 [HEE—E 57 =2 5t | ¢- 326 |C- 33.6 137 30.7 36.1 | C- 39.8 37 ®mE | 0.0
1|WA Bk 46 HE B | D 260 [D 250 102 26.5 23.7 11.8 11 HE | 34.3

3 [En @EE 42 e ] 5.0 5.4 22 8.5 2.7 1.1 1 e | 4.0

5 |xp  fEk 57 EE i 1.8 2.0 8 2.1 1.8 4.3 4 ®E | 0.0
[f=)I5 X | A TEEEES] 467,939 | #FEREESH | 243,328 | ((52.0% |=fKEREK] 572 [#Exmunsk] 338 | #L= | 61.0%
No. EHES % | Fikn ik R XEGAHE | BEER =8 A¥H EE XELGL [ZECLEH] R | XEE
T[RE = 56 HE B | C- 48.6 |B 54.2 189 61.2 43.6 30. 7 23 BE | 344

2 |l 5 58 3 B | C+ 51.4 |D 4538 160 38.8 56.4 | A+ 69.3 52 i [ 122
FEEeX [SrEEESH] 381,614 | BeBm==% | 202234 | (53.0% |ZEIRE] 522 [EeER] 2/8 | 2% | 65 3% ]
No. ZHES % | Fis ik |FEouE] XEHAR | AEER EX AR EE XHELGL [ZEGLEH] BR | XEE
NEIEES 53 BE B | C- 42.7 |C+ 48.7 166 47.0 50. 6 21.7 13 HE | 350

2 |[EHnrs—En 52 I E B | C+ 46.9 |cC- 45.2 154 47.5 2.4 | A+ 66.7 40 wE | 15.6
3|=m FW— 63 b i Bl 10.3 6.2 21 5.5 7.0 1.7 1 #aw | 2.6
EEI7X [SrEEEEH] 450 126 | Hem==% | 234066 | (52 0% |ZAEIRZE] 674 [Eemings] 446 | 2% | 641%]
No. ZEE S % | Fis ik |FEouE XEHAER | AEHER EE AR EE XHELGL [ZEGLEH] BR | XEE
T|8BA 23 44 BE B | C- 49.0 | C+ 52.3 [ 226 55. 2 46.5 26.7 27 BE | 37.1

2 | —F 38 E g1 | C+ 51.0 [c- 47.7] 206 44.8 53.5 [ A+ 73.3 74 uwE | 13.5
EEEINAS [ArOREER] 428014 | B m=2% | 231,268 | (54.0% [ZAEINEK] 689 [BeEINE] 437 | &% [ 70.1%]
No. i % | Fi&b Tk HnE| XEGRAE | REHEE ES AXH EE XELGL [ZEGLER] BR | XEE

2 [I@ %= 65 oE 3 B | A+ 63.4 | Cr 50.7 [ 245 9.5 52.9 | A+ 71.8 79 i%E | 15.5
1]=% #i)h 45 HE Bl 3.6 [ C- 49.3| 238 50.5 47.1 28.2 31 BE | 38.8
[fE=)I9 X | A TEE#EES] 338,346 | #HwEREES | 189,474 | ((56.0% |=fKEREK] 557 [Ermuns] 312 | L= | 69.3% |
No. BEHES % | Fikn sk [Rad| XEGAHE | BEHER =8 A¥H EE XELGL [ZECLEH] Br | XEE

2 & &% 56 TE B | A 52.6 |B 425 164 40.0 45.5 | A+ 59.8 52 & | 159
1|hL EBR 53 HE Bl 3.3 | D 355 137 38.1 32.4 21.8 19 HE | 304
3EE = x| 30 HE o 2.6 13.5 52 11.4 15.9 5.7 5 #E [ 7.3
4|#E AR 51 e i 6.5 8.5 33 10.5 6.3 12.6 11 e [ 2.7
5 HE

1D A+RAE & YI5RA o FELEB L AR & Y10~14 9K A > FELY B & Y5~9. 04 o FE LY CHRA & YO~d 9RA ¥ RELY
LT Gk YO~d 9L o FEL D: ik Y5~9. 97 > FIELY WA {2k Y101 > MED
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EZI11 0K [ARBEEEER] 471,136 | HEEHZ=E% | 235,568 | (50.0% [={AENRE] 655 [E=mUnzk] 408 | &= | 65.2% |
No. BEEES 5 | E#h Tk R XRHAE | AERER EL AY 7k B | xEHLL [ZEaLEH By [XEs
1[Ef FeE 72 BE /i A 430 | A+ 50.8 217 54.6 455 | D 289 22 BEE | 35.1

2 |5 E | 64 FhE i 32.5 25.5 109 18.3 35.8 |B 34.2 26 $tpE 8.1
3|&H EEM 42 HeH 0 10.7 17.3 74 19. 1 14.8 | D 28.9 22 e 2.3
4R = 32 EE il 13.8 6.3 27 8.0 4.0 7.9 6 EE 0.9
=1 1K [AT=BEAEESH] 375,529 | #Ewig=ss [ 199,030 | (53.0% [=fAERzk] 487 [EFERzk] 246 | &= | 76.4% |
No. BEEES FRETS wik  [BExH IRHEAE | HEER EX AY R Bl | xEHLL [ZEGLEH] R [ZEs

1 [PNRERER 40 BRE i A+ 81.3 | A+ T71.7 289 79.9 75.4 | A+ 4.2 46 BE | 46.1

2 [#  {HER 55 St i 18.7 22.3 83 20, 1 24.6 25. 8 16 $hEE 6.7
w1 2R | rBaEEESR] 407,105 | #EHEES [ 211,695 | (52.0% |2&MEIREk] 595 [#EHMEIIRER] 291 | FELFE | 73.1% ]
No. BEEES | E#h Tk R XRHAE | AERER EL 2Tk B | xELL [ZEaLEH By [XEs

2 [TER Z1F x| 73 T i B 47.9 | A 49.9 217 451 541 | A+ 69 4 68 & | 16.1
1125 Bt 58 BE i D 40.4 39. 1 170 . 35.5 16.3 16 BE | 34.2
3IkE = 59 e T 11.6 11.0 48 11.8 10. 4 14,3 14 HE 2.7
EEEINEIETS [ARBEEEER] 472,762 | HEHEZEEE | 241,109 | (51.0% [=AENRE] 575 [E=EInE] 292 | &= | 70.3% |
No. BEEES | E# Tk R XRHAE | AERER EL AY R B | xELL [ZEcLEH By [XEs
BEETE] 72 BE /i A 56.6 | A+ 604 244 64.9 545 37.3 28 BE | 41.7
21Kk EE 44 i E3il 43.4 39.6 160 35, 1 45.5 | A+ 62.7 47 wrE | 15.1
FEZEN1 4R [ ATEAEEESH] 462, 458 | EwEmEEH | 240,478 | (52.0% [&fElnzk| 593 [ExEnse] 315 | 4= [ 67.3%
No. ZiEE A % | F& sk BRotEn XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | XEE

1 [ =& 53 BE Al B 53.6 | B 541 216 62.9 444 41.0 34 BEE | 34.4
2|ER =¥ 50 IE il D 46.4 | D 45.9 183 37.1 55.6 | A+ 59.0 49 sz | 15.2
|@#E)II1 5K [ATEAEESH] 474 061 | #EwEgEss | 246,512 | (52.0% [£fA&ENREk] 655 [#EmEwsk] 361 | ZE&= | 79.2% |
No. BEEES | F#5 wik  [BEx#H IRHEAE | HEER EX 2 Bl | xEHLGL [ZEGLEH] R [ZEx
1A% KER 58 BRE i A+ 79.3 | A+ 76.5 397 77.4 75.3 | A+ 83.2 99 BE | 41.8

2 lErk=D 66 #HE 3 17.7 20.0 104 19. 1 21.2 14.3 17 #HE 1.4

3 EDMmEF X | 45 N [E i 3.0 3.5 18 3.5 3.5 2.5 3 N [E 0.4
)1 6K [ A TEAEESH] 467,212 | #wig=ss | 242,950 | (52.0% [=fAENREk] 507 [EFEREk] 222 | &= | 66.5% |
No. BEEES FRETS wik  [BExH IRHEAE | HEER EE Rk Bl | xEFLGL [ZEGcLEH] Br [ZEs

2 [z #H— 52 T i C+ 50.4 | A 55.2 186 49. 1 60.7 | A+ 176.6 49 & | 14.0

| 1 IER  sh 50 BE Bl C- 49.6 44.8 151 50. 9 39.3 23. 4 15 BE | 385
EEEINENAS [ARBEAE#EES] 425,356 | HERHZ=E% | 233,946 | (55.0% |={AENRE] 523 [EEEInE] 247 | &= | 73.4% |
No. BEEES 5 | E#h Tk R XRHGAE | AERER EL 2Tk B | xEHLL [ZEaLEH By [XEs

1 [®EINA X | 45 BE /i A+ 56.2 | A+ 59.9 230 65. 1 55.5 | C+ 50.0 31 BEE | 41.4

2 [#l EAN 46 v It 37.7 33.9 130 28.6 38.3 [c- 452 28 & | 15.8
3| FE 70 $hE il 6.2 6.3 24 6.3 6.2 4.8 3 $hEE 4.8
SUYHE

SR> A+ RS & Y15RA 2 RELEE L AREEYI0~14 91 > FELY Bk & Y5~9 94 > FESLY CH A& Y0~a R4 ¥ FELY
{2 BT C-: 12k Y0~4a. 97RA >~ FMEL D: 1z k Y5~9. 97RA > MMELY EN: 142 & Y101 > MMEL
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[EZI11 8K [ARBEEEER] 451,458 | HEFRHEZEEE | 234,758 | (52.0% [=AENRE] 693 [E=EInE] 410 | &= | 70.3% |

No. ZiEE R % | F&S Rk B EGEAHE | AEER ESE ARk E5E EEL |ZEGLEH BE | ZEER

T [[LIFEAEER 53 BE BT | B 47.0 | A+ 54.0 263 56. 1 51.2 | D 41.3 VK] BE | 354

2 |=8 #th 46 UE 5t | D 386 38.8 189 36.3 421 | B 48.1 50 g | 1.9

3 |m kal 63 g # 14.4 7.2 35 7.6 6.7 10. 6 11 e 2.1

I_J%T%ﬂ: [ArEEEER| 434000 | EER=2% | 225680 | (52 0% |=@AEIRE] 510 [EwEIRE] 272 | Z&%E | 18.4% ]
ZiEE R % | F&S Rk B IEGEAHE | AEER EE ATk ExE EEL |ZEGLEH R | ZEER

2 BHESE X | 54 NE & 400 |A 525 210 46.5 58.5 | A+ 1.7 66 = | 1.6

1[5\ —gp 57 HE # | A 500 40.8 163 46.5 35.0 26. 1 24 BER | 35.8

J|EEB & 37 g 7T 10. 0 6.8 27 7.0 6.5 2.2 2 #a 3.0

I_J%T%ZE [A=BAEZZK] 288,000 | BErEE %&z 172,800 | ( 60.0% |Z/A&EINZR] 467 [E=minzk] 112 | Z%&%= | 68.5%]

lm)f_

BEREL | Eh | 2k [Bah Shadhe | IERE | =25 22k | BEE | ZBLL [ZELGLEE| Be | XEE
1 WE - 57 | BE | 81 | A+ 48.5 A+ 57.2 183 57 5 57.1 | C+ 38.5 15 BE | 4.9
2|1 FE HYF x| 41 HiE # 28.4 23.4 75 17.5 254 25.6 10 HE 5.7
J|IEE x 50 EE il 23. 1 19. 4 62 25.0 17.5 C- 35.9 14 EE 2.4
|_ﬁ7%3|: [AREEEE%K] 298,000 | Eem==% | 178,800 | (60.0% [ZAEIRE] 448 [EwmIRE] 107 | &% | 81.1%]

BEREL | Eh | ok [Bah Shadhe | IERE | =5 22k | BEE | ZBLL [ZELGLEE| Be | XEE
1 o T M | BE | 81 | C 486 |A 557 204 72.6 50. 7 28.0 14 BE | 39.8
2 |28 =% 55 E a1 | c+ 51.4 44.3 162 27 4 49.3 | A+ 72,0 36 swE | 26.3
I_J?T%4|: [A=EE#EESK] 307,000 | HErie==2% | 18,2710 | (61.0% |&AEIRE] 457 [Ew=mlnzk] 138 | Z&%& | 81.2% ]

BREZ E 5B =k iy Zhade | IERE | Z5 Z2h | _EE | XELGL XBELLEE] Be [XBE
2 HHEELF X 52 IAE B C+ b51.1 B 53.1 197 50.0 54.4 A+ 73.8 45 IIE 19.5
1 EE EA 49 BE 2 | c- 48.9 | D 46.9 174 50. 0 45 6 262 16 BE | 40.5
BESK [A=OAEER]_ 275000 | BrE==% | 170.500 | (62.0% |=AEIKE] 456 [EemEIgk] 1456 | Z&=%= | 18.5%]
No. BREL &l | ok Parh] Xhore | Iehe | =8 Z2E | BEe | XBLL [ZELLEE| Be | XEEX
3[R BE— 54 | &= | B 41.1 | A+ 47.8 171 372 52.7 | A+ 521 38 3= 0.0
1|REA #BE 59 BE ) D 34.4 32.7 117 41.6 28.6 24.7 18 BE 40.7
2 |7 BX 12 EE il 24.5 19. 6 70 21.2 18.8 23.3 17 EE 0.0
EEEe X [A=OAEER]_ 213,000 | BrE=s% | 174720 | (6400 |[ZAEIKE] 466 [EemEIEk] 114 | &%= | 19 6%
No. BREL | Ef | ok [ Sharhe | AeRE | =5 22k | BEe | XBLL [ZELGLEE| Be | XEEX
? [lBa & 47 | = | & | o+ 50.0 [B 53.4 108 4.2 57.0 | A+ 60.7 34 TE | 22.3
1158 B— 61 BE Bl C+ 50.0 D 46.6 173 58.8 43.0 39. 3 22 BE 42.3
BEL1X [SrBAmEER] 268,303 | HeiR==2% | 128,785 | (48.0% |ZAmEINZ] 444 [EemIREK] 134 | &= | 11.0%]
No BEREL | Eh | ok [Bah Shadhe | IERE | =5 22k | BEE | ZBLL [ZELGLEE| Be | XEER
BEERE: 48 | BERE | 81 | A+ 53.9 [ A+ 52.0 178 57, 1 49.8 | C+ 40.0 22 BE | 4.3
4|EE 25 51 e 5T 27.3 26.6 91 26.7 26.6 | C- 36.4 20 Hew 7.2
2 |FE B 60 IAE ! 11.7 16. 1 55 12.4 17.7 21. 8 12 A= 8.7
3|F TH 46 HiE # 7.0 53 18 3.8 59 1.8 1 HiE 4.8
SUYHE
<14 A REEYIGRA Y FUEFWN AREEYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY C+H:RE&KY0~4.97RA > FE WL
<26 C-: 16k Y0~4. 97R1 > MELY D:ilfiik Y5~9.97R41 > MELY BN L WI0ARA > MMELY
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EL2K [ARBEEZSH] 247,807 | HxE==% | 128,860 | (52.0% [Z2AEINE] 432 [ESEURE] 97 | &= | 66.0%]
No. ZiEE R % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
1T|ER & 56 BE | A+ 78.1 | A+ 66.7 190 70.8 65.5 | C+ 50.0 16 BE [ 52.5

2 [#)1]  EERE 57 E il 21.9 33.3 95 29.2 34.5 | G+ 50.0 16 & | 12.5
[EL3X [ARBEHEEEZES] 365,252 | HEFEEZREER | 164,363 | (45.0% [2AENRE] 475 [EEEURE] 204 | &= [ 72.0%]
No. =& A % | F& sk BRouE XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | ZEE
T8 BE—E 60 BE BT | A+ 73.2 | A+ 71.5 265 78.5 76.8 | A+ 63.8 37 BE | 49.0

2 [IRA ¥ 51 FhE i 26. 8 22.5 77 21.5 23.2 36.2 21 $E 3.2
EITE [AREEEER]_ 316937 | BrBR==% | 184,699 | (49 0% |ZAEIRE] 487 [EwmlRE| 249 | &&= | 15 1%]
No. =& A % | Fh5 ik B ZEGAHE | HEER E 2Tk EE TEGEL |ZEGLEH B | ZEER
T|h& =8 51 BE I | A+ 44.4 | A+ 485 177 56. 3 41.9 30. 2 16 BE | 45.8

2 [®H EFE 27 uE b 27.8 29.3 107 25. 1 32.8 | A+ 50.9 27 & | 104
4l 44 M b4 5.6 14.0 51 15.0 13.1 15. 1 8 M 4.2
Jleam B® 72 F7E Eoil 22.2 8.2 30 3.6 12. 1 3.8 2 $hE 6.0
El2E [ArBEEEZES] 326,021 | HFEEEEH | 159,750 [ (49.0% [2AENRE] 426 [EHEEURE] 147 [ F&= | 68.1%]
No. ZiEE A % | F& sk BRoeE XBEGAE | HEHER EH ATk & € XELGL |ZEBECLEH BE | ZEE
TIERK #2 47 BE A1 | A+ 70.9 | A+ 74.5 216 76.0 73.7 | A+ 73.0 27 BR | 48.8

2 BRE & 57 FhE i 29. 1 25.5 74 240 26.3 27.0 10 $E 4.3
|BJIB K [A=EAEESH] 244 031 | Ewig=ss | 141,538 | (58.0% [£fAEIRzk| 403 [#EFEwzk] 87 | ZE&%= | 85.1% |
No. =& % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH B | ZEER

2 [E@E I7 | = Br | C+ 52.1 | C+ 49.6 170 50. 7 49.3 [ A+ 75.0 30 & | 16.5
1|EE B= 52 BE B | ¢ 47.8 [c- 49.0 168 46.7 49.6 20.0 8 BR | 52.7

| 3 [B2& m— 85 EE bl 0.1 1.5 5 2.7 1.1 5.0 2 E5E 0.0
EH 1 X | A TEE#EES] 375934 | #FEREESH | 206,764 | (55.0% |={KEREK] 510 [#Ermunse| 198 | L= | 79.2% |
No. =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGEL |ZEGLEH B | ZEER
BEEEEES X | 62 BE A1 | A+ 60.0 | A+ 59.2 239 59.9 58.7 38.6 27 BE [ 49.3

2 Bm EA 74 IE i 40.0 40. 8 165 40. 1 41.3 | A+ 61.4 43 5 | 13.4
EFH2E [ RBEEZS] 263,098 | HEE==%% | 152,597 | (58.0% [Z2AEINE] 402 [ESEURE] 108 | &= | 73.9%]
No. 1ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
BEEE S 65 BE Br | C+ 520 | A 56.9 169 51.9 58.7 20.0 7 BE [ 50.0

2 X HE 47 uE g1 | C- 48.0 43. 1 128 48. 1 41.3 | A+ 80.0 28 & | 16.0
[LE 1 X [A=EFEESR] 425,742 | HEFEEREEH [ 234158 | (55.0% [&AEIRZK] 460 [iEmmEuns] 212 | &% [ 78.0%
No. ZiEE A % | F& sk BRocEH XBEGAZE | HEHER EX0 ATk & € XELGL |ZEBECLEH By | XEE
1|8 E— 45 BE Bl | B 51.9 | C+ 51.5 185 58.9 46.5 0.3 25 BE | 39.7

2 e ®m{Z 54 IE @i | D 455 | Cc- 46.8 168 39.7 51.6 | A+ 59.7 37 E | 16.8

| 3 IR EN 57 NE E3ii 2.6 1.7 6 1.4 1.9 0.0 0 NE 0.5
SULHE

<16 At R & Y15HRA > R ELEF LY AR L Y10~14 9 A > FELY BiRA & Y5~0 9A > FELY CHiRAEY0~E 9IRS > FELY
{2 BT C-: 16k Y0~a. R4 > FELY D: 1Tk Y5~9. 94 > KIEL EN 14 &k Y104 > MMEL
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[LE2X [ArEEEZS] 262,960 | HEcis==%k | 15/, 781 | (60.0% [=AEBIRE] 400 [FE=ming] 103 | Z&E | 82 5% ]
No. ZiEE A % | F&S Rk B EGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
1T[lER BF X | 56 | BHE B1 | Ar 64.1 | A+ 68.2 225 74.7 66.1 | D 450 18 BE | 56.9

2 [hE % X | 44 uE & 30.8 27.0 89 20. 3 29.1 | B 50.0 20 uE | 121

3 XABESEF | 71 $E il 5.1 4.8 16 5.1 4.8 5.0 2 $E 3.7
EF X [ArEEEEZS] 426 083 | HEcis==%k | 244 486 | (57 4% [ZABIRZE 498 [fE=mIxE] 246 | Z&E | 711.5%]
No. ZiEE R % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
TEH® EX 57 | BE % | D 46.0 | B 53.1 205 53.0 48.5 37.7 29 BER | 35.8

2 R = 73 M g7 | B 540 | D 46.9 181 42.0 51.5 | A+ 62.3 48 s& [ 18.5
[EF 2K [ArBEEEZES] 382,706 | HEZREEH | 224 648 | (58.7% [2AENRE] 494 [EEEURE] 211 [ ZF&= [ 76.7% ]
No. ERES M FER | %k PRk Xeade | Aefms =3 A3k BE | xBLGL [XELGLER] BiR [XEE
2[FE #- 65 NE BT | A+ 49.5 | A+ D551 209 48, 1 60.1 | A+ 62.3 43 SIE | 21.5
1|%a &4 65 BE A 33.3 31.9 121 42.9 24.2 13.0 10 BR | 32.0
KIES 3PN | 38 L i 17.1 12.9 49 9.0 15.7 24.7 19 #3n 2.7
[EB3X [ArBEEEES] 399,758 | HEFEEEH | 242,253 | (60.6% [2AENRE] 501 [EHEEURE] 228 | &= | 83.6%]
No. BEEER M FER | %k PRk Xeade | Aefs EX A3k BE | xBLGL [XELGLER] BiR [XEE
T|HE BE 43 BE B1 | C+ 49.2 | B 51.6 216 57. 1 47.5 33.8 26 BE | 33.7

2 [z g2 44 IE # | C- 48.3 | D 46.1 193 39.4 50.8 | A+ 64.9 50 uE | 21.1
3 =& 53 NE i 2.5 2.4 10 3.4 1.6 1.3 1 NE 0.8
EFsx [ArBEHEEES] 240,818 | HEFEZEEH | 150,608 [ (62.5% [2AEURE] 396 [EHEURE] 108 | ZE&= [ 73.5%]
No. BEER M FER | %k PRk Xeade | Aefs EX A<k BE | xBLGL [XELGLER] BiR [XEE
1T|&E %2 65 BE 81 | A+ 70.0 | B 540 157 60. 3 51.6 44 4 24 BE | 30.0

2 |EHBREF ¥ | 53 HhE i 30.0 | D 46.0 134 39.7 48.4 | A 556 30 HiE 8.5
[EFs5K [AREEEER]_ 280521 | BeBR=2% | 116728 | (6300 |[ZALIRE] 420 [EwmlRE] 138 | &&= | 83 6% ]
No. =& A % | Fh5 ik B ZEGAHE | HEER E 2Tk EE TEGZL |ZEGLEH Bw | ZEER

2 [B% &ER 65 | u= % | C- 480 |A 558 196 46.5 60.3 | A+ 71.0 49 wE | 208

i i - 63 BE g1 | C+ 52.0 44,9 155 53.5 39.7 29.0 20 BR | 36.0
[XE1TX [AEEAEZR] 326980 | HEiZ=22 | 157,768 | ( 48.2% |=AEINE] 433 [EemEIE] 191 | &%= | 75 3% ]
No. | ZiEE A % | F&S Rk B IEGEAHE | AEER EE Ak E5E EEL |ZEGLEH BE | ZEER
BEEEES X | 61 | BE 81 | A+ 79.4 | A+ 65.0 212 70. 1 61.5 | A+ 63.5 33 BER | 40.9

2 A #Zih 30 uE b 13.2 25.8 84 22.4 28. 1 34.6 18 wE | 13.2
3 51 $E b 6.6 8.3 27 6.0 9.9 1.9 1 $E 7.0
4|+HE ER 77 IR il 0.8 0.9 3 1.5 0.5 0.0 0 R 0.0
[XE 2 X [AREEEESR] 301,340 | ErBR=2% | 152.8/0 | (50 /% |ZAEBIRE] 391 [EwmlRE] 130 | F&%= | 16 2% ]
No. =& A % | Fh5 ok B XEEAHE | AEER E AYR ExE TEGZL |ZEGLEH B | EER
Tl &=X 58 | BE A1 | A+ 749 | A+ 63.4 189 60. 2 65.0 | B 40.5 15 BR | 46.9
J|KBHmEF x| 58 R i 8.4 23.2 69 30.6 19.5 | D 35.1 13 EE 1.9
2|=8 %7 45 HE b 16. 7 13.4 40 9.2 15.5 24.3 9 $hE 3.3
SyHHE

<14 AR K YIGRA > FUIEFL AREEYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY C+H:RE&KY0~4.97RA > FE WL
<26 C-: 16k Y0~4. 97R1 > MELY D:ilfiik Y5~9.97R41 > MELY ALK Y107R A > MELY
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CHREEY0~4. 97K > FFEL

[RE3X [A=BFEEEZES] 424090 [ HEEEEZESH [ 221,799 [ (52.3% [2AEREK] 484 [E=EIRE] 225 | E&= [ 70.2%
No. ZiEE A % | F&S Rk B EGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
1|[RE &8 66 BE A1 | A+ 61.5 | A+ 61.8 210 65. 6 58.3 438 21 BE [ 47.5
2 RO EA 58 uE T 38.5 38.2 130 34.4 41.7 | A 56.3 27 & | 12.5
& 4 X [A=EHEEESH] 331,313 | #ErEwEss | 209,357 | (63.2% [&fElnzk] 420 [ExmEsk] 172 | 4= [ 86.7%
No. =& A % | F& sk BRouEn XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | ZEE
1|&F BT 43 BE Bl | C+ 49.8 [ C+ 50.0 182 58. 2 445 26.8 15 BR | 47.4
2453# A 59 I g | c- 48.3 | c- 453 165 34.9 52.3 | A+ 67.9 38 aZE | 17.8
3liEl B 51 e il 2.0 4.7 17 6.8 3.2 5.4 3 #e3n 2.3
& 5 X [ATEAEEESHR] 274458 | EwEwEER | 164,592 | (60.0% [&fkElnzk] 399 [ExmElnse] 115 | 4= [ 82.2%
No. ZiEE A % | F& sk BRocEh XBEGAHE | HEHER EE0 ATk & € XELGL |ZEBECLEH By | ZEE
BEEEL] 69 BE BT | A+ 53.5 | C+ 43.9 144 547 39.5 25.6 1 BE | 37.6
2|63 @i x| 25 uE 3 31.4 | C- 39.6 130 30.5 43.3 | A+ 58.1 25 & | 17.3
3|/hEe #F % | 68 FtpE i 8.8 8.8 29 7.4 9.4 2.3 1 $hE 7.6
4lum BA 61 e T 6.3 7.6 25 7.4 7.7 14.0 6 He 3.6
FEE1R [ RBEEZS] 390,000 | HEEE=E% | 206,700 | (53.0% [2AEIRE] 501 [EsEURE] 244 | F&E | 11.2%]
No|  EHE% B &l 2k [hry] xhaszs | BeRE | =& | Avh | Br |IBAL [XBECLER] By [XE=
T|EN BF X | 68 BE a1 | A+ 52.2 | A+ 58.1 225 63. 1 53.5 | A+ 547 35 BE [ 39.3
2 [EmE 1T 59 uE 21.7 31.8 123 27.3 36.0 39. 1 25 wE | 16.6
3|[FW He= 59 e A 20.7 5.7 22 5.3 6.0 4.7 3 e 2.4
4B =8 ¥ | 56 ER T 5.4 4.4 17 4.3 4.5 1.6 1 ER 1.9
B3 2 X [AT=BEAEESH] 390,000 [ iEwig=ss [ 226,200 | (58.0% [=fAEIRzk] 475 [#EHERse] 183 | ZE&= | 76.4% |
No. =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGEL |ZEGLEH B | ZEER
1T|H® RE 45 BE A1 | A+ 59.5 | A+ 55.6 202 60.9 526 | D 42.9 30 BE [ 357
2 [EF @ 58 IE i 29.7 39. 4 143 35.3 41.7 | B 51.4 36 & | 17.5
KM= 31 $hE i 10.8 5.0 18 3.8 5.7 5.7 4 HE 5.2
%M 3 X [AT=BEAEESH] 370,000 [ #Ewig=ss [ 218,300 | (59.0% [£fA&ENRzk] 415 [#EHERsk] 182 | ZE&= | 75.9% |
No. =& A % | Fhs ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH Bw | ZEER

2 /v REEL 5 | a= 5T | D 46.5 | C+ 50.2 158 473 52.7 | A+ 66.1 39 wE | 14.4
1|ER 17 46 BER g1 | B 535 [C- 49.8 157 52.7 47.3 33.9 20 BER | 39.2
FEE4X [A=BFE#EEZES] 320,000 [ HEHEEES [ 169,600 [ (53.0% [2AEREK] 446 [E=EURE] 156 | &= | 69. 7%
No. | ZiEE R % | F&S Rk B IEGEAHE | AEER EE A7k ExE EEL |ZEGLEH BE | ZEER
1[®R B— 45 BE 81 | A+ 52.2 | A+ 67.5 210 72.5 64.9 | A+ 56.3 27 BE | 43.6
3lEd R 44 ER i 33.1 20.3 63 15.6 22.8 20.8 10 ER 1.9
2 i E— 47 e Eii 14.6 12.2 38 11.9 12.4 22.9 11 #e0 3.2
[FErEs X [A=BFEEEZES] 460,000 [ HEHZEES [ 253,000 [ (55.0% [2AERE] 269 [E=EURE] 260 | E&= [ 79.2%
No. ZiEE R % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEELEH BE | ZEER
4R == 50 ®E 81 | B 39.7 | A+ 51.2 109 51.2 0.0 | A+ 67.3 35 EE 0.0
1|1EN # 39 BE i 27.8 30.5 65 30.5 0.0 13.5 7 BER | 38.2

2 [/NEF #EFD 48 uE # | D 31.7 17.8 38 17.8 0.0 19.2 10 e 8.2
3lFm % 43 SR il 0.8 0.5 1 0.5 0.0 0.0 0 SR 0.0
SULHE

<14 AR K YIGRA > FUIEFL AREEYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY

{2 BT C-: 16k Y0~a. R4 > FELY D: 1Tk Y5~9. 94 > KIEL EN 14 &k Y104 > MMEL
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[ 6 X [ARBEAE#EER] 430,000 [ HEFHEZEEZ | 232,200 | (54.0% [=AENRE] 523 [EEEINE] 222 | &%= | 78.0% |
No. | BEEES 4 | E# Tk R XRHAE | AERER E=H AT BE | XELGL [ZEGLEHR] BE [XBEE
HEEENE] 45 BE Bl C- 44.7 | Cc+ 47.5 194 53.0 438 290 18 BEE | 42.8
2@ A 59 v i C+ 46.9 | C- 45.6 186 39.2 50.0 | A+ 64.5 40 s | 17.8
3T sea 30 e i 8.3 6.9 28 7.8 6.2 6.5 4 HE 2.8
[B5R 7 X | r=BAE#EES] 330,000 | #EHEES [ 198,000 | (60.0% |&fKMEUREk] 435 |#EHEEIREK] 142 | FELFE | 80.2% |
No. BEEES | E#h Tk R XRHAE | AERER EL AT BE | XELGL [ZEGCLEHR] BE [XBEE
TR = 56 BE a1 | A+ 79.4 | A+ 64.2 224 1.4 60.8 | A+ 71.2 47 BEE | 40.4

2 B8 ®MX 53 uE B 20. 6 35.8 125 28. 6 39.2 28.8 19 wgE | 15.5
[B2E 8 X [A=EF#EESH] 360,000 [ HEFEEES [ 198,000 [ (55.0% [EAEIRZK] 418 [iEmmEung] 215 | &%= [ 75.1%
No. ZiEE A % | F& sk BRoeEn XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | ZEE
1Ens 71 BE Al C+ 50.5 | B 548 172 58 4 51.3 271 16 BE | 42.9

| 2 R B s AR 48 NE Rl C- 49.5 | D 452 142 41.6 48.8 | A+ 72.9 43 5 | 14.6
BRI |ATEE#EES] 401,586 | #FREES | 168,666 | (42.0% |={KEREK] 547 [#Emunse 297 | 2% | 69.5% |
No. BEEES | F#5 TR R XeaAE | AERE EX AT R BEE | XELL [ZECLEHR] BE [ZBEX
1|EER #HB&E 57 BE al B 51.0 | C+ 48.7 185 58.5 37.8 241 19 BE | 36.2

2 |58 #E 46 NE Bl D 45.8 | C- 46.6 177 37.0 57.2 | A+ 74.7 59 = | 12.0

3 || #if ¥ | 54 NES| bl 3.1 4.7 18 4.5 5.0 1.3 1 N [E 1.2
Em2ox | A TEE#EES] 404,644 | #HEFEREESH | 190,183 | (47.0% |={KERER] 640 [#Ermunse 340 | L% | 66.1% |
No. BEEES | F#5 TR R XeaAE | AERE EX AT R BEE | XELL [ZECLEHR] BE [XBEX

2 [&n =X 55 B3 A1 | A+ 63.5 | A+ 59.8 253 53.0 67.2 | A+ 7147 65 B3 5.2
18 &x 54 BE Eoil 36.5 40.2 170 47.0 32.8 25.3 22 BE | 33.4
Eamsx [A=BFEEEZES] 418,165 | HEEEES [ 200,719 [ (48.0% [2AERZ[ 559 [E=EIRE] 321 | &= | 63.9% ]
No. BEEES 5 | E#h Tk R XRHAE | AERER EL AT BE | XEHLGL [ZEGCLEHR] BE [ZXBEE

2 riE mBE— 63 T a1 | A 57.3 | B 54.6 195 51.6 502 | A+ 77.0 57 I®E | 16.5

1 ithm  {EE 55 BE B 42.7 | D 45.4 162 48. 4 40. 8 23.0 17 BEE | 29.6
BT [A=EFEESH] 372,924 [ HEFEEEEH [ 156,628 | (42.0% [EAEIRZK] 436 [EmmEans] 211 | &% [ 69.0% ]
No. ZiEE A % | F& sk BRoeEH XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | XEE
1| &= 56 BR il B 47.5 | C+ 46.8 141 537 41.2 30. 2 13 BHE | 36.2
2 =mX 63 uE i D 40.1 | C- 43.9 132 39.0 47.9 | A+ 55.8 24 s | 17.4
3|hE Fst ¥ | 54 e E3il 12.4 9.3 28 7.4 10.9 14.0 6 e 3.8
Easx [A=EFEESHR] 433,081 [ HEFEEESH [ 190,556 | (44.0% [EAEIRZ%] 505 [iEmmEuns] 243 | &% [ 61.6% ]
No. ZiEE A % | F& sk BRocEHn XBEGAZE | HEHER EH AYR & € XELGL |ZEBECLEH By | XEE
1A =X 58 BE Al C+ 41.1 | B 48.9 152 531 452 26. 2 1 BE | 38.0

2 @ EE 52 IE 3 C- 37.9 | D 39.2 122 33.1 44.6 | A+ 45.2 19 iZE | 15.0
3IE  FRe ¥ | 52 e E3il 21.0 11.9 37 13.8 10. 2 28. 6 12 b 3 3.6
SUYHE

SR> At R & Y15HRA > R ELEF LY AREEYI0~14 91 > FELY Bk & Y5~9 94 > FESLY CH A& Y0~a R4 ¥ FELY
{2 BT C-: 16k Y0~a. R4 > FELY D: 1Tk Y5~9. 94 > KIEL EN 14 &k Y104 > MMEL
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CHREEY0~4. 97K > FFEL

@‘i%ﬂ 6 X | AT=EE#EES] 436,564 | #HEFIREEH | 222 648 | (51.0% |&fkEURZk| 424 |#EHEUREe] 216 | 242%E | 67.7%]
No. 1=4gE % % | F&b Tk R XBEHRAE | AEHEE EH AR EE XELGL |ZEG LEH] BR | ZEE

118 F& 48 EE 1) A+ 51.5 A+ 60.6 174 63.2 58.0 | C+ 48.7 19 BR 39.2

2 |#2H I 53 ) 34.0 29.6 85 28.5 30.8 | C- 46.2 18 IE 13.8

3 |NH B3 71 Jt Eiil 14.4 9.8 28 8.3 11.2 5.1 2 K 5.8
@‘i%ﬂ 7X | AT=EEEES] 456,621 | #EFIREEH | 261,142 [ (55.0% |&fkEIURZk| 570 |#ExEUREk] 320 | 4= | 70.2% |
No. 1=4gE % % | F&b Tk R XEHRAHE | AEHEE EH AR EE XELGL |ZEGLEH] BR | ZEE

118K =EA 63 BR 1) A 50.8 A+ 58.5 234 63.3 52.17 C+ 46.9 38 BR 40.4

2 |[HFX = 55 IE JT 39.0 31.0 124 29. 4 33.0 | C- 44.4 36 IE 13.5

3 AL #=% X | 43 HiE Eiil 10.3 10.5 42 7.3 14.3 8.6 Ji K 6.0
@‘i%ﬂ 8 X |AT=EE#EES] 438,861 | #HEFIREEH | 223,819 [ (51.0% |2fkEIURZk| 440 |#EHEURER] 204 | &= | 73.0%
No. 1=4gE % % | F&b Tk R XRHRAHE | AEHEE EL AR EE XELGL |ZEGLEH] By | ZEE

2 |13% = 60 iIE JT G+ 50.9 C+ 52.3 168 46.2 57.3 | A+ 74.5 38 IE 13.6

1R BE 57 BR :10) G- 49.1 C- 47.7 153 53.8 42.7 25.5 13 BR 38.0
@fﬂ 9 X | A rEAEEESH] 433,731 | #FEEH | 208,191 | (148.0% |=fkENzk] 464 [Eamunse] 211 | L= | 65.7% |
No. 1ZigE % % | F#h ik B XEFAHE | AEER EH AR E EEL |ZEGLEH B | ZEER

1Rk BERIE 64 BR "I G+ 51.1 B 54.1 165 59.6 49.4 38.3 18 BR 40.4

2 [BAX FIh 50 INE B C- 48.9 D 45.9 140 40. 4 50.6 | A+ 61.7 29 IE 16. 4
Eﬁfﬂ 10K | A TEE#EESR] 437,664 | #HFEREESH | 231,962 | (53.0% |={KEIRER] 453 [#Emunse 206 | &%= | 71.3% |
No. EHE S % | F#S Sk R XERHEAHE | AEEE EH AR EE XELGL |ZEGLER] BR | ZEE

1[I SkEE 78 BR 1) A+ 38.1 A 36.2 117 42.0 31.7 10.9 5 BR 40.0

2 R HE 43 iaAE 9 18.6 26.0 84 22.4 28.9 C- 34.8 16 IE 14.8

42K FE 61 HEET Bl 19.6 24.5 79 18.9 28.9 c+ 37.0 17 HEFR 6.0

5 |&HEDLF X | 56 nH; o0l 14.4 6.8 22 11.9 2.8 8.7 4 nH 2.2

3tRE EX 63 HpE # 9.3 6.5 21 4.9 7.8 8.7 4 HE 5.7
@‘i%ﬂ 11X |A=EAEEES] 384,749 | #EFEEREEH | 192375 [ (50.0% |&fkEURZk| 418 |#EwEUnEk] 194 | &= | 57.4% ]
No. =18 % % | F&h Tk R XBEHRAHE | AEHEE EL AR EE XELGL |ZEGLEH] BR | ZEE

1TIA\K ## 74 BR 1) A+ 80.6 A+ 80.0 192 76.8 82.8 | A+ T1.5 31 BR 36.5

2| K% {E8h 45 HiE b3l 19.4 20.0 48 23.2 17.2 22.5 9 HE 3.7
12K NG = , EXFE , . 0% X 5 i (3] I P . 9%
Ef X | A TEAE#EES] 445755 | TR EESH | 2564 080 | ((57.0% |=fkEIREk] 473 [Eamunse] 213 | L= | 71.9% |
No. | 1Z1EE % % | F#h Tk B XEFAHE | AEER EL AR ExE EEL |G LEH B | ZEER

2 &2 ME 50 IAE "I A+ 61.2 C+ 52.1 177 42.7 59.5 | A+ 69.1 47 IE 17.6

1EW EFE 44 BR B 38.8 C- 47.9 163 57.3 40.5 30.9 21 BRE 40.5

Zx 13X NG = , TEixE , . 0% X 5 R . 9%
Eﬁf X | FEES] 423,882 | #EmERES | 237,374 [ (56.0% [Six@EUnze] 412 [#EFEREE] 181 | ZEHE | 67.5%]
No. EHES % | F#S Sk R XRHFAHE | AEEE EH AR EE xELGL |ZEGLER] BR | ZEE

1&5# #h 56 BR # D 46.2 A 558 155 62.0 50.3 34.8 16 BR 42.8

2 [KfE @#h 50 N E B B 53.8 44.2 123 38.0 49.7 | A+ 65.2 30 IE 16. 4
SUUHIE
<14 AR\ E YIRS > FLIEFY ArEEY10~14.97R4 > FE LY B:mA L Y5~9.97RA > FELY
{2 HILLT> C—: 16L&k YO0~4. 97K 4 > MMELY D:1fIk Y5~9. 97K > MMEL N ALE YI0RA > MMELY
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ORER UNMEERX) ¢ FA4oMRHE £ B X
Emiax [ArEEEZS] 296, 933 | HEcis==%k | 169,252 | (5/.0% [=ARIRE] 434 [E=migg] 122 | &% | 80.9%]
No. ZiEE R % | F&S Rk B EGEAHE | AEER ESE ARk ExE EEL |ZEGLEH BE | ZEER
BEEE S 37 | BRE 81 | A+ 53.8 | A+ 59.0 207 63. 1 55. 8 37.5 18 BR | 41.3
2 |BEh = 47 aNE b 36.9 35.9 126 28.6 38.5 | A+ 583 28 u#E | 19.0
3|BR E= 33 $iE il 9.2 5.1 18 3.3 58 4.2 2 $HE 3.6
ES [A=BFEEEZES] 349,323 | HEEEESH [ 185,141 [ (53.0% [2AEIRZ[ 388 [HE=mEURZ] 181 | &= | 80.7% ]
No. ZiEE A % | F&S Rk B EGEAHE | AEER ESE A7k ExE EEL |ZEGLEH BE | ZEER
TEA =8 56 BE B1 | B 50.3 | A+ 56.9 178 60. 3 53.9 | C- 44.6 25 BR | 45.2
2|3 f— 43 aNE | D 44.6 39.3 123 32.9 44.9 | C+ 46.4 26 uE | 121
[ 3|lEn = 40 ngn i 5.1 3.8 12 6.8 1.2 8.9 5 ngn 0.7
EEE [ =EE#EES] 360,257 | #HEHEHEHK | 198,141 [ (55.0% [SfAEIURE] 444 [#EFEUEK] 191 [ Z2=x | 82.4% ]
No | az% B Zm] wk [Hih] xhosrs | HERE | =8 | vk | Er | XBEGL [ZBEGLEH] B [XEE
TEH A 56 BE B1 | A+ 65.0 | A+ 68.6 251 73.5 64.9 | A 547 35 BR | 45.2
2 B BEA 67 ME T 29.9 28.4 104 21.9 33.2 42.2 27 u@E | 11.5
3 [AWE A % | 35 NE il 5.1 3.0 11 4.5 1.9 3.1 2 NE 0.9
EE2E [ArEEEZSH] 409,203 | HEcis==%k | 225 062 | (55.0% [=AEBIRE] 450 [fE=mixg] 198 | Z&E | 10.4% ]
No. ZiEE R % | F&S Rk B EGEAHE | AEER ESE A7k ExE EEL |ZEELEH BE | ZEER
NNCEEDN 39 | BE % | D 47.0 | B 53.9 171 61.8 481 30. 4 14 BR | 38.7
2| EE 71 M g7 | B 53.0 | D 46.1 146 38.2 51.9 | A+ 69.6 32 uE | 18.0
=F 33X NG = , TEIRE , . Oh X s i (3] i 3 .30
EE3R [A=BEEEH] 415256 | EeR==8 | 228,391 | (55.0% |EAEIRE] 438 [E=EURZk] 197 | F&& | 15.3%]
No. ZiEE A % | F& Tk |BaH| IEGAZE | AEER EL ATk & € XELGL |ZEBECLEH By | XEE
2 @B =t 68 uE 81 | A+ 641 | A+ 63.6 210 61.2 65.6 | A+ 82.0 50 uE | 23.2
L |EE E#® 49 BE i 35.9 36.4 120 38.8 34.4 18.0 11 BR | 31.8
=F4X NN = , TEIXRE , . Oh 1 s T ES . 9%
EE2E [ BEEH]  291.5/1 | ErE=2% | 163,664 | (55.0% |ZAEIRE] 405 |Ew=EINZk] 135 | Z2Z& | 88 0% ]
No| Glpes [E[EBH] Sk Bow] xeons | #HenE | =5 | vk | Er [ XB6L [REGLEE] Box [XE®
BEEES 47 BE % | A+ 58.5 | A+ 68.9 248 76. 3 65.4 | A+ 61.3 38 BR | 46.4
2 |thE FA 49 uE & 25.3 26.7 96 21.9 28.9 37.1 23 uE | 16.5
3[H) B 54 HE b 16. 2 4.4 16 1.8 5.7 1.6 1 HE 4.6
EEIX [AraAEER] 325007 | Hem=a%k | 179.564 | (55 3% [Z/AEINE] 534 [EeEIRE] 233 | &% | 69.1%]
No. =& A % | Fhs ik B ZEGAHE | HEER E AR ExE TEGZL |ZEGLEH B | ZEER
T|XmE &= 49 AR A1 | O+ 48.4 | A 561 207 61.3 52.3 32.7 16 BR | 37.2
2 [FEHE7LYIR 36 EE w | - 47.6 42.3 156 37.4 45.8 | A+ 61.2 30 EE 2.8
3|lpE F@& ¥ | 42 NE il 4.0 1.6 6 1.3 1.9 6.1 3 NE 0.4
[ZE 2K [AraAEER] 263424 | HEm=2% | 140826 | (53.5% [Z/AEIINE] 447 [EeEIRE] 132 | &% | 19.9%]
No. =& 2 % | Fh5 ik B ZEGAHE | HEER E AR ExE TEGZL |ZEGLEH B | EER
T EBE—H 56 BR B | C+ 51.8 | A+ 58.4 206 67.0 54.5 | D 46 3 25 BR | 436
2 |HE —H 59 i T | C- 48.2 41.6 147 33.0 455 | B 537 29 g | 15.2
SyHHE
<1 A RE K YIRS Y FELEB L AREEY10~14 9K > R Bism & Y5~9 94 & FELY CHim & Y0~a ORA Y R B
<2 FTFY C—: 161k YO~d 91 > FELY D: 14k Y5~9. 97K A > KIELY EN 1k Y101 > FMEL
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OfER (VMNEZERX) ¢ F4oRERILE # H O
[BEIX | A TEEEESR] 274,875 | #EREEH | 148,817 | (54.1%) |=iKEREK] 423 [#Eramunse| 154 | #f%= | 73.3% |
No. BEHEE 4 % | F&b Tk R XBEHRAHE | AEHEE EH A¥H EE XELGL [ZECLEH] bR | XEE
TR Ex 49 ] B | A+ 47.9 | A+ 53.2 165 56. 6 51.7 30.0 12 HE | 41.8
3lEw = 49 #e o 20.5 26.5 82 30.3 24.6 | A 42.5 17 M | 12.4
2 [ s 39 HE i 20.5 15.5 48 9.1 18.5 20.0 8 #E | 5.5
4B 2% 52 N Bl 11.0 4.8 15 4.0 5.2 1.5 3 i 1.2
EE2R [ArOEEER]_ 291,350 | e m=2% | 160330 | (55.0% |[ZAEINEK] 423 [BEemE] 121 | Z&% | 70.9% ]
No. EHE S % | Fi&n Rk HE| XEGRAHE | AEHEE ES AT EE XELGL [ZEGCLER] BR | XEE
TIINE ik 61 BE B | B 530 |C+ 51.7 155 59. 1 8.6 | D 45.8 22 BE | 34.3
2 [k 4 58 E g [ D 470 [c- 483 145 40.9 51.4 | B 54.2 26 uE | 15.5
(=481 X | A TEAE#EESH] 390,789 | #wiREES | 187,579 | (148.0% |=fkE[R#k] 589 [Ermunse| 301 | zfL= | 70.8% |
0. BEHES % | F&b Tk R XRHRAE | AEHEE EH AT EE XELGL [ZECLEH] Br | XEE
T|HE & 47 BE | Cr 42.6 | B 43.6 182 447 43.1 20.9 14 HE [ 371
2 [Bm Bz 74 HE B [ c- 388 | D 381 159 33.5 42.7 | A+ 50.7 34 #E | 11.8
3 Es =¥ x | 42 e i 18.6 18.2 76 22.3 14.2 28.4 19 #e | 1.0
(=42 X | A TREE#EES] 265003 | #EFEHEEH | 132,502 | (50.0% |=fKEREK] 525 [Ermunse| 223 | z#f£%= | 80.2% |
No. EHEE4 % | F&h Rk B XREHRAE | AEHEE EH A¥H EE XELGL [ZECLEH] R | XEE
3[ER  Ha 59 EE B | A 444 | A 39.9 168 434 37.4 | A+ 56.0 47 ER | 3.9
BEZ 48 BE Bl 29.6 27.6 116 26.3 28.5 10.7 9 HE | 27.4
2 iR RR 48 HE i 18.5 27.1 114 22.3 30.5 27.4 23 #E | 15.3
4fh R 45 N i 7.4 5.5 23 8.0 3.7 6.0 5 ng | 21
[E# I X [ATEAEESH] 354440 | Ewig=ss [ 170,131 | (48.0% [£fA&EIRzk] 503 [#EmERsk] 231 | ZER= | 72.8% |
No. EHE S % | Fi&n Rk HE| XEGRAE | AEHEE ES AT EE XELGL [ZEGLER] BiR | XEE
ACNRTS 47 E B | B 4.6 |A 49.7 182 431 54.9 | A+ 69.4 50 iE | 12.4
1R+ #ReE X | 56 HE a1 | D 387 35.5 130 39. 4 32.5 16.7 12 BE | 30.9
3|+ fEeg 64 b i 13.7 14.8 54 17.5 12.6 13.9 10 #e | 9.4
[=# 4 X [ A T=EAEESH] 397,361 | #Ewig=ss | 198,681 | (50.0% [£fA&EMREk] 510 [#EHERsk] 263 | ZER=E | 71.4% |
No. EHES % | Fi&n Rk HnE| XEGRAHE | REHEE ES A¥HR EE XELGL [ZEGCLER] BR | XEE
T[EF %2 51 BE B | C- 39.3 | C+ 39.0 142 43.8 34.4 26.8 19 BE [ 31.1
3 [ =g 54 3 52 | ¢+ 40.3 [c- 38.7 141 37.6 39.8 | A+ 54.9 39 ®mE | 0.0
2 [E5m =— 47 HE i 20. 4 22.3 81 18.5 25. 8 18.3 13 #E | 127
[=Z#H5 X [N TEAEESH] 238,854 | iEwig=ss | 136,147 | (57.0% [£fAENREk] 453 [EHEMREk] 110 | ZE&= | 74.8% |
No. EHES % | Fi&n Rk HEE| XEGRAE | REHEE ES AT EE XELGL [ZEGCLER] BR | XEE
T[AE AL 47 BE B | A+ 48.5 | A+ 47.2 160 61. 1 43.4 30.3 10 BE [ 411
2 lhxFnEF X | 53 TE B 22.1 26.3 89 15.3 29.2 | A+ 45.5 15 iuE | 11.6
3lwum g 53 HE i 13.2 17.7 60 1.1 19.5 12.1 4 #E | 14.0
T 59 ®E Bl 16.2 8.8 30 12.5 7.9 12.1 4 ®E | 0.0
5 Y HE
<1 A+ R & Y 15K A 2 R ELER L AR & Y10~14 9K A > FELY B & Y5~9. 04 o FE LY CHRAE YO~4 9RA > FEL
2T G-k YO~d 9K A o FELY D: ik Y5~9. 97 A o FELY M|EN TR & Y1071 o FMED
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SRIER UMNEZERX) ¢ FA40MRHLE £ fF X
[E#H6 X [ArEEEZS] 460, 716 | HEcis==%k | 230,358 | (50.0% [=AEBIRE] 571 [Eew=migg] 282 | Z&E | 13.4%]
No. ZiEE R % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH R | ZEER
2 [l #nAl 59 N Bl | B 47.8 | A+ 50.4 211 43.6 56.3 | A+ 65 2 45 SIE | 13.9
1 [FEKE—ER 75 BR T | D 39.1 33.2 139 39.5 27.7 15.9 11 BR | 35.7
3| Fi 50 3 b 13.0 16.5 69 16.9 16. 1 18.8 13 #n 7.1
EFRIX [ArEEEZS] 428,198 | HEcis==%k | 196 158 | ( 45 8% [ZAmBIRZk] 689 [fe=minzk] 388 | Z&E | 16.1%]
No. ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
T HE #=Z 50 T A1 | C+ 41.1 | A+ 50.6 265 52.3 48.6 | A+ 42.6 26 3 | 31.4
1| KB &E 54 BR g | c- 36.9 30.7 161 32.4 28.8 24.6 15 BR | 28.9
2 |/HE BE 62 N & 14.1 11.6 61 8.5 15.2 21.3 13 IE 4.7
MR # 39 HiE il 7.9 7.1 37 6.8 7.4 11.5 7 HE 4.9
EE2K [AREFEEZER] 448 106 | HEriz=+% | 219,303 | (48 9% [2@AEURE] 590 [EwmERE] 312 | &= | 16.9%]
No. =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGEL |ZEGLEH B | ZEER
FIEEN 40 T % | O+ 38.7 | A+ 47.4 215 52.5 1.6 | Cr 417 20 W | 32.1
1|, = 70 BR g | c- 37.7 31.7 144 29.6 34.1 20. 8 10 BE | 25.3
2 [BstmaF ¥ | 46 i Bl 23.6 20.9 95 17.9 24.3 | ¢c- 37.5 18 E 6.5
XE3X [A=BEEEZRH]_ 360,430 | HEwie=&% | 171,009 | (46.3% |[SHEIRE] 542 |[E=ElURs] 264 | Z£&%= | 48 0%
No. =& A % | Fh5 ik B ZEGAHE | HEER E 2Tk EE TEGEL |ZEGLEH B | ZEER
2 [EEE = 62 N A1 | A 440 | A+ 42.3 110 43.6 4.3 15.6 5 ABH [ 10.2
3[EE & x| 40 s & 15.3 26.9 70 21.8 30.7 25.0 8 $hE 8.1
1EgE = 54 uE T 32.0 22.3 58 20.0 24.0 | A+ 46.9 15 uE 6.5
4 P AER 52 EE il 8.7 8.5 22 14.5 4.0 12.5 4 #E 0.0
EFR4xE [ArEEEES] 412,991 [ HEFEEEH | 206,454 [ (50.0% [2AEURE] 648 [EHEURE] 377 | F&=E | 74.4% ]
No ERES M FER | %k [Pk Xeade | Aefs =3 A<k BE | xBLGL [XEGLER] BiR [XEE
A|EE mk 60 3 81 | C+ 37.9 | A+ 46.3 223 485 43.5 | A 368 21 3 | 33.4
1|hl ®/F 51 BE g | c- 36.9 29.0 140 33.6 23.4 26.3 15 BR | 22.9
2|58 A 59 ME T 12.5 13.1 63 9.0 18.2 21.1 12 VA= 7.0
3 [k s 53 $iE Bl 12.7 11.6 56 9.0 15.0 15. 8 9 $E 6.1
XR5X [ArEEEZS] 433079 | Heis==%k | 197,397 | (45 6% [ZAEBIRZE] 566 [few=mixzg] 313 | Z&E | 45 2% ]
No. | ZiEE A % | F&S Rk B IEGEAHE | AEER EE ATk ExE EEL |ZEGLEH BE | ZEER
TEE & 46 N B1 | Cr 37.2 | A+ 51.2 131 48.8 53.5 | C- 36.6 15 ;] 7.4
2 lEXx EE 61 $hE T 20. 2 21.7 71 23.3 32.3 | C+ 39.0 16 HiE 5.5
3|lxE R¥ x| 44 nEn 0 10. 1 14.5 37 20. 2 8.7 17.1 7 nE 1.5
4 |gEh =¥ ¥ | 64 ERE 7 | c- 32.4 6.6 17 7.8 5.5 7.3 3 ®E 0.0
EE6e X [AREFEEZER] 392,266 | HEriz=+% | 188,994 | (48 2% [=2@AEURE][ 489 [EwmERE] 245 | &= | 49.1%]
No. =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH B | ZEXR
2 |RE E— 46 N A1 | A 60.9 |A 558 134 56.8 54.9 231 6 ABH [ 10.6
1|8t 17 69 SN Bl 39. 1 4.2 106 43.2 45.1 | A+ 76.9 20 IE 6.6
SyHHE
<14 AR K YIGRA > FUIEFL AREEYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY C+H:RE&KY0~4.97RA > FE WL
<26 C-: 16k Y0~4. 97R1 > MELY D:ilfiik Y5~9.97R41 > MELY ALK Y107R A > MELY
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ER7E [ArEEEZS] 382,998 | HEcis==%k | 203,180 | (53.0% [=AEIRE] 627 [E=mingg] 328 | Z&E | 15.8%]

No. ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER

4 [T Wk 46 T ET % | C- 35.5 | C+ 37.1 176 38.7 35.4 | D 231 12 I | 241

1 |EEHT®E % | 59 BR g7 | C+ 38.1 | C- 34.1 162 34.9 33.3 |B 327 17 BE | 30.5

2 (K FEN 57 NE b 13.2 13.3 63 10. 1 16.5 | D 23.1 12 IE 9.9

3w RrE 39 $hE b 9.6 12.2 58 10.9 13.5 17.3 9 $hE 6.1

5 [#)I B 56 ngn i 3.6 3.4 16 5.5 1.3 3.8 2 ngn 1.6

EESE [ArBEHEEZES] 337,840 | HEFEEEH | 176,893 [ (52.4% [2AEURE] 578 [EHEURE] 300 | &= | 66.3%]
BEER M FER | %k [Pk Xeade | Aefs =3 Z <k BE | xBLGL [XELGLER] BiR [XEE

3 EXSHE T 47 3 % | B 41.9 | A+ 51.4 197 55.7 47.1 | B 47.2 25 3 | 25.6

2@# ik 53 NE b 26.2 24. 8 95 19.1 30.7 [ D 39.6 21 uE 8.5

|1 [EEE—p 41 BR 7 [ D 320 23.8 91 25.3 22.2 13.2 7 BR | 29.4

ERoX [A=EFEEESHR] 456,745 [ HEFEREEH [ 242,303 | (53.0% [EAEIRZK] 652 [iEmmEung] 389 | &&= [ 71.0%

No. ERES M FER | %k [Pk Xeade | Aefs =3 A<k BE | xBLGL [XELGLER] BiR [XEE

2 |@xZ E® 56 3 BT | Cr 34.7 | A+ 50.8 235 54.0 46.0 | A 472 34 3 | 26.3

1|EE =4 73 BE g | c- 32.5 32.0 148 30.7 33.9 36. 1 26 BR | 28.3

3|xE WwF ¥ | 48 #HE b 6.8 16. 4 76 15.0 18.5 15.3 11 #HE 0.9

4 |ReEn  Fndk 49 ®E w | D 26.0 0.9 4 0.4 1.6 1.4 1 mE 0.0

E}10E [ArEEEEZS] 321,624 | Heis==% | 183,561 | (57 1% [=2AEBIRE] 514 [fE=mixgg] 211 | Z&%E | 86.0%]
1ZiEE R % | F&S Rk B IEGEAHE | AEER EE ARk E5E EEL |ZEGLEH BE | ZEER

2¢x HE X | 61 N B1 | C+ 38.9 | B 38.7 171 243 48.7 | A+ 489 22 SIE | 18.0

KJ U -1 46 e # | ¢~ 361 |D 335 148 44.2 26. 1 33.3 15 e | 22.8

(PN 52 BR BiI 25.0 27.8 123 31.5 25.3 17.8 8 BE | 29.9

Ijru 1X [ArEEEZS] 399,413 | Hois==%k | 217,840 | (54.5% [ZARIRE] 526 [few=mixgg] 225 | Z&E | 15.3%]
1ZiEE A % | F&S Rk B IEGEAHE | AEER EE ATk ExE EGEL |ZEGLEH BE | ZEER

3 EEE S 65 T | C+ 349 | A 409 162 47.5 36. 4 30. 8 16 3 | 249

1 [tk Y ¥ | 60 BR g | c- 32.5 29.8 118 32.5 28.0 23.1 12 BR | 26.3

2 |8 Ex 72 i g | ¢c- 32.5 29.3 116 20. 0 35.6 | A+ 46.2 24 ;& | 13.0

E}12E [ArEEEEZS] 340,323 | Heis==% | 160,072 | (49 1% [=AEIRE] 498 [E=mingg] 166 | Z&E | 81. 1% ]
ZiEE R % | F&S Rk B EGEAHE | AEER EE ATk ExE EEL |ZEGLEH BE | ZEER

4%5 XE 40 H B1 | A+ 45.7 | A+ 46.9 191 46.8 47.0 | A+ 50.0 18 3 | 32.0

1 & 34 BR b 27.4 30.5 124 37.3 27.4 19.4 7 BR | 28.8

2 |EH=EF x| 45 uE b 18.3 15.2 62 10.3 17.4 25.0 9 IE 6.1

3B IEF 62 HE il 8.5 7.4 30 5.6 8.2 5.6 2 HE 7.0

EE13K [A=BEEEZR] 401,675 | HErie==s | 189 791 | (47.2% |[EHAEIRE] 500 [E=EuRsk] 226 | Z£&%= | 18 8% ]

No. 1!%%%%% % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH B | EER

T|I=E 2— 51 BE B | C+ 46.7 | C+ 43.4 171 384 47.3 22.2 10 BE | 32.1

J|lEs BE 41 e w | 6 440 |Cc- 42.1 166 49. 4 36.5 | A+ 48.9 22 | 28.7

2 |m% = 45 HE i 9.2 14.5 57 12.2 16.2 28.9 13 $hEE 7.2

SyHHE

<14 AR K YIGRA > FUIEFL AREEYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY C+H:RE&KY0~4.97RA > FE WL

<26 C-: 16k Y0~4. 97R1 > MELY D:ilfiik Y5~9.97R41 > MELY BN L WI0ARA > MMELY
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Ijru 4X [SRBEEZS] 422,980 | HEIZ==% | 205780 | (48.6% |[Z2AEINE] 478 [ESEUNEK] 233 | &= | 11.5%]
ZiEE A % | F&S Rk B IEGEAHE | AEER EE A7k ExE EEL |ZEGLEH BE | ZEER
3 o L 42 HEH # C+ 46.2 | A+ 54.7 187 57.4 52.0 | A+ 57.5 23 T 34.3
1|1RE #® 58 BE g1 | c- 43.1 26. 6 91 31.4 22.0 22.5 9 BR | 24.6
2 iy & 64 FhE i 10. 8 18.7 64 11.2 26.0 20.0 8 $E 9.3
|:i1 5X [N RBAEEES] 391,353 | eie=as | 192,741 | ( 49.3% |=@&EIRE[ 537 [ESRREK] 234 | &%= | 714.3% |
1!%’@%‘% % | F&S Rk B IEGEAHE | AEER EE A7k ExE EEL |ZEGLEH BE | ZEER
3 e BA 48 e B1 | B 47.8 | A+ 47.9 191 50.9 45.6 | A+ 60 7 17 #H [ 29.8
17JD%WB%ZE1] 41 BR | D 425 31.1 124 30. 4 31.6 10.7 3 BER | 29.7
(2]  {-% 72 FhE i 9.7 21. 1 84 18.7 22.8 28.6 8 #E | 101
Ijru 6 X [ARBEEZSH] 327,210 | HEE==% | 160,202 | ( 49.0% [Z2AEINE] 447 [ESEURE] 202 | &= | 57.3%]
ZiEE A % | F&S Rk B IEGEAHE | AEER EE A7k ExE EEL |ZEGLEH R | ZEER
1 Z ET 50 N Bl | C- 45.3 | C+ 48.0 123 46. 7 490 | A+ 76.9 20 IE 7.9
2 (e —i# 68 N: | g1 | c+ 48.7 | ¢~ 46.5 119 47.6 45.7 23.1 6 N:: 7.1
3| mF % | 49 NE il 6.0 5.5 14 5.7 5.3 0.0 0 NE 0.8
Ijru 7K [ RBEEZS] 331,104 | HEE==%% | 158,135 | (47.8% [Z2AEINE] 434 [ESEURE] 184 | &= | 19.5% ]
No. | ZiEE R % | F&S Rk B IEGEAHE | AEER EE A7k ExE EGEL |ZEGLEH BE | ZEER
EGEERCES 56 e A1 | B 48.2 | A+ 53.3 184 505 48.7 | A+ 50.0 12 Hw | 32.7
1|EFT BT 46 BE g | D 40.4 27.8 96 25.0 29.9 33.3 8 BR | 27.7
2% mE 38 FhE i 11.4 18.8 65 15.5 21.3 16. 7 4 $E 9.2
Ijru 8[X [ARBEEEZS] 435,423 | HEIE==%% | 206,782 | (41.5% [2AEINE] 527 [EomEUnE] 233 | F&E | 14.4%]
ZiEE A % | F&S Rk B ZEGEAHE | AEER EE A7k ExE EGEL |ZEGLEH BE | ZEER
4 = M 53 R a1 | A 40.2 [ A+ 52.0 204 497 53.7 | C- 34.5 10 #Hwm | 33.9
1|y 5 72 BE i 30.2 23.7 93 28.8 20. 1 13.8 4 BE | 26.9
3R = 29 $hE b 9.5 13.0 51 8.6 16.2 13.8 4 $E 7.2
2 NE  EERA 46 VE i 20. 1 11.2 44 12.9 10.0 | ¢+ 37.9 11 IE 6.2
FRI9K [A=BEEEZERH]_ 305608 | HErie=Es | 149 962 | (49 1% |SAEIRE] 430 |[E=EluRsk] 148 | Z&%= | 84 4% ]
No. =& 4 % | Fhs ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH B | ZEER
4 FE EA 57 e T | A 4.4 [ B 41.0 149 440 39.5 32.3 10 3 | 31.9
1anm & 45 BR A 297 | D 320 116 41.6 26.9 16. 1 5 BE | 20.7
2k = 53 I T 20.7 21.5 78 12.8 26.1 | A+ 48.4 15 uE 8.8
3 kst A= % | 55 HE il 8.3 5.5 20 1.6 7.6 3.2 1 $hE 5.4
[EE1RX [A=EFEESHR] 394185 [ HEFEEESH [ 197,093 | (50.0% [EAEIRZ%] 540 [iEmmEans] 292 | &%= [ 76.1% ]
No ZiEE A % | F& sk BRocEH XBEGAZE | HEHER EX ATk & € XELGL |ZEBECLEH By | XEE
T|®L £ 67 BR Br | C- 32.7 | C+ 39.9 164 46.9 32.8 26.6 17 BE | 36.6
2 [#R EE 47 MNE 5t | ¢+ 36.7 | C- 353 145 31.4 39.2 | A+ 56.3 36 5 | 1.1
3|[—nE—8R 46 e b3 20. 4 23.1 95 20. 8 25.5 17.2 11 #wm | 140
5= #F 53 35 i 8.2 1.5 6 1.0 2.0 0.0 0 = 0.0
4 [REZE 37 EE bl 2.0 0.2 1 0.0 0.5 0.0 0 = 0.0
SULHE
<16 At R & Y15HRA > R ELEF LY AR L Y10~14 9 A > FELY BiRA & Y5~0 9A > FELY CHiRAEY0~E 9IRS > FELY
{2 BT C—: 161k YO~d 91 > FELY D: 14k Y5~9. 97K A > KIELY EN 1k Y101 > FMEL
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CHREEY0~4. 97K > FFEL

[EE2K | rBaEEESR] 386,472 | #HEHEES [ 185507 | (48.0% |2fKMEUREk] 528 [MEHEMEIIREK] 224 | FELFE | 59.1% |
No. BEEES | E#h Tk R XRHAE | AERER EL 2Tk BE | xELL [ZEaLEH By [XEs
2|#FR —= 63 Y] /i A+ 522 | A+ 54.5 170 63. 1 484 314 11 A8 [ 10.0
1[I SRER 54 - Ein 24.5 35.3 110 31.5 37.9 | A+ 62.9 22 TE 8.8
3| =% &4 64 $tiE i 23.4 10.3 32 5.4 13.7 5.7 2 FtiE 6.2
|[EE3K [ARBEE#EER] 315,921 | HEEHEZ=EE | 157,961 | (50.0% [=AENRE] 441 [EEEIRE] 199 [ &%= | 69.8% |
No. | BEEES | E#h Tk R XRHAE | AERER E=H AY 7k BE | xELL [ZEaLEH By [XEs
R 56 BE /i A 423 | A+ 48.4 149 51.5 46.0 | A 46.2 18 BEE | 36.4

3 |fnEH—= 57 e 3 28.8 29.9 92 31.8 28.4 35.9 14 #wm | 12.8

2 |FRE BT 54 $hpE i 15. 4 14.3 44 9.8 17.6 7.7 3 FtE 5.8

4 1B = 50 EE il 13. 4 7.5 23 6.8 8.0 10.3 4 EE 1.1
|[EE4 X | A TEE#ESES] 421,869 | #wEiREESH | 215,153 | (51.0% |={KEREK] 514 [#Ermunse 238 | &%= | 75 9% |
0. e | F#5 wik  [BExH IRHEAE | HEER EX AY R Bl | xEFLGL [ZEGLEH] R [ZEx
1[EHERZ 50 BRE i A+ 51.6 | A+ 48.7 190 54. 7 435 32.7 16 BE | 340
25R E# x| 42 A i 20. 6 29.7 116 22.7 35.9 | A+ 49.0 24 = | 1.7
3|FEA IEFE 46 e il 27.8 21.5 84 22.7 20. 6 18. 4 9 #e | 16.8
|[EES5 X | A TEE#ESESR] 368 771 | #wEiREESH | 213,887 | (58.0% |=i{KEIRER] 471 [#Emunse 231 | Z£%= | 75 6% |
0. e % | F#5 wik  [BEx#H IRHEAE | HEER EX 2 Bl | xEHLGL [ZEGLEH] R [ZEx
115 22— 69 BRE i A+ 485 | B 38.2 136 38.2 38.3 15.7 8 BEE | 37.4

2 |[\RE  FEEL 65 s It 309 | D 33.1 118 30. 6 355 | A+ 58.8 30 = | 13,7

| 3 & BA 36 e E3il 20.6 [ D 28.7 102 31.2 26. 2 25.5 13 #m | 171
|[EE6 X [N TEAEESH] 466,244 | wig=ss | 237,784 | (51.0% [=fAENREk] 536 [EmERsk] 274 | ZE&=E | 72.6% |
0. e | F#5 wik  [BEx#H IRHEAE | HEER EX AY R Bl | xEFLGL [ZEGLEH] R [ZEx
T[R&E ER 55 BRE i C+ 36.1 | A 40.1 156 42.9 37.0 26. 7 16 BE | 38.5

2 [ A 51 s i D 30.9 30. 1 17 24. 4 36.4 | A+ 550 33 ME 9.1

3 |hAtE—ER 57 e T Cc- 33.0 29.8 116 32.7 26. 6 18.3 11 e | 14.8
[EE7 KX [ A TEAEESH] 442 618 | Ewig=ss | 230,161 | (52.0% [£fAEMRE] 611 [EHERE] 362 | ZER=E | 71.4% |
0. e | F#5 wik  [BEx#H IRHEAE | HEER EX AY R Bl | xEHLGL [ZEGLEH] R [ZEx
1L\ =7 55 BRE i B 40.8 | A 429 187 43.3 123 23.6 17 BE | 34.2
3=k =& x| 55 Hew T D 33.7 28.7 125 31.7 23.8 27.8 20 e | 17.6

2 |&#m =® x| 43 v il 25.5 28.4 124 25.0 33.9 | A+ 48.6 35 E 7.7
|[EE8 KX | A TEE#ZEESH] 387,313 | #EREEH | 170,418 | (44.0% |={KERER] 437 [#EEunse 209 | 2% | 47.6% |
0. e | F#5 wik  [BExH IRHEAE | HEER EX 2 Bl | xEHLGL [ZEGLEH] R [ZEs
1[FEH EE 43 Y] i A+ 550 | A+ 62.0 129 58.9 64.6 | A+ 452 14 A [ 111

2 lihFt x| 46 $hpE i 39.0 26.9 56 25.3 28.3 25.8 8 FtE 5.6
3+ = 73 g T 6.0 11.1 23 15.8 7.1 29.0 9 N 1.4
|[EE9 KX | A TEE#EES] 364,322 | #EREEH | 171,231 | (47.0% |=&EURE] 411 [#EEunse 204 | #22%= | 72.7% |
0 e | F#5 wik  [BExH IRHEAE | HEER EX AY R Bl | XEFLGL [ZEGLEH] R [ZEs
1[@EH BER 59 BRE i A+ 745 | A+ 76.9 230 76. 6 77.3 | A+ 78.3 36 BE | 36.2

2 |#& 5 B p0F x| 34 St i 25.5 23. 1 69 23.4 22.7 21.7 10 $hEE 7.4
SUYHE

SR> A+ RS & Y15RA 2 RELEE L AREEYI0~14 91 > FELY AEY5~9 9S> FELY

{2 BT C-: 12k Y0~4a. 97RA >~ FMEL D: 1z k Y5~9. 97RA > MMELY & Y107 A > MMEL
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[EE1O0K | rBaE#EES] 348,685 | #HEHREES [ 163,882 | (47.0% |2fKMEUREk] 392 |#EHMEIREK] 155 | FELFE | 76.0% |
0. BEEES | E# Tk R XRHAE | AERER EL AY 7k B | xEHLL [ZEaLEH By [XEs

1 [[EEH = 73 BE /i A+ 51.6 | A+ 47.0 140 47.7 46.6 | C- 36.8 14 BE | 41.2

2 2t =% | 50 i Ein 20. 6 30.2 90 26. 6 32.3 | ¢+ 39.5 15 iE | 10.3

| 3 B+ e 54 e Eoil 27.8 22.8 68 25.7 21.2 23.7 9 HE 9.6
EE11K | rBAE#EES] 400,002 | #EHEES [ 180,001 | (45.0% |2fKMEIREk] 466 |HEHEEIREK] 226 | FELFE | 69.5% |
0. BEEES | E#h Tk R XRHAE | AERER EL AY 7k BE | xELL [ZEaLEH By [XEs

1 [ Hmies 62 BE /i A+ 61.9 | A+ 58.3 189 63. 3 536 | B 45.7 21 BEE | 43.8
JEE ER 36 e 3 25.8 29.0 94 30.4 27.7 | D 39.1 18 #wm | 13.6

2 | k@ E= 66 S i 12.3 12.7 41 6.3 18.7 15.2 7 FtiE 4.6
[EE12K [ARBEEEER] 285,425 [ HFEHEZEEE | 162,692 | (57.0% [=AENRE] 378 [EEEInE] 114 | &= | 74.3% |
0. BEEES | E#h Tk R XRHAE | AERER EL 2Tk BE | xELL [ZEaLEH By [XEs

R IT=E 67 BE /i A+ 60.4 | A+ 54.8 154 54.3 55.0 | A+ 48 4 15 BEE | 42.2

3 [sthmsE KB 47 e 3 27.1 24.2 68 25.9 23.5 19.4 6 e | 15.2

2 B =@ 61 i i 12.5 21.0 59 19.8 21.5 32.3 10 s | 10.4
ERE1K | rBAE#EES] 395,318 | #EHEES [ 221,378 | (56.0% |2fKMEUREk] 551 [#EHMEIREk] 274 | FELFE | 78.6% |
No. BEEES 5 | E#5 Tk R XRHAE | AERER E=H AY R B | xEHLL [ZEaLEH By [XEs

2 &M BX 61 T i B 444 | B 43.6 189 35.3 51.3 | A+ 59.2 45 = | 10.7
1|k et 57 BE i D 37.4 |D 37.0 160 42.5 31.9 23.7 18 BE | 35.2

3 [Bi sERk 58 e E3il 18.2 19. 4 84 22.2 16.8 17. 1 13 #g | 14.8
EPIH [A=EAEZS] 384397 | =58 | 215260 | (56.0% |Z@AEIE] 526 [Ewminik] 220 | Z&% | 79.5%
No. BEEES | E#h Tk R XRHAE | AERER EL AY R BE | xEHLL [ZEaLEH By [XEs
BEGEE X | 60 BE /i A+ 62.2 | A+ 63.2 264 71.4 57.6 | A+ 54.0 34 BEE | 38.8

2 |m x8 ¥ | 41 - 3 26.3 23.2 97 19.6 25.6 30.2 19 wE | 12.0

3 EA  mER 46 St i 11.5 13.6 57 8.9 16.8 15.9 10 S 8. 4
EBE3K | rBaE#EES] 355,796 | #HEHEES [ 185014 | (52.0% |&fKMEUREk] 454 [|#EEEIREK] 175 | FELFE | 56.2% |
No. BEEES 5 | E#5 Tk R XRHAE | AERER =5 27 h BE | xEHLL [ZEaLEH By [XEs

3 [BEERE 47 3 i A+ 62.9 | A+ 65.5 167 76.2 60.2 | A+ 70.4 19 EE 0.0
1@ Ex 63 HE 3 17.1 24.7 63 15.5 29.2 29. 6 8 St 4.4
4|ER 4R 61 ®E i 17.1 9.0 23 7.1 9.9 0.0 0 35 0.0

2 | = 43 N [E i 2.9 0.8 2 1.2 0.6 0.0 0 NE 0.4
FIOIX [A=BEEEZESH] 308560 | Hrie=&s | 145019 | (47.0% |[EHEIRE] 420 [E=EuREk] 162 | &&= | 12.1%
No. BEEES | F#5 wik  [BExH IRHEAE | HEER EX AY R Bl | xEHLGL [ZEGLEH] R [ZEs

2 [RXx REFE 65 EE i A 57.1 | A+ 59.1 179 54.5 61.8 | A+ 80.9 38 EE 3.8
1M f##x 56 BE Al 42.9 40.9 124 45.5 38.2 19. 1 9 BE | 44.3
EEAITAS | rBaEEES] 243,486 | #HEHEES [ 126,613 | (52.0% |2fKMEIREk] 439 [#EHEEIREK] 110 | ZFELFE | 80.9% |
No BEEES 5 | E#h Tk R XRHGAE | AERER EL AY R B | xELL [ZEaLEH By [XEs
1T[aR E& 69 BE /i A+ 51.6 | A+ 50.4 179 57.8 487 | C+ 42.5 17 BEE | 43.5

2 |mE3 i 60 - 3 28.7 34. 1 121 28.9 35.7 | c- 400 16 aE | 111
3|IFr IBF x| 72 HeH i 14.8 14.4 51 10.8 15. 4 15.0 6 e 9.7

| 4 EF Bx x | 37 N [E i 4.9 1.1 4 2.4 0.7 2.5 1 N E 0.0
SUYHE

SR> A+ RS & Y15RA 2 RELEE L AREEYI0~14 91 > FELY Bk & Y5~9 94 > FESLY CH A& Y0~a R4 ¥ FELY
{2 BT C-: 12k Y0~4a. 97RA >~ FMEL D: 1z k Y5~9. 97RA > MMELY SEN - 143 & Y107 A > MMELY
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EEAITETS [A=BFEEEZES] 250,050 [ HEFEEEES [ 148,066 | (59.0% [2AERZ[ 405 [E=EURE] 83 | &= | 76.8% ]
No. ZiEE A % | F&S Rk B EGEAHE | AEER ESE A7k ExE EEL |ZEGLEH BE | ZEER
1=k &g 82 BE a1 | A+ 743 | A+ 58.5 182 65. 6 56.8 | C+ 444 8 BE | 46.1

2 (% BEh 61 FtpE o0 14.9 27.0 84 23.0 28.0 | C+ 44.4 8 $hE 8.9

3 |[XR =4 x| 52 B i 6.1 10.9 34 9.8 1.2 1.1 2 B 0.0

4 1Bk 51 H#E il 4.7 3.5 11 1.6 4.0 0.0 0 E5E 0.0
(BER1X | A TEE#EESH] 231,313 | #FEREEH | 120,283 | (52.0% |={KERER] 451 [#Emunse] 114 | Z2£%= | 77.4% |
No. =& A % | Fh5 ik B ZEGAHE | HEER EH ATk ExE TEGEL |ZEGLEH B | ZEER
B 64 BE A1 | A+ 80.2 | A+ 80.5 281 83. 1 79.6 | A+ 78.8 52 BE | 44.2

2 (MM IEf0 39 FhE i 19.8 19.5 68 16.9 20. 4 21.2 14 FhE 4.6
EBR2K [N rEaEEs] 234,822 | #wmZasy | 131,500 | (56.0% [£iKERzh] 458 [#rmEuns] 110 | &= [ 74.7% |
No. ZiEE A % | F&S Rk B IEGEAHE | AEER ESE A7k ExE EEL |ZEGLEH BE | ZEER
1|[FR =iE 60 BE @1 | B 525 |B 544 186 576 53.3 39. 1 27 BE | 446

|2 B &= 58 uE £ | D 475 | D 45.6 156 42. 4 46.7 | A+ 60.9 42 uE | 141
EBETX [ARBEHEEZES] 268,636 | HEZ=HEH | 155,809 [ (58.0% [2AENRE] 438 [EHEURE] 131 [ &= [ 79.7% ]
No. ZiEE A % | F& sk BRouEn XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH BE | ZEE
1| Bz 77 BE B | A+ 64.1 | B 51.0 178 56. 2 48.8 30. 6 19 BR | 42.4

2 [BHERLF ¥ | 56 I i 35.3 | D 450 157 38.1 48.0 | A+ 66.1 4 uE | 16.2
Jleax ¥ % | 64 EE il 0.6 4.0 14 5.7 3.3 3.2 2 B 0.0
BE2K [ArBEEEES] 291,977 | HEFEEEEH | 172,266 | (59.0% [2AENRE] 481 [EHEEURE] 147 [ &= | 76.5% ]
No. =& A % | F& sk BRoeEn XBEGAHZE | HEHER EH ATk & € XELGL |ZEBECLEH By | XEE
18R E#® 11 BE | A+ 64.7 | A+ 62.2 229 61.7 62.5 | B 500 24 BRE | 49.6

2 [wx = 64 I b4 23.5 30. 2 11 29.9 30.3 | D 438 21 uE | 12.3
3lmE 1E— 50 $hE E3ii 11.8 7.6 28 8.4 7.3 6.3 3 $hE 6.9
[EL1 X [A=EFEESH] 365,071 [ HEFEEEESH [ 160,631 | (44.0% [EAEIRZK] 491 [iEsEAE] 226 | &E&%F [ 72.9% ]
No. ZiEE A % | F& sk BRocEH XBEGAZE | HEHER EX0 ATk & € XELGL |ZEBECLEH By | XEE
1[&8R —E&R 67 BE B1 | A+ 55.5 | A+ 56.1 201 63.0 50. 5 30. 4 17 BR | 46.4

2 [EE &N 35 I b3 34.8 36.9 132 30.2 42.3 | A+ 64.3 36 & | 104
J|BT ER 44 Ft7E E3ii 9.7 7.0 25 6.8 7.1 5.4 3 $hE 5.4
[@L2 X [A=EFEESHR] 289,715 | HEFEEREESH [ 147,755 [ (51.0% [EAEIRZK] 416 [iEmmEung] 158 | &E&ZFE [ 79.6% ]
No. ZiEE A % | F& sk BRocEn XBEGAZE | HEHER EH ATk & € XELGL |ZEBECLEH By | XEE
1TLF &3 56 BE B | B 531 | Cr 52.3 173 590. 4 47.8 27.5 14 BR [ 41.3

2 [ BN 50 IE g1 | D 46.9 [C- 47.7 158 40. 6 52.2 | A+ 72.5 37 wE [ 185
(FELW 3 X [N T=BEAEESH] 270,849 | Ewig=s% [ 150,240 | (55.5% [=fAEIRzk] 389 [#Eimmlwzk] 115 | ZE&= | 78.4% |
No. =& A % | Fh5 ik B ZEGAHE | HEER EH AR ExE TEGZL |ZEGLEH B | EER
1[mE &F X | 62 BE Br | C+ 39.0 | B 40.0 122 419 39.3 33.3 14 BE [ 41.5

4 [FBEZER 41 ®E # | ¢ 36.4 |[D 31.8 97 43.0 27.4 | A 476 20 BE 0.0

2 |#Hx % 73 YR £ 19.5 18.7 57 9.3 224 16.7 7 & | 16.6
JEB RF % | 65 Ft7E il 5.2 9.5 29 5.8 11.0 2.4 1 HE 7.0
SULHE

SR> A+IREE YI5HRAS ¥ FELER L AREEYI0~14 91 > FELY Bk & Y5~9 94 > FESLY CHiRAEY0~E 9IRS > FELY
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SHRER UMEERX) ¢ FA49ERRE B #F = 2021/10/20 01:35:28 A" -5 31

| 4 X | rBaEEESR] 382,318 | #EHEES [ 181,601 | (47.5% |2/KMEUREk] 446 [#EHEIREk] 189 | FELFE | 77.1% ]
No. BEEES | E#h Tk R XRHGAE | AERER EL AY 7k B | xEHLL [ZEaLEH By [XEs
1[Eex & 47 BE /i C+ 51.9 | C+ 49.1 169 553 448 29.3 17 BEE | 43.0

2 A EE 49 v i C- 47.4 | C- 47.7 164 41.8 51.7 | A+ 65.5 38 uE | 14.9
3|my = 63 EBE il 0.7 3.2 11 2.8 3.4 5.2 3 ®E 0.0

| 5 X | rBAEEESR] 263,191 | #EHEES [ 138,175 | (52.5% |2fKMEUREk| 438 [#EHMEIREk] 123 | FELFE | 82.6% |
No. BEEES % | E#h Tk R XRHAE | AERER EL AY 7k BE | xELL [ZEaLEH By [XEs
1|miE BE 65 BE /i A+ 70.4 | A+ 71.3 258 78.8 68.4 | A+ 70.0 28 BEE [ 50.1

2 lZt=&4 2 ¥ | 55 i 3 21.8 23.8 86 20.2 25.1 27.5 1 & | 151
J[XR FHf 64 $hE il 7.7 5.0 18 1.0 6.5 2.5 1 $tEE 5.4
[EE 1K [ARBEEEER] 332,136 | =% | 116,032 | (53.0% |[=AENRE] 547 [ESEIRE] 290 | &= | 83.7%|
No. BEEES 5 | E#h Tk R XRHAE | AERER EL AY R BE | xELL [ZEaLEH By [XEs
1R X 64 BE /i A+ 785 | A+ 86.7 397 89.9 837 | A+ 84.0 68 BE | 51.0
2|lxm = 55 HhE i 14.5 6.6 30 4.6 8.6 7.4 6 $tpE 3.8
3|lEm BF x| 51 #HE i 6.7 6.1 28 4.2 8.2 7.4 6 #HE 1.7
4| E=— 65 B bl 0.3 0.7 3 1.3 0.0 1.2 1 SEIR 0.0
IEE2K | A TEE#EES] 403,972 | #EREEH | 214,105 | (53.0% |={KEREK] 584 [#Errmunse 290 | L= | 75 5% |
No. BEEES | F#5 wik  [BEx#H IRHEAE | HEER EX Rk Bl | xEHLGL [ZEGLEH] R [ZEx
HE=IE:3 73 BRE i A 57.1 | A+ 63.9 282 69. 1 58.9 39. 7 25 BE | 52.4

2 [ K# Fx 40 IE i 42.9 36. 1 159 30.9 41.1 | A+ 60.3 38 % | 185
|EE3K | rBaE#EES] 360,196 | #HFEHEES [ 190,904 | (53.0% |2&KMEIREk] 447 |HEHEEIREK] 206 | FELFE | 68.7% ]
No. BEEES 5 | E#h Tk R XRHAE | AERER EL AY R B | xEHLL [ZEaLEH By [

2 [ &%k 69 /NER /i B 48.4 | C+ 45.9 141 46.5 455 30. 8 16 N 75
1547 Em%E [ % | 58 i Ein D 43.0 | C- 41.4 127 33.3 47.2 | A+ 59.6 31 uE | 12.5
3[R ER 57 HeH £ 5.4 10. 1 31 15.5 6.2 9.6 5 e 2.8
4RE FE 29 NE i 1.1 1.3 4 3.1 0.0 0.0 0 NE 0.3
5|kl & 73 3 £ 1.1 0.7 2 0.0 1.1 0.0 0 R 0.0
6|E@ =8 64 EE ol 1.1 0.7 2 1.6 0.0 0.0 0 ®E 0.0
IEE 4K [ARBEE#EER] 309,873 | HFEHEZ=EE | 164,233 | (53.0% [=AENRE] 468 [EEEInE] 203 [ &= | 72.0% |
No. BEEES | E#h Tk R XRHAE | AERER EL AY R BE | xHLL [ZEaLEH By [XEs
1[Hs Ex 46 BE /i A 40.8 | A+ 53.7 181 52.6 54.5 | C+ 32.1 18 BE [ 51.1

2 |E% EA 39 - 3 30.6 23.4 79 24. 4 22.8 | c+ 32.1 18 ME 9.4
J|ZER WE 57 Hew T 18.5 1.6 39 13.3 10.4 | D 26.8 15 e 3.0

4 ) Bl 51 ®E T 10. 2 1.3 38 9.6 12. 4 8.9 5 EE 0.0
|EE5K | A TEE#EESR] 242,278 | #EiREESH | 128,407 | (53.0% |={KERER] 404 [#Emunse 122 | #Z£%= | 73.8% |
No. BEEES % | F#5 wik  [BExH IRHEAE | HEER EX AY R Bl | XEFLGL [ZEGLEH] R [ZEs
ETDE: 63 BRE i A+ 70.2 | A+ 69.5 207 69.5 69.5 | C+ 51.5 17 BE | 50.8

2 |B AT R ER 51 T i 29.8 30.5 91 30.5 30.5 | c- 485 16 5= | 12.7
SUYHE

SR> A+ RS & Y15RA 2 RELEE L AREEYI0~14 91 > FELY Bk & Y5~9 94 > FESLY CH A& Y0~a R4 ¥ FELY
{2 BT C-: 12k Y0~4a. 97RA >~ FMEL D: 1z k Y5~9. 97RA > MMELY EN: 142 & Y101 > MMEL

MK UIHERFNMEAEIHUTIEOTHELTVWET,



2021/10/20 01:35:28 A" =% 32

CHREEY0~4. 97K > FFEL

ORER UNMEERX) ¢ FA4oMRHE £ B X
[EE6 X [A=BFEEEZES] 294,525 | HEFEEEES [ 156,098 [ (53.0% [2AERE] 452 [E=EURE] 156 | &= | 75.9% ]
No. EREL | E#h Tk R XRHAE | AERER EL AT BE | XELGL [ZEGLEHR] BE [XBEE
1T/hEe ®WX 71 BE i 4374 [ C+ 50.4 173 57.3 46.9 21.6 11 BRE | 47.1
2 [tk 4NA 62 uE 1 | A 56.6 [C- 49.6 170 42.7 53.1 | A+ 78.4 40 & | 13.5
[EE 7K [A=EFEESH] 382,679 | HEFEEES [ 202,820 | (53.0% [EAEIRZK] 478 [iEmmEuns] 226 | &% | 81.0% ]
No. ZiEE A % | F& sk BRouEn XBEGAHZE | HEHER EH ATk & € XELGL |ZEBECLEH By | ZEE
1% =8 38 BE B | A+ 59.4 | A+ 67.2 260 76. 7 50.5 | A+ 69.8 37 BHE | 48.9
2 £ het 45 uE 3 29. 4 26. 1 101 19.8 31.2 24.5 13 aE | 131
3 [#t3 BAZE x| 73 FtpE 3 10.2 5.9 23 2.9 8.4 5.7 3 $hE 3.9
4 |BX et ¥ | 48 3 Eoil 1.0 0.8 3 0.6 0.9 0.0 0 ®E 0.0
(WO 1K [A=BFEEEZES] 357,647 | HEEEEES [ 194667 | (54.4% [2AERE] 406 [E=EURE] 186 | E&= | 74.1% ]
No. EREL | E#h Tk R XRHAE | AERER EXT AT BE | XEHLGL [ZEGLEHR] BE [XBEE
Tled EX 50 BE a1 | A+ 71.5 | A+ 74.8 225 71.0 776 | D 462 18 BE [ 55.0
2|k —t 48 E il 28.5 25.2 76 29.0 224 | B 53.8 21 IE 8.7
[LO 2K [A=EFEEESHR] 284320 [ HEFEEES [ 153,192 | (53.9% [EAEIRZK] 435 [iEmmEans] 145 | &E&%=E [ 77.2% ]
No. ZiEE A % | F& sk Rt XBEGAE | HEHER EH ATk & € XELGL |ZEBECLEH BE | ZEE
EREES 62 BE B | A+ 73.9 | A+ 77.4 260 79.3 76.4 | C+ 51.7 15 BE | 57.7
2 [mAm —& 64 FhE il 26. 1 22.6 76 20.7 23.6 | c- 483 14 F7E 4.9
(LB 3K [AREEEES] 256,487 | HEIREHEHK | 142,427 | ((55.5% [ZMAEIRE] 390 [EZEURE] 106 | ZFR=E | 84 4% ]
No. BEEES FRESS Sk R Xhna= | REREE EX AT R BEE | XELL [ZECLEHR] BE [ZBEX
1%  FE 60 BE I | A+ 71.3 | A+ 83.0 273 86. 2 81.8 | A+ 75.0 24 BE [ 61.5
2 [iIiAx $=F x| 66 Vg i 28.7 17.0 56 13.8 18.2 25.0 8 = 9.3
[LO4 X [ARBEEEER] 245493 [ HFEHEZEEE | 141,379 | (57.6% [=AENRE] 417 [ESEEIER] 102 | 2= [ 77.7%
No. EREL | E#h Tk R XRHAE | AERER EL AT BE | XELGL [ZEGCLEHR] BE [XBEE
1&g &= 67 BEE a1 | A+ 77.2 | A+ 731 237 747 72.6 | C+ 40.7 11 BE [ 58.3
2 [7rFt ®mA 49 ng # 221 14.2 46 13.8 14.3 | - 37.0 10 ng 0.8
3|XH EmF x| 47 EBE Eii 0.7 12.7 41 11.5 13. 1 22.2 6 &\ 0.0
[EE1TX [S=EEEEZE] 362 /53 | Haim==s | 174 121 | ( 48 0% |EAEIRE| 428 [Ee=mnE] 203 | &= | 77.6% ]
No. EREL | E#h Tk R XRHGAE | AERER EL AT BE | XEHGL [ZEGCLEHR] BE [ZXBEE
1 [BEREHM 52 BE Bl C+ 45.5 | C+ 43.4 144 45 4 4.7 288 17 BE [ 45.8
=K #Bx 55 ®E T C+ 45.5 | C- 41.6 138 38.8 43.9 | A+ 54.2 32 ®E 0.0
2 (@ st x| 46 e b0 8.4 12.3 41 13.8 1.1 1.9 7 e 6.7
4 liEE 78 73 EE bl 0. 2.7 9 2.0 3.3 5.1 3 = 0.0
[EE2K [AREEEER]_ 261 108 | BeBR=2% | 112.2/6 | (43 0% |ZABIRE] 421 [EeElRE] 106 | &&= | 14 3%]
No. BEEES FRESS Sk R Xhna= | AERER EX AT R BEE | XBLL [ZECLEHR] BE [ZBEX
TIho &— 71 BE A1 | A+ 52.8 | A+ 62.3 195 63.2 62.0 | A+ 56.8 21 BE | 440
2 [hEBEHmE | 50 IE i 37.7 31.6 99 32.4 31.4 32.4 12 & | 131
3Ag =2 58 $hE bl 9.4 6.1 19 4.4 6.5 10. 8 4 F7E 5.1
SULHE
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EIS [ARBEE#EER] 313,679 | HEHZ=EE | 166,250 | (53.0% [=AENRE] 422 [EEEInE] 201 [ &= | 80.1% |
No. ZiEE A % | F&S R/h% Bt IRGEHE | AERE ESE ATk ExE EEL |ZEGLEH R | ZEER

2 [N iEw 50 SE B1 | C+ 48.2 [ B 49.1 166 46.0 520 | A+ 67.9 38 & | 15.1
1|1FEH#H &4 63 BR #r | c- 46.3 D 40.8 138 41.1 40.6 23.2 13 BR | 41.7

3 |/ IEF ¥ | 62 3 Eii 10. 1 34 12.9 7.4 8.9 5 #n 3.6
EAS [ RBEEZS] 258,900 | HEE=E%H | 137,222 | (53.0% [2AEIRE] 404 [ESEURE] 142 | &= | 19.2%]
No. 1ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER

2 |EARME—ER 52 EE Bl | A+ 61.5 | A+ 59.4 190 62.8 57.5 | A+ 86.7 39 EE | 13.6
|1 [ F  BE— 56 BR T 38.5 40. 6 130 37.2 42.5 13.3 6 BR | 46.7
EIES [AREHEEEZSH] 240,348 | HEEIZ=E% | 127,384 | (53.0% [2AENRZ] 380 [HE=mEIRE] 123 | ZF&= | 68.4%]
No. BEER FAETS Ik PR XmaAe | REfmR EX A<k BE | xBELL [ZEGLEH] BR [ XEE

T | REFERAER 53 BE Bl | A+ 76.0 | A+ 76.9 200 80.8 75.3 | A+ 68.4 26 BE | 49.1

2 |[RisE—Ep 70 HhE i 24.0 23. 1 60 19.2 24.7 31.6 12 $E 3.3
EEIR [AREFEEZESH] 386,483 | HEriz=&% | 170,053 | (44.0% [2@EEIRE] 475 [EwmEiE] 227 | Z&= | 714.5%]
No. =& 2 % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH B | ZEER
1B A 45 BE 2 | A+ 60.0 | A+ 66.9 237 69. 7 64.6 | C- 49.1 28 BR | 445

2 KR BRER 46 SNE i 40.0 33. 1 117 30.3 35.4 | ¢+ 50.9 29 & [ 11.6
EE2X [ARBEEZS] 249,649 | HEE==%% | 112,342 | (45.0% [Z2AEIRE] 403 [ESEURE] 113 | &= | 68.2%]
No. ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEELEH BE | ZEER

T & Eas—ER 69 | BE A1 | A+ 57.3 | A+ 61.8 170 70. 7 58.0 | A+ 57.9 22 BR | 49.0
J|lEH =B % | 53 EE b 9.4 25.8 71 22.0 21.5 36.8 14 EE 0.7

2 |A5E B 62 $iE i 33.3 12.4 34 7.3 14.5 5.3 2 $iE 3.5
[EE3IX [ARBEEZS] 260,854 | HEEE==%% | 119.993 | (46.0% [Z2AEINE] 343 [ESEURE] 95 | &= | 81.9%]
No. ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEELEH BE | ZEER
T|HER 1§ 57 BE % | C+ 50.6 | G+ 52.3 147 54.8 51. 4 33.3 14 BER | 45.9

2 B/ - 58 M g | Cc- 49.4 | ¢ 47.7 134 45,2 48.6 | A+ 66.7 28 wE | 15.5
EE4X [ArEEEES] 247,206 | HEFEEEH | 138,435 [ (56.0% [2AEURE] 379 [EHEURE] 100 | &= [ 80.7%]
No. BEER FREER Ik PR XmaAe | REfR EX 2k BE | xBELL [ZELGLEH] BR [ XEE
TIESNE= 53 BR 2 | A+ 54.3 | A+ 52.9 162 647 49.6 22.0 11 BE | 49.4

4 (WM TR 56 ®E T 36.2 36.9 113 29. 4 39.1 | A+ 64.0 32 3 0.0

2 [@EH EA 64 $hE o0 7.2 7.5 23 4.4 8.4 12.0 6 $hE 2.7

3 e FA 59 R b 1.4 2.3 7 1.5 2.5 2.0 1 B 0.0

5 |gTE  BEk 67 ®E il 0.7 0.3 1 0.0 0.4 0.0 0 ®E 0.0
RS [ArEFEEZESH] 311,398 | HEriz=+% | 155699 | (50.0% [2@AEURE] 433 [EwmErE] 143 | &= | 78.5%]
No. =& A % | Fh5 ik B ZEGAHE | HEER E ATk &5 TEGZL |ZEGLEH B | EER
T8 = 64 BE a1 | A+ 70.0 | A+ 64.1 218 63. 1 64.6 | B 531 17 BR | 471.2

2 |[KW BIS 63 iuE ] 27.9 32.6 111 32.4 328 | D 43.8 14 &2 | 1.7
3|he EEA 42 NE i 2.0 1.8 6 2.7 1.3 0.0 0 NE 0.2

4 A k= 86 EE il 0.1 1.5 5 1.8 1.3 3.1 1 #E 0.0
SyHHE

<14 AR K YIGRA > FUIEFL AREEYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY C+H:RE&KY0~4.97RA > FE WL
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CHREEY0~4. 97K > FFEL

(B2 K [ARBEEEER] 288,445 [ HFEHZEEE | 167,298 | (58.0% [=AENRE] 423 [EEEInE] 136 [ &%= | 89.1% |
No. | BEEES 4 | E#h Tk R XRHAE | AERER E=H AY 7k B | xEHLL [ZEaLEH By [XEs
1Bl FE 54 BRE E7 A+ 62.8 | A+ 61.3 231 71.9 56.7 | B 524 33 BEE | 41.3
2|EH  — 53 v i 36. 8 37.7 142 27.2 422 |[D 460 29 iE | 13.5
3| EHEE—8R 52 N E ol 0.5 1.1 4 0.9 1.1 1.6 1 N [E 0.6
&1 X | rBAEEES] 454,581 | HEHEES [ 204,561 | (45.0% |2&MEUREk] 677 |MEHEEIRE] 402 | FELFE | 67.9% |
No. BEEES | E#h Tk R XRHAE | AERER EL AY 7k BE | xELL [ZEaLEH By [XEs
T[HE &7& 59 BE /i A+ 475 | A+ 54.8 252 63. 7 447 29 4 20 BEE | 45.6

2 |lEm 0B 37 i Ein 30.0 25.7 118 18.0 3.4 [ A 441 30 IE | 111
3|R# mE 35 $hpE £ 7.5 10.4 48 7.8 13.5 14.7 10 $hpE 5.8

4 luAx  RIE 49 e T 15.0 9.1 42 10. 6 7.4 11.8 8 bt 2.6
EE2K | A TEE#EES] 450,360 | #EFREESH | 247,698 | (55.0% |={KEIRER] 683 [#Ermuns| 388 | &= | 76. 7% |
No. BEEES FRETS TRk Rk XEGAE | AERRE EX AY R Bl | xEFLGL [ZEGLEH] R [ZEx
T[RK = 49 BRE i C+ 49.1 | C+ 46.6 244 50.5 11.6 27.3 24 BE | 44.2

2 g #B= 51 IE 0} C- 44.2 | C- 46.2 242 41.3 52.4 | A+ 65.9 58 sE | 141

3 |HB £37 50 e il 6.7 7.3 38 8.2 6.1 6.8 6 Mo 2.1
EE3E | A TEE#EESR] 444,234 | #FEREESH | 226,559 | (51.0% |={KERER] 673 [#Eimunse 388 | Z£%=E | 69.5% |
No. BEEES FRETS TRk R XEGAE | AERRE EX AY R Bl | xEHLGL [ZEGLEH] R [ZEx
1[5 & 49 BRE i A+ 58.2 | A 55.3 259 57.2 526 31.8 27 BE | 41.5

2 liN B 48 i B 41.8 44.7 209 42.8 47.4 | A+ 68.2 58 & | 13.5
EEMIZ | rBaE#EESR] 370,162 | #EHEES [ 199,887 | (54.0% |2fKMEUREk] 520 [#EHEIRER] 245 | FELFE | 75.6% |
No. BEEES | E#h Tk R XRHAE | AERER EL AY R BE | xEHLL [ZEaLEH By [XEs
ELRREE 59 BE /i A+ 50.0 | A+ 49.4 194 57 5 46. 8 322 19 BEE | 46.3

2 |FBAEKRER 43 - 3 30.0 30.3 119 25.4 34.3 | A+ 49.2 29 uE | 1.7

3 (BER  BhtE 59 Hew i 15.0 17.8 70 20.9 15.3 16.9 10 e 3.1

4 MR ER 68 #HE bl 5.0 2.5 10 1.1 3.7 1.7 1 #HE 1.3
EEsX [N TEAEES] 455,650 | Ewig=ss | 223,269 | (149.0% [£fA&EMREk] 600 [EmEwzk] 345 | &= | 63.7% |
No. BEEES | F#5 wik  [BExH IRHEAE | HEER EX Rk Bl | xEFLGL [ZEGcLEH] Br [ZEx

2 [ »Eo % | 61 T E7 440 | C+ 51.6 197 49. 1 55.0 | A+ 718.8 63 & | 13.3
1|E@E %M 77 BHE Bl A 56.0 | C- 48.4 185 50. 9 45.0 21.3 17 BE | 41.3
EEeX [ARBEAE#EESR] 375,285 | HEEHZ=EE | 116,384 | (47.0% [=AENRE] 475 [EEEIRE] 203 | &%= | 76.0% |
No. BEEES 5 | E# Tk R XRHAE | AERER EL AY R BE | xHLL [ZEaLEH By [XEs
1T[REl =BR 42 BE /i A+ 640 | A+ 63.2 228 63. 4 63.0 | A+ 543 25 BEE | 48.9
2|mm & 60 - 3 21.0 23.3 84 25.5 21.8 26. 1 12 e | 11.6

3 [@%  —3h 49 s i 10.0 8.0 29 4.1 10.6 15.2 7 FtE 4.8

4 (B A 52 NE i 3.0 3.3 12 5.5 1.9 2.2 1 NE 0.8

| 5 483k =83 74 B Eoii 2.0 2.2 8 1.4 2.8 2.2 1 #BE 0.0
(& 7 X [ATEHEEESH] 289,613 | #EwigEss | 159,287 | (55.0% [&fkElzk| 425 [ExmElnsk] 136 | 4= [ 75.1%
No. ZiEE A % | FH& sk BRocEH XBEGAZE | HEHER EH AYR & € XELGL |ZEBECLEH By | XEE
HEZE: 61 BE Al A+ 59.5 | A+ 58.3 186 641 55.6 | D 46.9 15 BE | 47.4

2 |BEX RIE 50 IE i 40.5 41.7 133 35.9 44.4 | B 53.1 17 iE | 18.8
SUYHE

<1 D A+ RS E Y158 A > RELES LY X5$UW~M9+4JFHU Bk & Y5~9 94 > FESLY

{2 BT C-: 12k Y0~4a. 97RA >~ FMEL Lk YB~9. 9 A > RELY SEN - 143 & Y107 A > MMELY
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CHREEY0~4. 97K > FFEL

OIER UMEERX) ¢ F40MRE # B X
EEsK [AREEEER] 349,914 | Eem==% | 199.485 | (57.0% [Z@AEIRE] 429 [EemIRE] 188 | &% | 714.1%]
No. BEREZ [ ER | wik R Xhas= | et | =8 A3k | BEE | XEAL [ZELGLER| Be | XEE
T[RE AR 81 | BE | m1 | A+ 65.3 | A+ 67.0 213 73.6 61.5 | A+ 56.7 17 BE | 45.2
3 |KEAMB 60 ng # 18.3 16.7 53 15.3 17.8 23.3 7 ng 2.8
2 A% BT x | 41 HiE # 16. 4 16. 4 52 11.1 20.7 20.0 6 HiE 4.7
BE 9 X [AREEEERK] 381,092 | Eem==% | 199.997 | (52.5% [ZAEIRE] 460 [EwemIRE] 215 | &% | 711.2%]
No. BEREZ [ ER | wik R Xhas= | e | =8 A3k | BEE | XEAL [ZELGLER Be | XEE
TIER HE T4 | BE | &1 | C+ 43.6 | Cr 45.7 164 541 39.1 18.9 10 BE | 422
3 [EHMAE 48 ®=E 5t | c- 41.0 |c- 40.9 147 33.8 46.5 | A+ 67.9 36 m 0.0
2 |lHEE &= 58 HiE 5T 15. 4 13. 4 48 12.1 14,4 13.2 7 HiE 8.3
BE10K [AREEEERK] 409 122 | Eem==% | 199.979 | (48 9% [ZAEIRE] 475 [EeEIRE] 263 | &% | 69.7%]
No. BEREZ [ ER | wik R Xhas= | e | =8 A3k | BEE | XEAL [ZELGLER Be | XEE
L& == 73| BE BT | C- 43.6 |B 502 166 547 447 18. 2 8 BE | 44.0
2 Hi3EF o= 48 uE 7 | o+ 46.2 | D 41.4 137 34.8 49.3 | A+ 70.5 31 E | 111
3|mE EhE 59 #a # 10.3 8.5 28 10.5 6.0 11.4 5 #a 3.5
BE1IX [AREEEER] 257,525 | Eem==% | 144,987 | (56 3% |ZAEIRE] 438 [EwmIRE] 137 | &% | 71.5%]
No. BEREZ [ ER | wik R Xhas= | e | =8 A3k | BEE | XEAL [ZELELER] Be | XEE
T[EKE BX 53 BRE BT | A+ 57.6 | A+ 550 175 62.5 53.0 | C+ 44 1 15 BE | 47.3
3L =E 52 ®mE # 26.8 26.5 83 22.9 28.1 | c- 41.2 14 m 0.0
2 | BF x | 68 #HE b 15.7 17.6 55 14. 6 18.9 14.7 5 #HE 2.9
EE 1R [AREEEERK] 334,156 | Eem==% | 187,127 | (56 0% [ZAEIRE] 508 [EwEIRE] 190 | &% | 82.1%]
No | EHEL [ ER | wik R Xhas= | et | =8 A3k | BEE | XEAL [ZELGLER| Be | XEE
2 (R0 —i& 62 NE ] 11.8 | C+ 50.4 210 459 52.8 | A+ 71.4 55 ST | 20.7
1|&2m f#ng 48 BE a1 | A+ 88.2 | C- 49.6 207 54, 1 47.2 28.6 22 BE | 45.1
[(EE 2 X [ArBFEEESR] 341,407 [ HEFEEEZES [ 201,430 [ (59.0% [=A&ENRZ] 388 [EwENRzk] 127 | F&= [ 79.6% ]
No. BREZ E [ Z8 | vk [P Xhade | ieake | =% 22k | B | XBLL ZEALEE] Be | XEE
2| KE S 56 TE BT | C+ 51.6 | C+ 51.5 159 45 4 54.7 | A+ 68.2 30 SE | 19.4
AL 63 BR a1 | C- 48.4 | c- 48.5 150 546 45.3 31.8 14 BE | 47.5
EB X [AREEEE®R]_ 335,016 | Erem=&% | 167,508 | (50 0% |ZAEIRE] 443 |[Eeming] 170 | Z&%E | 718 1%
No. BEREZ [ E8 | =ik R Xhase | iefe | =8 A3 | B | xBAL [ZELELER Be | XEE
3@ BF X | 57 EE B 9.6 | C+ 46.8 162 4.8 50.0 | A+ 64.4 38 EER 5.0
1 [f#tsm— 42 EI | B 48.2 |C- 44.8 155 54.5 38.7 32.2 19 BE | 39.8
2 |&RT T x | 44 H£iE w | D 422 8.4 29 3.7 11.3 3. 2 HiE 5 1
EBzK [AraAEER] 294003 | HeE=a% | 152,928 | (52.0% [ZAEINE] 397 [EeEIRE] 119 | &% | 68.6%]
No. BEREZ &8 | ok |G XhaAhe | iakE | =% A3t | B | xBAL [ZELELER Be | XEE
1|k = | BR % | A+ 625 |B 53.2 143 63.9 47.2 28.0 7 BE | 42.8
2 |IFE  E— 47 T E B 37.5 | D 46.8 126 311 528 | A+ 72.0 18 i | 18.8
Sy E
<14 A REEYIGRA Y FUEFWN AREEYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY
<26 C-: 16k Y0~4. 97R1 > MELY D:ilfiik Y5~9.97R41 > MELY BN L WI0ARA > MMELY
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CHREEY0~4. 97K > FFEL

[EB3X [A=BFEEEZES] 237,188 | HEEEES [ 132,825 | (56.0% [2AERZ[ 385 [E=mEURE] 99 [ E&= | 74.3%
No. ZiEE A % | F&S Rk B EGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
T[&I #h— 30 BE A1 | A+ 51.1 | C+ 44.4 127 544 41.3 21.9 7 BE | 49.1

2 | mE 42 uE # 30.1 | C- 40.9 117 32.4 43.6 | A+ 56.3 18 & | 17.3

4 |um\ @ 51 BE b 15.0 12.2 35 8.8 13.3 18.8 6 mig 0.0
J|lER =2 52 SR il 3.8 2.4 7 4.4 1.8 3.1 1 SR 0.0
[EEax | A TEE#ZEESH] 250,664 | #EFEREESH | 130,345 | (52.0% |={KERER] 420 [#Emunse] 112 | #2£%= | 72.1% |
No. =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGEL |ZEGLEH B | ZEER

2 [R&x B/— 58 | x= 2 | C- 40.7 | C+ 44.2 134 37.5 46.3 | A+ 58.6 17 T®E | 13.7
1|38 wHE 74 BR g1 | o+ 44.4 | Cc- 43.6 132 54.2 40.3 27.6 8 BE | 52.6

4 [wE  E 61 S i 1.1 9.2 28 5.6 10.4 13.8 4 ®E 0.0
3|me mEh 78 ERE il 3.7 3.0 9 2.8 3.0 0.0 0 B 0.0
EBEEIR [ArBEEES] 422,157 | HEFEEEER | 236,408 [ (56.0% [2AEURE] 636 [EHEURE] 343 | &= [ 70.4% ]
No. ZiEE A % | F& sk BRocE XBEGAHZE | HEHER EH ATk & € XELGL |ZEBECLEH By | ZEE
T[RKE #® 52 BE BT | A+ 62.2 | A+ 66.7 299 70.0 62.9 | A 56.6 43 BE | 47.8

2 [(ER K& 51 VE il 37.8 33.3 149 30.0 37. 1 43. 4 33 8 | 12.0
Ex2K [AREEEER]_ 314622 | EeR=2% | 188 773 | (60 0% [ZAEIRE] 513 [EwmlRm] 179 | &&= | 82 1%]
No. =& % | Fh5 ik B ZEGAHE | HEER E 2Tk EE TEGZL |ZEGLEH B | ZEXR
J|[EEH A= 13 ER | A+ 52.0 | A+ 56.3 237 56. 4 56.2 | A+ 71.6 48 EE 0.0
158E 2 80 BE A 34.0 32.5 137 32.9 32.4 17.9 12 BE | 43.9

2 |iE@E = 66 FhE i 14.0 11.2 47 10.7 11.4 10. 4 7 F7E 3.7
EEA3RX [AT=BEAEESH] 315,709 | #wig=ss [ 173,640 | (55.0% [=fAEIRzk] 468 [#EmExzk] 169 | ZE&= | 73.3% |
No. =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGEL |ZEGLEH B | ZEER
1TRA E& 70 BE a1 | A+ 70.0 | A+ 69.1 237 73.9 66.8 | A+ 64.3 18 BE [ 50.3

2 (B i 70 #HE b 25.0 26. 2 90 21.6 28. 4 35.7 10 #HE 1.7
3|AR3 BAF x| 40 NE bl 5.0 4.7 16 4.5 4.7 0.0 0 NE 0.5
EF4X [AREEEESR] 404 715 | HEEREEHK [ 214499 [ (53.0% [2AEUREK] 441 [EZEUREK] 186 | ZFRE | 15 1%
No. =& A % | Fhs ik B ZEGAHE | HEER E AR ExE TEGEL |ZEGLEH B | ZEER
EEE YA 60 BE Br | A+ 62.9 | A+ 71.9 240 743 70.2 | A+ 58.0 29 BE | 52.4

2 | Hz 61 Vg Bl 37.1 28. 1 94 25.7 29.8 42.0 21 & [ 100
KD 1R [S=EEEEZE]| 2386 410 | HExim==% | 197,069 | (51 0% |EAEIRE] 493 [EemiE] 235 | =&= | 77 71%
No. ZiEE A % | F&S TR R i%wﬁT REHE ESE ATk ExE EEL |ZEGLEH BE | ZEER
1[e8 &F X | 33 BE 7 40.1 | C+ 44.1 169 50.0 39.2 29.3 17 BE | 43.8

4 [FR WA 63 ®E i B 46.9 | c- 43.6 167 39. 1 47.4 | A+ 60.3 35 ®E 0.0

2 WwF 44 $iE i 9.4 9.7 37 6.9 12.0 6.9 4 $hE 4.1

3 |Brp Emx x| 25 NE £ 2.6 2.1 8 2.9 1.4 1.7 1 NE 0.2
b= EE 43 ERE E3ii 1.0 0.5 2 1.1 0.0 1.7 1 B 0.0
x5p 2K [A=EFEEESH] 268, 164 | HEFEREES [ 166,262 | (62.0% [EAEIREK] 377 [EamEdng] 108 | &% | 78.8% ]
No. ZiEE A % | FH& Tk |BaH| IEGAE | AEER EH ATk & € XELL |ZEBECLEH By | XEE
2B 55 TR B | C 484 |B 52.9 157 49 4 54.3 | A+ 69.7 23 SIE | 17.6

1 | TR 1E BB 80 BR g | c+ 51.6 | D 47.1 140 50. 6 45.7 30.3 10 BR [ 43.6
SULHE

<14 AR K YIGRA > FUIEFL RELZYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY

{2 BT C-: 16k Y0~a. R4 > FELY D: 1Tk Y5~9. 94 > KIEL RN 1Rk Y1044 > MMEL
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ORER UNMEERX) ¢ FA4oMRHE £ B X
(X2 3K [A=BEEEH[ 302,400 | Hxie==2% | 166,320 | (5500 |2HEIRE] 441 [Ew=ElRz] 158 | Z2& | 15.3%]
No. 1ZiEE A % | F&S Rk B EGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
T[BEE % 64 | BE BT | A+ 61.5 |A 566 188 59. 3 55. 3 39.0 16 BE | 43.6
2 ik = 77 ME Bil 38.5 43.4 144 40. 7 44.7 | A+ 61.0 25 & | 16.0
(EiE1X [A=EFEEESHR] 354802 [ HEFEEESH [ 184497 | (52.0% [EAEIRZK] 470 [iEmmEns] 184 | &&= [ 78.7% ]
No. BEREEL | &Ef | ok [ XonAhe | Aehk EX 2k B | XBAL [ZRELER] Be [ ZEE
2 [BiD Al 44 uE 2 | C- 31.0 |A 38.9 144 31.5 42.9 | A+ 49.3 36 SI= | 13.8
1|R# ©E 46 EJ: g7 | C+ 32.0 27.0 100 28.5 26.3 11.0 8 AR | 41.4
4 |mn BF % | 64 ®E #w | D 240 20.5 76 21.5 20.0 28.8 21 ®E 0.0
KL 45 He5r i 13.0 13.5 50 18.5 10.8 11.0 8 e 2.6
[EB 2K [A=BEEER] 234,028 | BEemEE% | 117,014 | (50.0% |=AEIRE] 453 [Ew=mnzk] 121 | &% | 66. 7%
No. ZiEE A % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEGLEH BE | ZEER
T[IE # 61 | BE B | A+ 60.0 | A+ 659 199 64.5 66.5 4.5 17 BE | 44.8
2 | Bk 1EA 44 EE i 40.0 34.1 103 35.5 33.5 | A+ 585 24 EE 3.5
(EiE 3 X [A=EFEESR] 274322 | HEEEEH [ 134418 | (49.0% [&AEIRZ%] 356 [EmmEuns] 92 | &%= [ 80.6% ]
No- BEREEL | &Ef | ok [ XonAhe | Aahk =K 2k B | XBAL ZRELER] Be [ ZEE
HEIIEA 56 BE BT | A+ 80.0 | A+ 78.4 225 76.9 78.8 | A+ 81.3 26 BE | 55.6
2 liwk B 60 HE o 18.0 16. 4 47 15.4 16.7 18.8 6 HiE 2.5
3 |EEAEE 34 NE 3 2.0 3.8 11 6.2 3.2 0.0 0 NE 1.1
4 |mniE  EiE 53 mE il 0.0 1.4 4 1.5 1.4 0.0 0 #E 0.0
BERE 1K [ARBEAE#EES] 358,559 | HEwiZ==% | 179,280 | (50.0% [={AENRE] 532 [ESEInz] 228 | #&= | 72.2% |
No. ZiHE R % | F&S Rk B IEGEAHE | AEER ESE ATk ExE EEL |ZEELEH BE | ZEER
N A B8R BT | C- 49.0 |B 53.4 205 54,6 52.4 32.8 21 BE | 45.3
2 Il 59 ME g7 | c+ 51.0 | D 46.6 179 45,4 47.6 | A+ 67.2 43 sz | 16.4
BERE2KX [A=BEEEH]_ 337,660 | HEwia==% | 185 713 | (55.0% |EAEIRE] 486 &=k 151 | F&%E | 11.4%]
No. BEREEL | &Ef | ok [ XonAhe | Aehk =K 2k B | XAl ZEELER] Be [ ZEE
NEEFEES 74 BE B1 | C- 440 |B 46.7 162 51.4 44.5 31.0 13 BE | 51.4
3|=RE I 63 ®E # | ¢+ 46.0 | D 38.0 132 36.7 38.7 | A+ 52.4 22 = 0.0
2 iy BH= % | 63 $HE i 10.0 15.3 53 11.9 16.8 16. 7 7 i 4.6
[EEE3X [AREEEER]_ 319.010 | Hrem=%% | 191,406 | (60.0% |ZAEIRE] 454 [EwEIRE] 136 | Z&%E | 80.2% ]
No | BRER | &EE | ok [ XonAhe | Aahk EX 2k B | XBAL ZRELER] Be |[ZEE
2 |5 &2 63 uE 5T | C- 49.0 [A 560 204 54.7 56.6 | A+ 855 53 SIE | 14.3
1]/hE &8 63 BE g7 | C+ 51.0 44.0 160 45.3 43. 4 14.5 9 BE [ 47.1
[ERE4X [AREEEER] 326,336 | Bam=a% | 116221 | (54 0% |ZAEIREK] 407 |[Eeming] 143 | Z&%E | 15 2%
No. =& A % | Fh5 ik B ZEGAHE | HEER E AYR ExE TEGZL |ZEGLEH B | EER
HETTEES 76 BE i 22.4 | A+ 70.3 215 70. 2 70.3 | B 543 19 BE | 50.5
2 |k E=F x | 58 #HE wm | A+ 76.9 26.8 82 25.5 27.4 | D 457 16 #HE 3.3
3= EE 48 N E il 0.7 2.9 9 4.3 2.4 0.0 0 N E 0.7
SyoHE
<14 AR K YIGRA > FUIEFL AREEYI0~14.9R4 > FEL B:REKYLS~9.97RA > FELY C+H:RE&KY0~4.97RA > FE WL
<26 C-: 16k Y0~4. 97R1 > MELY D:ilfiik Y5~9.97R41 > MELY BN L WI0ARA > MMELY
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FEIR [SrBAEER] 260,440 | HeiR==2% | 136,909 | (51.0% [ZAmEINZ] 508 [EemIREK] 136 | &%= | 84.8%]
No. BEREL | Eh | wk_ [Bah Shadhe | IERE | =5 22k | BEE | ZBLL ZELGLEE| Be | XEE

2 |FE BB 73 £ B | Cr 39.5 | A 49.0 211 350 53.4 | A+ 62.8 49 HiE | 12.6

1 |Bi5E2 B 48 HE a1 | c- 388 36.9 159 49.5 32.9 23.1 18 BER | 33.2

4 | THh ERER 60 EE ) 21.6 13.7 59 14.6 13.4 12.8 10 g 0.0
J|EH KRXx 69 IR E3il 0.1 0.5 2 1.0 0.3 1.3 1 EEIR 0.0
(A2 X [A=OAEEER] 204945 | BrE==% | 153.371_| (52.00 |=AEIRE] 418 [EemIEk] 125 | Z&%E [ 19.71%]
No. BREL &l | ok P Xhore | Ieke | =8 22k | BEe | XBLL [ZELLEE| Be | XEEX
3|HE B 65 #E | Zr | A 50.0 | A 535 178 32.3 61.7 | A+ 69.4 13 #E | 12.3
1|E8% BA 56 BE ) 40.0 39.0 130 55.9 32.5 21.0 13 BE 28.5

2 W = 51 HeE # 8.7 6.3 21 9.7 5.0 8.1 5 HEH 2.2

4 |bK =t 4 N E # 1.3 1.2 4 2.2 0.8 1.6 1 NE 0.2
(FE3 K [ArEAEER] 316,180 | Hem==2% | 158.000 | (50.0% [ZAmEINZ] 416 [EeEIRE] 110 | Z&% | 78.8%]
No| Emes EER | =k iy Zhadhe | IERE | Z5 Z2h | _EE | XELGL ZBELLEE] Be [XBE

2 |ER Eitg 59 IE Bl B 54.2 C+ 52.1 17 36.9 57.4 A+ T77.8 35 a3 17.4

1 [eR%EF x | 56 BE g | D 458 | Cc- 47.9 157 63. 1 42 6 22 2 10 BE | 33.3
(A X [ArOREER] 295619 | BrBR=a% | 153,722 | (52.0% |[2AEINEK] 464 [BEemE] 117 | &% | 771.8%)
No. BREL &l | ok Parh] XRhore | Ieke | =8 Z2E | BEe | XBLL [ZELLEE Be | XEEX
BEEITEES 67 | BE | @1 | C+ 51.4 |B 52.9 191 66.3 48.7 26.8 15 BE | 353

2 | & # 68 I il C- 48.6 D 47.1 170 33.7 51.3 A+ 73.2 41 IE 12.0
S HE

<16 A RAE L YI5HRA > FELER L ARAE & Y10~14. 97K A > FELY BiR & Y5~9. 97KA > RE LY CHiRAEY0~4 9KA > FELY
<26 C-: 16k Y0~4. 97R1 > MELY D:ilfiik Y5~9.97R41 > MELY EEN 1L & Y107RA > MMELY
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